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Chapter 1

Introduction

1.1 Quantum field theory

In quantum field theory the theories of quantum mechanics and special relativity are united. In
quantum mechanics a special role is played by Planck’s constant h, usually given divided by 2,

h = h/2r = 1.054 57168 (18) x 1073* J s
= 6.582 119 15 (56) x 10~** MeV s. (1.1)

In the limit that the action S is much larger than h, S > h, quantum effects do not play a role
anymore and one is in the classical domain. In special relativity a special role is played by the velocity
of light ¢,

c = 299792458 m s~ (1.2)

In the limit that v < ¢ one reaches the non-relativistic domain.

In the framework of classical mechanics as well as quantum mechanics the position of a particle
is a well-defined concept and the position coordinates can be used as dynamical variables in the
description of the particles and their interactions. In quantum mechanics, the position can in principle
be determined at any time with any accuracy, being eigenvalues of the position operators. One can
talk about states |r) and the wave function ¥(r) = (r|[¢)). In this coordinate representation the
position operators r, simply acts as

rop (1) = (7). (1.3)

The uncertainty principle tells us that in this representation the momenta cannot be fully determined.
Corresponding position and momentum operators do not commute. They satisfy the well-known
(canonical) operator commutation relations

[Ti,pj] = ih&ij, (14)

where d;; is the Kronecker ¢ function. Indeed, the action of the momentum operator in the coordinate
representation is not as simple as the position operator. It is given by

Popt(r) = —ihVi(r). (1.5)

One can also choose a representation in which the momenta of the particles are the dynamical variables.
The corresponding states are |p) and the wave functions ¢(p) = (p||¢)) are the Fourier transforms of
the coordinate space wave functions,

i) = [ ow(~gper)uir), (16)
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and 5
d°p i ~

r) = ——= exp|=-p'T . 1.7
o) = [ ets e (5oor) o) (1.7
The existence of a limiting velocity, however, leads to new fundamental limitations on the possible
measurements of physical quantities. Let us consider the measurement of the position of a particle.
This position cannot be measured with infinite precision. Any device that wants to locate the position
of say a particle within an interval Az will contain momentum components p o« fi/Az. Therefore if
we want Az < fi/mc (where m is the rest mass of the particle), momenta of the order p o mec and
energies of the order E oc mc? are involved. It is then possible to create a particle - antiparticle pair

and it is no longer clear of which particle we are measuring the position. As a result, we find that the
original particle cannot be located better than within a distance i/me, its Compton wavelength,

Az > i (1.8)
me
For a moving particle mc? — E (or by considering the Lorentz contraction of length) one has Az >
fic/ E. If the particle momentum becomes relativistic, one has E ~ pc and Az > hi/p, which says that
a particle cannot be located better than its de Broglie wavelength.
Thus the coordinates of a particle cannot act as dynamical variables (since these must have a precise
meaning).

Some consequences are that only in cases where we restrict ourselves to distances > 7/mc, the
concept of a wave function becomes a meaningful (albeit approximate) concept. For a massless particle
one gets Az > hi/p = \/2x, i.e. the coordinates of a photon only become meaningful in cases where
the typical dimensions are much larger than the wavelength.

For the momentum or energy of a particle we know that in a finite time At, the energy uncertainty
is given by AE > h/At. This implies that the momenta of particles can only be measured exactly
when one has an infinite time available. For a particle in interaction, the momentum changes with time
and a measurement over a long time interval is meaningless. The only case in which the momentum
of a particle can be measured exactly is when the particle is free and stable against decay. In this case
the momentum is conserved and one can let At become infinitely large.

The result thus is that the only observable quantities that can serve as dynamical coordinates are
the momenta (and further the internal degrees of freedom like polarizations, ...) of free particles.
These are the particles in the initial and final state of a scattering process. The theory will not give
an observable meaning to the time dependence of interaction processes. The description of such a
process as occurring in the course of time is just as unreal as classical paths are in non-relativistic
quantum mechanics.

The main problem in Quantum Field Theory is to determine the probability amplitudes be-
tween well-defined initial and final states of a system of free particles. The set of such amplitudes
(p}, ph; out|py,py; in) = (P}, ph; in|S|py, py; in) determines the scattering matriz or S-matrix.

Another point that needs to be emphasized is the meaning of particle in the above context. Actu-
ally, the better name might be ’degree of freedom’. If the energy is low enough to avoid excitation of
internal degrees of freedom, an atom is a perfect example of a particle. In fact, it is the behavior under
Poincaré transformations or in the limit v < ¢ Gallilei transformations that determine the description
of a particle state, in particular the free particle state.

1.2 Units

It is important to choose an appropriate set of units when one considers a specific problem, because
physical sizes and magnitudes only acquire a meaning when they are considered in relation to each
other. This is true specifically for the domain of atomic, nuclear and high energy physics, where
the typical numbers are difficult to conceive on a macroscopic scale. They are governed by a few
fundamental units and constants, which have been discussed in the previous section, namely / and
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c. By making use of these fundamental constants, we can work with less units. For instance, the
quantity c is used to define the meter. We could as well have set ¢ = 1. This would mean that one of
the two units, meter or second, is eliminated, e.g. given a length [ the quantity //c has the dimension
of time and one finds 1 m = 0.33 x 1078 s or eliminating the second one would use that, given a time
t, the quantity ct has dimension of length and hence 1 s = 3 x 108 m.

Table 1.1: Physical quantities and their canonical dimensions d, determining units (energy)?.

quantity quantity with dimension canonical
dimension energy? dimension d

time ¢ t/h (energy)~! -1
length ! 1/(he) (energy)~! -1
energy F E (energy)* 1
momentum p pe (energy)! 1
angular momentum ¢ l/h (energy)? 0
mass m mc? (energy)* 1
area A A/(he)? (energy) 2 -2
force F F he (energy)? 2
charge (squared) e? a=e?/4megic | (energy)® 0
Newton’s constant G n Gn/(hcd) (energy) 2 -2
velocity v v/e (energy)? 0

In field theory, it turns out to be convenient to work with units such that & and ¢ are set to one.
All length, time and energy or mass units then can be expressed in one unit and powers thereof, for
which one can use energy (see table 1.1). The elementary unit that is most relevant depends on the
domain of applications, e.g. the eV for atomic physics, the MeV or GeV for nuclear physics and the
GeV or TeV for high energy physics. To convert to other units of length or time we use appropriate
combinations of & and ¢, e.g. for lengths

hic = 0.197 326 968 (17) GeV fm (1.9)

or for order of magnitude estimates fic & 0.2 GeV fm = 200 eV nm, implying (when % = ¢ = 1) that
1fm = 107" m ~ 5 GeV~!. For areas, e.g. cross sections, one needs

h%c® = 0.389 379 323 (67) GeV? mbarn (1.10)
(1 barn = 1072® m? = 10% fm?). For times one needs
h = 6.582 119 15 (56) x 1072 MeV s, (1.11)

implying (when A = ¢ = 1) that 1 s &~ 1.5 x 10** GeV~!. Depending on the specific situation, of
course masses come in that one needs to know or look up, e.g. those of the electron or proton,

me = 9.1093826(16) x 103! kg = 0.510998 918 (44) MeV /c”, (1.12)
m, = 1.67262171(29) x 10727 kg = 0.938 272029 (80) GeV /c”. (1.13)

Furthermore one encounters the strength of the various interactions. In some cases like the electro-
magnetic and strong interactions, these can be written as dimensionless quantities, e.g. for electro-
magnetism the fine structure constant

62

= = 1/137.035999 11 (46). 1.14
= freohe Y (46) (1.14)
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For weak interactions and gravity one has quantities with a dimension, e.g. for gravity Newton’s
constant,

G
h—ﬁ =6.7087(10) x 1073° GeV 2. (1.15)

c
By putting this quantity equal to 1, one can also eliminate the last dimension. All masses, lengths
and energies are compared with the Planck mass or length (see exercises). Having many particles,
the concept of temperature becomes relevant. A relation with energy is established via the average

energy of a particle being of the order of k7T, with the Boltzmann constant given by
k =1.3806505(24) x 10723 J/K = 8.617343(15) x 107° eV /K. (1.16)

Quantities that do not contain & or ¢ are classical quantities, e.g. the mass of the electron m..
Quantities that contain only & are expected to play a role in non-relativistic quantum mechanics,
e.g. the Bohr radius, as = 4W€0h2/me€2 or the Bohr magneton pu. = efi/2m.. Quantities that only
contain ¢ occur in classical relativity, e.g. the electron rest energy m.c? and the classical electron
radius 7. = e?/4meg mec?. Quantities that contain both A and ¢ play a role in relativistic quantum
mechanics, e.g. the electron Compton wavelength X, = fi/m.c. It remains useful, however, to use
and ¢ to simplify the calculation of quantities.

1.3 Conventions for vectors and tensors

We start with vectors in Euclidean 3-space E(3). A vector x can be expanded with respect to a basis
é (i=1,2,30ri=x,y, 7),

3
ZB:Z,%Z' éi :l‘iéi, (1.17)
i=1

to get the three components of a vector, ;. When a repeated index appears, such as on the right
hand side of this equation, summation over this index is assumed (Einstein summation convention).
Choosing an orthonormal basis, the metric in E(3) is given by &; - é; = d;;, where the Kronecker delta
is given by

v 0 ifi#£j, - ‘
The inner product of two vectors is given by

The inner product of a vector with itself gives its length squared. A vector can be rotated, ' = Rx
or z; = R;jz; leading to a new vector with different components. Actually, rotations are those real,
linear transformations that do not change the length of a vector. Tensors of rank n are objects with n
components that transform according to 7}, ; = Ry j, ... R, j, Tj,.. j,. A vector is a tensor of rank
1. The inner product of two vectors is a rank 0 tensor or scalar. The Kronecker delta is a constant
rank-2 tensor. It is an invariant tensor that does not change under rotations. The only other invariant
constant tensor in E(3) is the Levi-Civita tensor

1 if ijk is an even permutation of 123
€ijk = —1 ifijk is an odd permutation of 123 (1.20)
0 otherwise.
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that can be used in the cross product of two vectors z = x x y, in which case z; = €;;; x;y5. Useful
relations are

dit Oim  Oin
€ijk €tmn = | 0j¢ Ojm  Ojn |, (1.21)
Okt Okm  Okn
€ijk €imn = Ojm Okn — Ojn Okm, (1.22)
€ijk €ijt = 20k (1.23)

We note that for Euclidean spaces (with a positive definite metric) vectors and tensors there is only
one type of indices. No difference is made between upper or lower. So we could have used all upper
indices in the above equations. When 3-dimensional space is considered as part of Minkowski space,
however, we will use upper indices for the three-vectors.

In special relativity we start with a four-dimensional real vector space E(1,3) with basis 7, (1 =
0,1,2,3). Vectors are denoted & = x#n,. The length (squared) of a vector is obtained from the scalar
product,

2 = x-x = M2V, h, = 227 gu. (1.24)
The quantity g,, = 7, - 7, is the metric tensor, given by goo = —g11 = —g22 = —g33 = 1 (the
other components are zero). For four-vectors in Minkowski space we will use the notation with upper
indices and write z = (¢,z) = (2°, 2%, 2%, 2%), where the coordinate ¢t = 20 is referred to as the time
component, z’ are the three space components. Because of the different signs occurring in g,,,, it is
convenient to distinguish lower indices from upper indices. The lower indices are constructed in the

following way, x, = g,x”, and are given by (xo,x1,x2,x3) = (t, —x). One has

? = atz, = t* - x> (1.25)

The scalar product of two different vectors  and y is denoted
vy = 2"y g, = o'y, = vyt = 2% —x-y. (1.26)

Within Minkowski space the real, linear transformations that do not change the length of a four-vector
are called the Lorentz transformations. These transformations do change the components of a vector,
denoted as V'# = A* V¥ The (invariant) lengths often have special names, such as eigentime 7 for the
position vector 72 = 2% = t? — 22. The invariant distance between two points x and y in Minkowski
space is determined from the length ds* = (x — y)*. The real, linear transformations that leave the
length of a vector invariant are called (homogeneous) Lorentz transformations. The transformations
that leave invariant the distance ds? = dt®> — (dz? + dy? 4 dz?) between two points are called inhomo-
geneous Lorentz transformations or Poincaré transformations. The Poincaré transformations include
Lorentz transformations and translations.

Unlike in Euclidean space, the invariant length or distance (squared) is not positive definite. One
can distinguish:

e ds? > 0 (timelike intervals); in this case an inertial system exists in which the two points are at
the same space point and in that frame ds? just represents the time difference ds? = dt?;

e ds? < 0 (spacelike intervals); in this case an inertial system exists in which the two points are
at the same time and ds? just represents minus the spatial distance squred ds? = —dz?;

e ds?> = 0 (lightlike or null intervals); the points lie on the lightcone and they can be connected
by a light signal.

Many other four vectors and tensors transforming like 7#1-#n = Akt .. A#n T¥i-¥n can be con-
structed. In Minkowski space, one must distinguish tensors with upper or lower indices and one can
have mixed tensors. Relations relating tensor expressions, independent of a coordinate system, are
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called covariant. Examples are the scalar products above but also relations like p* = m dz# /d7 for the
momentum four vector. Note that in this equation one has on left- and righthandside a four vector
because T is a scalar quantity! The equation with ¢t = 20 instead of 7 simply would not make sense!
The momentum four vector, explicitly written as (p°,p) = (E,p), is timelike with invariant length
(squared) p? = p-p = p"p, = E* — p* = m?, where m is called the mass of the system.

The derivative 9, is defined 9, = 9/0z" and we have a four vector 0 with components

0 0 0 0 0]
00,01,02,03) = | —=,—,—,=— | ==,V ). 1.27
( 0,1, U2, 3) <ataaxvayaaz> (ata > ( )
It is easy to convince oneself of the nature of the indices in the above equation, because one has
Opx” =g,. (1.28)

Note that g;, with one upper and lower index, constructed via the metric tensor itself, g;; = g,,9” and
is in essence a 'Kronecker delta’, g) = g1 = g3 = g3 = 1. The length squared of 9 is the d’Alembertian

operator, defined by
0? 9
O = 0"9, = i v (1.29)
The value of the antisymmetric tensor €#*?% is determined in the same way as for €%, starting
from

1% =1, (1.30)

(Note that there are different conventions around and sometimes the opposite sign is used). It is an
invariant tensor, not affected by Lorentz transformations. The product of two epsilon tensors is given
by

AN v
G'ul/pa-ﬁ'u veao - - g ’ g ’ ’ ’ 5 (131)

guy gl/p gllo'
etvpo vipo — gPV, gPP/ gPU, s (132)
g g7 g7
e“”p“ew’)/”/ = -2 (gpp, g7 — g gdp/) ; (1.33)
e,ul/paeuyg _ 6900’, (1 34
e Chvpr = —94 1.35

The first identity, for instance, is easily proven for €?122¢0123 from which the general case can be
obtained by making permutations of indices on the lefthandside and permutations of rows or columns
on the righthandside. Each of these permutations leads to a minus sign, but more important has the
same effect on lefthandside and righthandside. For the contraction of a vector with the antisymmetric
tensor one often uses the shorthand notation

APOP = evP7 A, B, C,D,. (1.36)

Exercises

Exercise 1.1

a) In the the Hydrogen atom (quantum system) the scale is set by the Bohr radius, a. =
&
degh? /mee?. Relate this quantity to the electron Compton wavelength X, via the dimensionless
fine structure constant a.
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(b) Relate the classical radius of the electron (a relativistic concept), r. = e2/4weg mec? to the
Compton wavelength.

(c) Calculate the Compton wavelength of the electron and the quantities under (a) and (b) using
the value of hc, a and mec? = 0.511 MeV. This demonstrates how a careful use of units can save
a lot of work. One does not need to know h, ¢, €y, me, e, but only appropriate combinations.

(d) Use the value of the gravitational constant G /hic® = 6.71 x 10732 GeV~? to construct a mass
My (Planck mass). Compare it with the proton mass and use Eq. 1.13 to give its actual value
in kg. Also construct and calculate the Planck length Ly, which is the Compton wavelength for
the Planck mass.

(e) Note that h/m = Xc and use this to calculate in a simple way (avoiding putting in the value of
e) the Bohr magneton p. = efi/2m, and the nuclear magneton yu, = efi/2m, in electronvolt per
Tesla (eV/T).

[Note: what is the MKS unit for V/T7]

Exercise 1.2

Prove the identity A x (B x C) = (A-C) B - (A - B) C using the properties of the tensor ¢'/* given
in section 1.3.

Exercise 1.3
Prove the following relation

P gaﬁ — avpT guﬁ 4 ehopo guﬁ 4 ghvao gpﬁ 4 ehvpe gaﬁ'

by a simple few-line reasoning [For instance: If {u, v, p,o} is a permutation of {0, 1,2, 3} the index «
can only be equal to one of the indices in e#*?7 .. ].

Exercise 1.4

Lightcone coordinates for a four vector a (which we will denote with square brackets as [a~,a™, a', a?]
or [a™,a™,ar]) are defined through

at = (a° +a®)/V2.

(a) Express the scalar product a - b in lightcone coordinates and deduce from this the values of g4,
g——, g+— and g_,. How are ay and a_ related to a™ and a™.

(b) The coordinates (a°, al, a?, a®) are the expansion coefficients using the basis vectors fg, i1, fig, f3;
These are

711 = (0,1,0,0)
fig = (0,0, 1,0)
fig = (1,0,0,0)
fi3 = (0,0,0,1)

Also for the coordinates [a~,a™,al,a?] we can find basis vectors 7_, iy, fiy, fz. Note that
a- Mg = aq and derive from that the components n# of the four vector n,. Use that to give the

components of the basis vectors n4 and n_.



Chapter 2

Relativistic wave equations

2.1 The Klein-Gordon equation

In this chapter, we just want to play a bit with covariant equations and study their behavior under
Lorentz transformations. The Schrddinger equation in quantum mechanics is the operator equation
corresponding to the non-relativistic expression for the energy,

2
E = 2 (2.1)
2M

under the substitution (in coordinate representation)

0 .
E — Eop = Za’ p— pop = —iV. (22>
Acting on the wave function one finds for a free particle,
9 v?
) — = —— . 2.
IS t) = () (23)

Equations 2.1 and 2.3 are not covariant. But the replacement 2.2, written as p, — 10, is covariant
(the same in every frame of reference). Thus a covariant equation can be obtained by starting with
the (covariant) equation for the invariant length of the four vector (E, p),

P = p'py = E*—p* = M7 (2.4)
where M is the particle mass. Substitution of operators gives the Klein-Gordon (KG) equation for a
real or complex function ¢,
62
(@48 600 = (g = V74 32 ) 6(r,0) =0, (25)
Although it is straightforward to find the solutions of this equation, namely plane waves characterized

by a wave number k,
dr(r,t) = exp(—i k’t +ik - r), (2.6)

with (k°)2 = k? + M?, the interpretation of this equation as a single-particle equation in which ¢ is a
complex wave function poses problems because the energy spectrum is not bounded from below and
the probability is not positive definite.

The energy spectrum is not bounded from below: considering the above stationary plane wave solutions,

one obtains
K = £VE*+ M2 = +E,, (2.7)
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i.e. there are solutions with negative energy.

Probability is not positive: in quantum mechanics one has the probability and probability current

p o= vy (2.8)
i i -
. _ _ * _ * = _ * . 2
j S (VY = (VU )) = 5o Vo (2.9)
They satisfy the continuity equation,
dp .
- _V. 2.1
5= VI (2.10)

which follows directly from the Schrodinger equation. This continuity equation can be written down
covariantly using the components (p, j) of the four-current j,

8" = 0. (2.11)

Therefore, relativistically the density is not a scalar quantity, but rather the zero component of a four
vector. The appropriate current corresponding to the KG equation (see Excercise 2.2) is

=it G o (p,j><i¢*5é¢,i¢*5¢). (2.12)

It is easy to see that this current is conserved if ¢ (and ¢*) satisty the KG equation. The KG equation,
however, is a second order equation and ¢ and d¢/dt can be fixed arbitrarily at a given time. This
leads to the existence of negative densities.

As we will see later both problems are related and have to do with the existence of particles and
antiparticles, for which we need the interpretation of ¢ itself as an operator, rather than as a wave
function. This operator has all possible solutions in it multiplied with creation (and annihilation)
operators. At that point the dependence on position r and time ¢ is just a dependence on num-
bers/parameters on which the operator depends, just as the dependence on time was in ordinary
quantum mechanics. Then, there are no longer fundamental objections to mix up space and time,
which is what Lorentz transformations do. And, it is simply a matter of being careful to find a
consistent (covariant) theory.

2.2 Mode expansion of solutions of the KG equation

Before quantizing fields, having the KG equation as a space-time symmetric (classical) equation, we
want the most general solution. For this we note that an arbitrary solution for the field ¢ can always
be written as a superposition of plane waves,

d*k

b(z) = / G 270 = M%) () (2.13)

with (in principle complex) coefficients q}(k) The integration over k-modes clearly is covariant and
restricted to the ‘mass’-shell (as required by Eq. 2.5). It is possible to rewrite it as an integration over
positive energies only but this gives two terms (use the result of exercise 2.3),

3 ~ . ~
o0) = [ gy (77 Sk + ¢ S B k) (214)

Introducing ¢(Ey, k) = a(k) and ¢(—Ey, —k) = b* (k) one has

3
o0) = [ g (€ alk) + €V (R) = 64 () + - (o) (2.15)
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In Eqs 2.14 and 2.15 one has elimated k° and in both equations k - x = Eyt — k - . The coefficients
a(k) and b*(k) are the amplitudes of the two independent solutions (two, after restricting the energies
to be positive). They are referred to as mode and anti-mode amplitudes (or because of their origin
positive and negative energy modes). The choice of a and b* allows an easier distinction between the
cases that ¢ is real (a = b) or complex (a and b are independent amplitudes).

2.3 Symmetries of the Klein-Gordon equation

We arrived at the Klein-Gordon equation by constructing a covariant operator (9,0* + M 2) acting
on a complex function ¢. Performing some Lorentz transformation x — ' = Ax, one thus must have
that the function ¢ — ¢’ such that

¢'(a') = d(z) or ¢(z)=¢(A x). (2.16)

The consequence of this is discussed in Exercise 2.6
We will explicitly discuss the example of a discrete symmetry, for which we consider space inversion,
i.e. changing the sign of the spatial coordinates, which implies

(@) (2.17)

(a") = (t,2) — (t, —)

Transforming everywhere in the KG equation  — Z one obtains

(5M5“ + M2) #(7) = 0. (2.18)

Since a-b=a-b, it is easy to see that
(8,0" + M?) ¢() = 0, (2.19)

implying that for each solution ¢(z) there exists a corresponding solution with the same energy,
o' (z) = ¢(2) (P for parity). It is easy to show that

3 ~
@) =0 = [ G (T alk) e (R)

271‘)3 2Ek
d3k —ikx ikex g
= /m (6 k a(k) +€ k b (k))
d3k —ik-x ikex px
= (271')3725@ (e a(—k) + €' " b*(—k)), (2.20)
or since one can define
P — dgk —ikxz P ik-xz 3 Px

one has for the mode amplitudes a” (k) = a(—k) and b" (k) = b(—k). This shows how parity trans-
forms k-modes into —k modes.
Another symmetry is found by complex conjugating the KG equation. It is trivial to see that

(0,0" + M?) ¢*(z) = 0, (2.22)

showing that with each solution there is a corresponding charge conjugated solution ¢ (z) = ¢*(x).
In terms of modes one has

3
¢C($) _ ¢*($) _ /(27331/;Ek (efikm b(k)+ezkm a*(k))

— d3k —ik-x C ik-x 3 Cx
= /m (e a®(k) + e F b9 (k) , (2.23)
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i.e. for the mode amplitudes a® (k) = b(k) and b° (k) = a(k). For the real field one has a® (k) = a(k).
This shows how charge conjugation transforms ’particle’ modes into ’antiparticle’ modes and vice
versa.

Exercises

Exercise 2.1

Show that for a conserved current (8,5 = 0) the charge in a finite volume, Qv = [, &*z j°(z),

satisfies
Qv = [ ds-d,
s

and thus for any normalized solution the full ‘charge’, letting V — o0, is conserved, Q=0.

Exercise 2.2

Show that if ¢ and ¢* are solutions of the KG equation, that
=it o
is a conserved current

Note: Ad, B = A9,B — (0,A)B).

Exercise 2.3

Show that! e B
2 a2 0 0 1y —
/ (27007 — MY B() FE. k) / R,

where Ej, = V k% + M2,

Exercise 2.4

F(Eg, k),

write down the 3-dimensional Fourier transform ¢(k,t) = [dPz ¢(x,t) exp(—ik - x) and its time
derivative i9y¢(k, t) for the mode expansion in Eq. 2.15. Use these to show that

a(k) = e Pt 50 d(k,t) = ' B! (i0y + Ex) ¢k, 1),
b(k) = e Bt 0y &% (—k, 1),

Note that a(k) and b(k) are independent of t.

1Use the following property of delta functions

5@ = Y @ — ).

ZEeros Ty |fl($")|
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Exercise 2.5

(a) As an introduction to parts (b) and (c), show that for two fields ¢; (with coefficients a; and b7)
and ¢9 (with coefficients as and b3) one has

3
[ 2 61w onle) ./@ﬁgﬁg<@mmxm+M@%am

+at (k)b (— k) €2FE 4 by (k)as(—k) eziEkt>_

(b) Express now the full charge Qv (exercise 2.1) for a complex scalar field current (exercise 2.2) in
terms of the a(k) and b(k) using the expansion in Eq. 2.15.

After you have found the result, note that replacing a*(k) — af, (k) and a(k) — aop (k) with aqp

and alp being annihilation and creation operators (as known from a harmonic oscillator) and

the same for the coefficients b(k), one sees that @) is expressed as an infinite sum over number
operators a'a (particles) and b'b (anti-particles). This will be the topic of chapter 7.

(¢) Similarly, also using the result in (a), express the quantities
E= /dgz ((809)*(809) + V¢* - Vo + M?¢*¢) ,
P = [ @ @00y @)

in terms of the a(k) and b(k). Note that a#b*} indicates symmetrization, a{#b"} = a*b” +a”bH.
We will encounter these quantities later as energy and momentum.

Exercise 2.6

Write down the mode expansion for the Lorentz transformed scalar field ¢’ (z) and show that it implies
that the Lorentz transformed modes satisfy a'(Ak) = a(k).

Exercise 2.7

To solve the problem with positive and negative energies and get a positive definite density, an attempt
to construct a first order differential equation for the time evolution would be to write,

.0 .
? al/f(rvt) - (77’05 -V + mﬂ) 1/1(7'7t>,
where v is a wave function and the nature of a and (3 are left open for the moment.

(a) Show that relativistic invariance, i.e. making sure that each component of ¢ satisfies the Klein-
Gordon equation (in terms of differential operators 9,0 +m? = 0) requires the anticommutation
relation?

{a', a7} =261, {a',8} =0, and p*=1.

From this one concludes that a and § must be matrix-valued and ¥ must be a multi-component
wave function.

(b) Show that one has current conservation for the current

=9 and j=4¢lay.

2We denote the commutator as [A, B] = AB — BA and the anticommutator as {4, B} = AB + BA.



Chapter 3

Groups and their representations

The simple systems that we want to describe in a relativistically invariant way are free particles
with spin, e.g. electrons. In this section we will investigate the requirements imposed by Poincaré
invariance. In particular, we want to investigate if there exist objects other than just a scalar (real or
complex) field ¢, e.g. two-component fields in analogy to the two-component wave functions used to
include spin in a quantum mechanical description of an electron in the atom.

Since the KG equation expresses just the relativistic relation between energy and momentum, we
also want it to hold for particles with spin. In quantum mechanics spin is described by a vector, i.e.
it has 3 components that we know the behavior of under rotations. In a relativistic theory, however,
the symmetry group describing rotations is embedded in the Lorentz group, and we must study the
representations of the Lorentz group. Particles with spin then will be described by certain spinors.
The KG equation will actually remain valid, in particular each component of these spinors will satisfy
this equation.

Before proceeding with the Lorentz group we will first discuss the rotation group as an example
of a Lie group with and a group we are familiar with in ordinary quantum mechanics.

3.1 The rotation group and SU(2)

The rotation groups SO(3) and SU(2) are examples of Lie groups, that is groups characterized by a
finite number of real parameters, in which the parameter space forms locally a Euclidean space. A
general rotation — we will consider SO(3) as an example — is of the form

V! cosgp sinp 0 Ve
Vy, | = | —sing cosp 0 Vy (3.1)
1% 0 0 1 V.

for a rotation around the z-axis or shorthand V' = R(p,2)V. The parameter-space of SO(3) is a
sphere with radius 7. Any rotation can be uniquely written as R(p,n) where 7 is a unit vector and
© is the rotation angle, 0 < ¢ < m, provided we identify the antipodes, i.e. R(w,n) = R(w,—n).
Locally this parameter-space is 3-dimensional and correspondingly one has three generators. For an
infinitesimal rotation around the z-axis one has

R(6p,2)=1+idp L, (3.2)
with as generator
N 0 —i 0
1 OR
R ) N (3.3)
P09 demo Lo 0 0

13
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' (n,7 (.21
('n’ T[)

T-sphere 211-sphere
(antipodes identified) (surface identified)

Figure 3.1: the parameter spaces of SO(3) (left) and SU(2) (right).

In the same way we can consider rotations around the x- and y-axes that are generated by
0 0 O 0 0 1
L,=10 0 —i |, L, = o 0 0 [, (3.4)
0 ¢+ 0 - 0 0

or (Li)ij = —ie€jk. It is straightforward to check that any (finite) rotation can be obtained from a
combination of infinitesimal rotations, for rotations around z for instance,

Rlp,2) = Jim_ [R (%z)}N (3.5)

Rotations in general do not commute, which reflects itself in the noncommutation of the generators.
They satisfy the commutation relations

[Li, Lj] = i€k L. (3.6)

Summarizing, the rotations in SO(3) can be generated from infinitesimal rotations that can be ex-
pressed in terms of a basis of three generators L., L, and L,. These generators form a three-
dimensional Lie algebra SO(3). With matrix commutation this algebra satisfies the requirements for
a Lie algebra, namely that there exists a bilinear product [,] that satisfies

e Vazye A= [z,y] € A
e [z,2] =0 (thus [z,y] = —[y, z]).
o [z,[y,z]] + [y, [z, 2]] + [2, [z, y]] = 0 (Jacobi identity).

Next, we turn to the group SU(2) of special (det A = 1) unitary (AT = A1) 2 x 2 matrices. These
matrices can be defined as acting on 2-component spinors (x — Ayx) or equivalently as acting on 2 X
2 matrices (B — ABAT). It is straightforward to check that the conditions require

A - { a9+za3 +Z(114.’0J2 ] —ayl+ia-o
+1a1 — as ap — 1 as
1 0 ) 0 1 ) 0 —2 . 1 0
a0[01]+za1[10]+za2[i 0]+za3[0_1] (3.7)

with real a’s and Zfzo(ai)Q = 1. One way of viewing the parameter space, thus is as the surface
of a sphere in 4 Euclidean dimensions. Locally this is a 3-dimensional Euclidean space and SU(2),
therefore, is a 3-dimensional Lie-group. Writing ag = cos(¢/2) and a = 7 sin(¢/2) we have!

A = A(p,n) = 1 cos (%) +i(a-ﬁ)sin(§) = exp (z% a-ﬁ), (3.8)

INote that (o -a)(o-b) = a-b+io-(ax b), and thus (o -7)? = 1.
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where we have used the (for operators new!) definition
A" 1
A _ 2
e fE n!f1+A+2!A +.... (3.9)

n=0

The parameter-space of SU(2), thus, also can be considered as a filled 3-sphere, now with radius 27
and with all points at the surface identified (see figure). The infinitesimal generators of SU(2) are
obtained by considering infinitesimal transformations, i.e. for fixed n,

Alp,n)=1+ipd-n, (3.10)
with 1 9A(o.#
Joa= e o (3.11)
1 dp om0 2

Thus 0,,/2, 0,/2 and 0,/2 form the basis of the Lie-algebra SU(2). They satisfy

| = e 2 (3.12)

[O’i 0j
2

272
One, thus, immediately sees that the Lie algebras are identical, SU(2) ~ SO(3), i.e. one has a Lie

algebra isomorphism that is linear and preserves the bilinear product.
There exists a corresponding mapping of the groups given by

e SU(2) — SO(3)
Alp,n) —  R(p,n) 0<ep<m
— R(27m—p,n) T << 2.
The relation
A(e-a)A™' = o-Raa (3.13)

(valid for any vector a) can be used to establish the homomorphism (Check that it satisfies the
requirements of a homomorphism, in particular that AB — Rap = R4 Rp). Near the identity, the
above mapping corresponds to the trivial mapping of the Lie algebras. In the full parameter space,
however, the SU(2) — SO(3) mapping is a 2 : 1 mapping where both A = +1 are mapped into R = I.

3.2 Representations of symmetry groups

The presence of symmetries simplifies the description of a physical system and is at the heart of physics.
Suppose we have a system described by a Hamiltonian H. The existence of symmetries means that
there are operators g belonging to a symmetry group G that commute with the Hamiltonian,

[, Hl=0 forgedG. (3.14)

For a Lie group, it is sufficient that the generators commute with H, since any finite transformation
can be constructed from the infinitesimal ones, sometimes in more than one way (but this will be
discussed later), i.e.

g, H] =0 forgegG. (3.15)

The next issue is to find the appropriate symmetry operators in the Hilbert space. For instance in a
function space translations,

Fr) = o(r+a)=6(r) +a Vot 3 (@ V7ot
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are generated by the derivative acting on the functions, more precise ¢(r + a) = U(a)d(r) where
U(a) = exp (+iap,,) ; (3.16)
with p,, = —iV. Similarly one has the time translation operator ¢(t + 7) = U(7)¢(1),
U(r) =exp(—iT H), (3.17)
with H = 19/0t and the rotation operator, ¢(r,0, o + a) = U(a, 2)d(r, 0, @),
U(a, 2) = exp (+ial,), (3.18)

with £, = —id/0p = —i(x0/dy — yd/dx) or Lo, = Top X P,,- The above set of operators H,
Dop and £y, work in Hilbert space and their commutators indeed follow the required commutation
relations as symmetry operators. In particular the quantum operators £,, obey in quantum mechanics
commutation relations [¢;, {;] = i €;;1 {1 that are identical to those in Eq. 3.6. It may seem trivial, but
it is at the heart of being able to construct a suitable Hilbert space, e.g. for the function space, just
starting off with the (basic) canonical commutation relations [r;, p;] = i d;;. The latter is sufficient to
get the commutation relations of the (quantum) rotation operators.

Note that the same requirements would apply to classical mechanics. Somehow the nontrivial
structure of rotations should show up and it, indeed, does in the nontrivial behavior of Poisson
brackets of quantities A(z,p) and B(z,p) (we will come back to this also in Chapter 7). Indeed, the
Poisson bracket operation satisfies all properties of a Lie algebra.

In many cases one can simply construct a suitable Hilbert space or part of it by considering the
representations ® of a group G. These are mappings of G into a finite dimensional vector space,
preserving the group structure. The finite dimensional vector space just represents new degrees of
freedom. In order to find local representations ® of a Lie-group G, it is sufficient to consider the
representations ® of the Lie-algebra G. These are mappings from G into the same finite dimensional
vector space (its dimension is the dimension of the representation), which preserve the Lie-algebra
structure, i.e. the commutation relations. The most well-known example is spin (or the total angular
momentum of a system) in non-relativistic quantum mechanics as representations of SU(2).

To get explicit representations, one looks among the generators for a maximal commuting set of
operators, for rotations the operator J, and the (quadratic Casimir) operator J 2 Casimir operators
commute with all the generators and the eigenvalue of J? can be used to label the representation
(). Within the (25 + 1)-dimensional representation space V) one can label the eigenstates |j, m)
with eigenvalues of J,. The other generators J, and J, (or Jo = J, £ iJ,) then transform between
the states in V). From the algebra one derives J2|j,m) = j(j + 1)|j,m), J.|j,m) = m|j, m), while

Jilj,m) = \/j(] +1)—=m(m=£1)|j,m=£1) with 2j + 1 being integer and m = j,j — 1,...,—7.
Explicit representations using the basis states |j, m) with m-values running from the heighest to
the lowest, m = j,7 —1,..., —j one has for j = 0:

J, = [0],J+: (0] J_ = (0]

for j =1/2:
(12 o0 (01 (00
JZ_[O 1/2]’J+_[0 0]"]—_[1 0]’
for j = 1:
1 0 0 0 vV2 0 0 0 0
J.=10oo0 o |[,J=]l0 0 vV2],J-=]|+Vv2 0 0],
0 0 —1 0 0 0 0 V2 0
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and for j = 3/2:

3/2 0 0 0 0 V2 0 0 0 0 0 O
s 0o 12 o0 0 .o o V3 0 7 = V2.0 0 0
=1 0o o0 -1/2 0 7o 0o 0 v2 7T 0 V3 0 0
0 0 0 —3/2 0 0 0 0 0 0 V2 0

If rotations leave H invariant, all states in the representation space have the same energy, or equiva-
lently the Hilbert space can be written as a direct product space of spaces V).

For j = 1 another commonly used representation starts with three Cartesian basis states €
related to the previous basis via

1

Ll)=er=———(exs+i€y), [1,0)=en=€;, |l,-1)=e_1= 7

1 .
Wi (€z —i€y).

The spin matrices for that Cartesian basis {€., €y, €.} are

0 0 O 0 0 = 0 —2 0
Je = 0 0 —i |, Jy= 0o 0 0|, J.= 0 0 |.
0 2 O - 0 0 0 0 0

From the (hermitean) representation ®(g) of G, one obtains the unitary representations ®(g) =
exp(i ®(g)) of the full group G. The matrix elements of these unitary representations are known as
D-functions. For an the elements A of SU(2) or R of SO(3) these are commonly parametrized with
Euler angles, Ug(p,0,x) = e~ %7z e710Jy e=ix Iz,

G |Up (@, 0, )13 m) = Dyl (9,0,) = €' di ), (6) ™% (3.19)
Infinitesimally (around the identity) the D-functions for SU(2) and SO(3) are the same, e.g.
d9)(0) % o — 10(T%) (3:20)

By moving through the parameter space the D-functions can be extended to global functions for all
allowed angles. For those global representations, however, the topological structure of the group is
important. If the group is simply connected, that is any closed curve in the parameter space can be
contracted to a point, any point in the parameter space can be reached in a unique way and any
local (infinitesimal) representation can be extended to a global one. This works for SU(2). The
group SO(3), however, is not simply connected. There exist two different types of paths, contractable
and paths that run from a point at the surface to its antipode. For an element in the group G
the corresponding point in the parameter space can be reached in two ways. For a decent (well-
defined) global representation, however, the extension from a local one must be unique. For SO(3),
the possibility thus exist that some extensions will not be well-defined representations. This turns out
to be the case for all half-integer representations of the Lie algebra. Of all groups of which the Lie
algebras are homeomorphic, the simply connected group is called the (universal) covering group, i.e.
SU(2) is the covering group of SO(3).

Given a representation, one can look at the conjugate representation. Consider the j = 1/2 repre-
sentation of SU(2). If a transformation U acts on Y, the conjugate transformation U* acts on x*. The
jump U — U* implies for the generators /2 — —o* /2. For SU(2), however, the conjugate represen-
tation is not a new one. Because there exists a matrix e such that —o* = eoe™! one immediately
sees that appropriate linear combinations of conjugate states, to be precise the states ex transform
via —o*. Explicitly, if x — o, then ex — eox = ege lex = —o*ex. Therefore the representation
and conjugate representation are equivalent in this case (see Excercise 3.3).

*
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3.3 The Lorentz group

In the previous section spin has been introduced as a representation of the rotation group SU(2)
without worrying much about the rest of the symmetries of the world. We considered the generators
and looked for representations in finite dimensional spaces, e.g. o /2 in a two-dimensional (spin 1/2)
case. In this section we consider the Poincaré group, consisting of the Lorentz group and translations.
To derive some of the properties of the Lorentz group, it is convenient to use a vector notation for the
points in Minkowski space. Writing x as a column vector and the metric tensor in matrix form,

goo go1 Go2 Go3 1 0 0 0
gio 911 912 913 0 -1 0 0
G = = , 3.21
g20 921 922 923 0O 0 -1 0 ( )
g30 931 932 ¢33 0 0 0 -1
the scalar product can be written as
2 =2TGx (3.22)

(Note that 27 is a row vector).
Denoted in terms of column vectors and 4-dimensional matrices one writes for the poincaré trans-
formations ' = Az + a, explicitly

" = (A" 2 + o or 't = A" ¥ + at. (3.23)

The proper tensor structure of the matrix element (A)*” is a tensor with one upper and one lower
index. Invariance of the length of a vector requires for the Lorentz transformations

2? = gua'ta’” = gu A 2 N 27 = 2* = gppafa” (3.24)

or
A 9Ny = Gpo, (3.25)

which as a matrix equation with (A)*” = A, and (G)*” = g, gives
(AT)P(GY™ (M) = (G)*". (3.26)
Thus one has the (pseudo-orthogonality) relation
ATGA=G = GATG=A"" & AGAT =qG. (3.27)
From this property, it is easy to derive some properties of the matrices A:

(1) det(A) = +1.
proof: det(ATGA) = det(G) — (det A)? = 1.
(det A = +1 is called proper, det A = —1 is called improper).
(ii) |A%| > 1.
proof: (ATGA)? = (G)% =1 — Afgu Ay =1— (A%)? =3, (A%)? =1
Using (i) and (ii) the Lorentz transformations can be divided into 4 classes (with disconnected
parameter spaces)

det A A9,
LL +1 > 1 | proper orthochrone
Li +1 < -1 | proper non-orthochrone
Lt -1 > 1 | improper orthochrone
Lt -1 < -1 | improper non-orthochrone
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(iii) Z?:l(Aé)Q = Z?:l(AzQ)2'
proof: use ATGA = G and AGAT = G.

Note that Lorentz transformations generated from the identity must belong to LE_, since I € LI_ and

det A and A change continuously along a path from the identity. In LL, one distinguishes rotations
and boosts. Rotations around the z-axis are given by Ar(p, 2) = exp(i ¢ J?), infinitesimally given by
Ar(p,2) = I +ipJ3. Thus

v 1 0 0 0 Vo 0 0 0 O
VIl | 0 cose sing 0 Vi 3 | 00 —i 0
VZ | 7| 0 —sinp cosp 0 V2 — ST = 0 ¢« 0 O (3.28)
vy 0 0 0 1 V3 0 0 0 O

Boosts along the z-direction are given by Ap(n, 2) = exp(—inK?), infinitesimally given by Ag(n, 2) ~
I —inK3. Thus

Vo coshn 0 0 sinhyp Vo 0 0 0 4
vl ol o 10 o0 v s o oo o0
vy |~ 0O 01 0 & — K=loo00o0 (3.29)
%64 sinhn 0 0 coshpy V3 i 00 0

The parameter 7 runs from —oo < 7 < oco. Note that the velocity 6 = v = v/c and the Lorentz
contraction factor v = (1 — $2)~1/2 corresponding to the boost are related to 1 as v = coshn,
By = sinhn. Using these explicit transformations, we have found the generators of rotations, J =
(J1,J%,J3), and those of the boosts, K = (K*!, K2, K3), which satisfy the commutation relations
(check!)

[JE, J9] =i ek gk,
[J!, K9] =i €% Kk,
(K, K7) = —ielk gk,

The first two sets of commutation relations exhibit the rotational behavior of J and K as vectors
in E(3) under rotations. From the commutation relations one sees that the boosts (pure Lorentz
transformations) do not form a group, since the generators K do not form a closed algebra. The
commutator of two boosts in different directions (e.g. the difference of first performing a boost in the
y-direction and thereafter in the x-direction and the boosts in reversed order) contains a rotation (in
the example around the z-axis). This is the origin of the Thomas precession.

Returning to the global group, it is easy to find the following typical examples from each of the
four classes,

+1 0 0 0

7 - 8 +0 1 fl 8 € L (identity) (3.30)
0 0 0 +1
-1 0 0 0

I, = 8 —Bl —El 8 cLt (time inversion) (3.31)
0 0 0 +1
+1 0 0 0

I, = 8 _01 _01 8 € L' (space inversion) (3.32)
0 0 0 -1
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-1 0 0 0
o -1 0 o0 . o
LI, = 0 0 -1 o0 € L (space-time inversion) (3.33)
0 0 0o -1

These four transformations form the Vierer group (group of Klein). Multiplying the proper or-
thochrone transformations with one of them gives all Lorentz transformations.

Summarizing, the Lorentz transformations form a (Lie) group (AjA2 and A~! are again Lorentz
transformations. There are six generators. Of the four parts only LL forms a group. This is a
normal subgroup and the factor group is the Vierer group. The extension to the Poincaré group is
straightforward. Also this group can be divided into four parts, Pl etc.

3.4 The generators of the Poincaré group

The transformations belonging to PJTr are denoted as (A, a), infinitesimally approximated by (I +w, €),
explicitly reading
P = (MY + o (D + (w)) z¥ + e (3.34)

A* z¥ + at = (g", + w!) x¥ + €.
The condition ATGA = G yields
(gp,u + UJPH) Gpo (gUV + way) = g — Wop + Wy = 0, (335)

thus (w)¥ = —(w)7* and (W) = (w)™. We therefore find (again) that there are six generators for the
Lorentz group, three of which only involve spatial coordinates (rotations) and three others involving
time components (boosts).

We now want to find a covariant form of the six generators of the Lorentz transformations, which
are obtained by writing the infinitesimal parameters (w)*” in terms of six antisymmetric matrices
(MeB)r One can easily convince oneself that

() =, =~ g (MO, (3.36)
(MPy =i (g°g°, — g%,g"") (3.37)
The;ﬂgebra of the generators of the Lorentz transformations can be obtained by an explicit calcula-
o (MY M) = —i ("M — g*PMPT) — i ("M — g7 M) (3.8)

Explicitly, we have for the (infinitesimal) rotations (around z-axis)

Ap=T+iQ> =T —iw M2, (3.39)
with ¢ = —2e7*wi* and J' = Le9FMI* (e.g. J? = M'2) and for the (infinitesimal) boosts (along
z-axis),

Ap=T+in® K3 =1 —iwsy M, (3.40)

with n* = W and K* = M™ (e.g. K3 = M3Y). Thus the two vector operators J and K form under
Lorentz transformations an antisymmetric tensor M*”.

In order to find the commutation relations including the translation generators, we continue using
covariance arguments. We will just require Poincaré invariance for the generators themselves. The

2These commutation relations are the same as those for the ’quantummechanics’ operators i(zHOY — zVOH)
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infinitesimal form of any representation of the Poincaré group (thus including the translations) is of
the form

Ul +w,e) =1— %wagMO‘BJrieaPa. (3.41)

At this point, the generators M®? no longer exclusively act in Minkowski space. The generators of the
translations are the (momentum) operators P*. The requirement that P* transforms as a four-vector
(for which we know the explicit behavior from the defining four-dimensional representation), leads to

U(A,a)P*UT(A,a) = (A%, PY or U'(A,a)P*U(A,a) = (A1 P, (3.42)

(to decide on where the inverse is, check that U;Us corresponds with A1As). Infinitesimally,
(1+ie, P — %waﬁMaﬁ)Pm —iesPd + %wpaMW) = P"+wh PV, (3.43)

giving the following commutation relations by equating the coefficients of ¢, and w,,,,

[P, P'] = 0, (3.44)
[MM PP = —i(ghPP" — g"PP"). (3.45)

Note that the commutation relations among the generators M*” in Eq. 3.38 could have been obtained
in the same way. They just state that M*" transforms as a tensor with two Lorentz indices. Explicitly,
writing the generator P = (H/c, P) in terms of the Hamiltonian and the three-momentum operators,
the tensor M*” in terms of boosts cK' = M and rotations J' = 1 ¢* M one obtains

[P', P = [P',H] = [J', H] = 0,
[(J0, 7 =ik gk [J Pi) =il Pk [J K9] = ieIF K",
(K H]=iP', [K'K|=—ic™"J"e? K", P =i6"H/c. (3.46)

We have here reinstated c, because one then sees that by letting ¢ — oo the commutation relations of
the Galilei group, known from non-relativistic quantum mechanics are obtained.

3.5 Representations of the Poincaré group

In order to label the states in an irreducible representation we construct a maximal set of commuting
operators. These define states with specified quantum numbers that are eigenvalues of these genera-
tors. For instance, the generators J2 and J? in the case of the rotation group. Taking any one of the
states in an irreducible representation, other states in that representation are obtained by the action
of operators outside the maximal commuting set. For instance, the generators J1 in the case of the
rotation group.

Of the generators of the Poincaré group we choose first of all the generators P*, that commute
among themselves, as part of the set. The eigenvalues of these will be the four-momentum p* of the
state,

Plp,...)=p"lp,...), (3.47)

where p# is a set of four arbitrary real numbers. To find other generators that commute with P* we
look for Lorentz transformations that leave the four vector p* invariant. These form a group called
the little group associated with that four vector.

Afp” = p'+uwhp” =pt
=wup’ = 0
= Wpy = eullpappsav (348)
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where s is an arbitrary vector of which the length and the component along p? are irrelevant, which
can thus be chosen spacelike. The elements of the little group thus are

UAE) = e (- g
= exp (—%GMVPUM“V])’)SU) (3.49)

and

i v o
U(A(p))|pa . > e€xp (_ieul/pUM# PPS ) |pa . >

= exp(—is,W")|p,...) (3.50)

where the Pauli-Lubanski operators W# are given by

1 1% a
Wy = =5 €pups MY P, (3.51)
The following properties follow from the fact that W* is a four-vector by construction, of which the
components generate the little group of p* or (for the third of the following relations) from explicit
calculation

[Mul/a Wa] = —i (guonV - guaWM) 5 (352)
Wy, P = 0, (3.53)
[W,ua WI/] = Z.e,ul/chVVpPa' (354)

This will enable us to pick a suitable commuting ’spin’ operator. From the algebra of the generators
one finds that
P?=p,P* and W?=W,WH (3.55)

commute with all generators and therefore are invariants under Poincaré transformations. These
operators are the Casimir operators of the algebra and can be used to define the representations of
PJ_, for which we distinguish the following cases

p?=m?>0 p’ >0
p?=0 P’ >0
=0
p>=m?>0 P’ <0
p?=0 P’ <0
p? <0

Only the first two cases correspond to physical states, the third case represents the vacuum, while the
others have no physical significance.

Massive particles: p* = M? > 0, p° > 0.

Given the momentum four vector p* we choose a tetrade consisting of three orthogonal spacelike unit
vectors n;(p), satisfying

gy (P (p) = —dij,
ni(p)pu = 0,
Cuvpop'nining = M e (3.56)
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We can write

W (p) = Z W (p) n(p) (3.57)

(i.e. W'(p) = =W -n;(p)).

Having made a covariant decomposition, it is sufficient to choose a particular frame to investigate
the coefficients in Eq. 3.57 The best insight in the meaning of the operators W* is to sit in the rest
frame of the particle and put P* = (M, 0). In that case the vectors n;(p) are just the space directions
and W = (0, M J) with components W = (M /2)e"/* M7*. The commutation relations

(W (p), W (p)] = i M 7*W*(p), (3.58)
show that W /M can be interpreted as the intrinsic spin.

More generally (fully covariantly) one can proceed by defining S*(p) = W*(p)/M and obtain

nt Y

15'0), 8] = "B P e = it ), (559

i.e. the S%(p) form the generators of an SU(2) subgroup that belongs to the maximal set of
commuting operators. Noting that

> (Si(p))2 - —W“ an R (p (3.60)

and using the completeness relation

o v
St ) = - (4 - 52 ) (3.61)
one sees that )
i) 2 w
> (S (p)) =0 (3.62)
Thus W2 has the eigenvalues —M? s(s + 1) with s = 0,1, 1,.... Together with the four momentum
states thus can be labeled as
|M, s3p,ms), (3.63)
where E = /p? + M? and my is the z-component of the spin —s < my < +s (in steps of one).

The explicit construction of the wave function can be done using the D-functions (analogous as
the rotation functions). We will not do this but construct them as solutions of a wave equation to be
discussed explicitly in chapter 4

Massless particles: p?> = M? =0, p° > 0.

In this case a set of four independent vectors is chosen starting with a reference frame in which p* = pj
in the following way:

o (®°,0,0,[p’)),
ni(po) = (0,1,0,0),
na(po) = (0,0,1,0),
s(po) (1,0,0,-1) (3.64)

such that in an arbitrary frame where the four vectors p, ni(p), na(p) and s(p) are obtained by a
Lorentz boost from the reference frame one has the property

€pvpoStninhp® > 0. (3.65)
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The above does actually include the massive case. The vector W#(p) now can be expanded
W (p) = W (p) nf (p) + W*(p) n (p) + Xp) p* + W*(p) s" (), (3.66)

where W - p = 0 implies that W*(p) = —(M?/p - s) A(p). The algebra of W', W?2 and X is derived
from the general commutation relations for [W,,, W, ], and gives

Whp),W?(p)] = iM>Xp), (3.67)
). W'(p)] = iW?3(p), (3.68)
A(p), W2(p)] = —iW'(p). (3.69)

We reproduce the algebra for the massive case with W3(p) = M A(p). But if M = 0 one has a
different algebra (Eq. 3.67 has a vanishing right hand side). This algebra is (for instance) isomorphic
to the one generated by rotations and translations in a 2-dimensional Euclidean plane (see exercises).
The eigenvalues of W' and W? (in that case corresponding to the translations) thus can take any
continuous values, implying continuous values for the spin (actually for W = M S%). We don’t know
of any physical relevance, however, and the eigenvalues of W1 and W? are set to zero (corresponding
to the limit M — 0 for the WH#W,, eigenvalues of M?s(s + 1) — 0). Thus we have

P2, Pt WH(p) = Ap) P¥, W? (3.70)

as a commuting set with zero eigenvalues for P2 and W2. The meaning of A(p) is most easily seen by
comparing for a momentum eigenstate

WO(p) = Ap) Il
with i
WO(p) = *EfoﬁkMijpk =J-p.
Thus

J-p

which is called the helicity. Note that angular momentum does not contribute to helicity as L-p = 0.
A massless particle, thus, is characterized by its momentum and the helicity,

(3.71)

P, ), (3.72)
which can take any integer or half-integer value.

The vacuum: p* = 0.

This state is in physical applications nondegenerate and is denoted by
|0). (3.73)

One has P#|0) = W*#|0) = 0 and the state is invariant under Lorentz transformations, U(A, a)|0) = |0).

Exercises

Exercise 3.1

(a) Derive from the relation that defines the mapping of SU(2) matrices A into SO(3) matrices R4
in Eq. 3.13,

o-Ria = Ao - a)A_1
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(valid for any vector a), where A = exp(i ¢ - 6/2) = exp(ip o - 1/2), the action of R4

b-Rya = b-acosp+n-(bxa)sing+2(b-n)(a-n)sin’(p/2)
= b-a+b-(axn)sing—2(b-a—(b-n)(a-n))sin’(p/2)
for any vectors a and b.

Note: Recall (or derive) that the Pauli matrices o satisfy
;05 = (Sij + ’iéijkdk
and

TI‘(O'Z'O'j) = 251’]’;
Tr(oio50k) = 24 €5k,
Tr(oiajokal) =2 ((51']‘ Ort — Oik 6jl + 6i1 6jk) .

(b) Use the result under (a) to derive the matrix elements of a rotation around the z-axis and show
that it indeed represents the SO(3) rotation R4 = exp(i¢ L,) in which the L, is one of the
(defining) generators of SO(3).

Exercise 3.2

Show that for a unitary operator U = expliaxJi] with real coefficients ay, the operators Ji must
be hermitean. Show that if det(U) = 1, the trace of the operator Ji is zero (Convince yourself that
det(e?) = e™4 by diagonalizing A.

Excercise 3.3

Consider the representation A = exp(i « - J) with the Lie-algebra representations J = /2 describing
spin rotations for a spin 1/2 particle. For a spin 1/2 antiparticle the representation A* is needed.
Writing A* = exp(i o - J©), what are the matrices J¢ in the Lie-algebra representation describing the
spin rotations for two-component ’anti-spinors’. Show that the Lie-algebra representations J and J*¢
are equivalent, i.e. show that one matrix e exist such that J¢ = e J ef.

Comment: this establishes that for spin 1/2 one doesn’t need to talk about ’anti-spin’ for the antipar-
ticle. Both particle and antiparticle have ’spin 1/2’. This is true for SU(2) but it is, for instance,
not true for SU(3) (flavor or color properties of particles know two distinct defining 3-dimensional
representation, triplet and anti-triplet representation, respectively).

Exercise 3.4

(a) Show that if the states in a Hilbert space (unitarily) transform as ¢/ = U ¢ = €'/ ¢ and O is an
operator acting on ¢ (in that Hilbert space), that the transformation for the operators is given
by

O =U0U 1 '=0+i[J,0] +....
(b) Show that this transformation for the position operator in quantum mechanics indeed gives

U(a)rU '(a)=exp(ia-p) rexp(—ia-p)=r+a.

and calculate U(a) pU~1(a)
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Exercise 3.5

In classical mechanics (Gallilean invariance) boosts describe invariance of physical laws when viewed
from a moving frame, i.e. they describe

r — v =r—ut.

(a) In classical mechanics, boost invariance leads to a conserved quantity. For a single free particle
or for the free-moving center of mass system that is the quantity K = mr — tp. Determine the
commutation relations for the corresponding operators K; in quantum mechanics, in particular
those with the momentum operator p; and the Hamiltonian H = mc? + p?/2m.

(b) In quantum mechanics one has the Ehrenfest relation
40) 00,
dt o'

Show that boost invariance for a free-moving particle (the commutation relations under (a) being
valid), indeed assures d{K')/dt = 0, although that in this case is a relation that is found already
from the Ehrenfest relation for O = r;.

L — ([H, O)) + iR

(c) Give the unitary operator for boosts, i.e. the operator U(u) that gives

Uu)rU N u) =r —ut,
Uu)pUt(u)=p—mu.

Exercise 3.6

Consider rotations and translations in a plane (two-dimensional Euclidean space). Use a 3-dimensional
matrix representation or consider the generators of rotations and translations in the space of functions
on the (x-y) plane. From either of these, derive the commutation relations and show that the algebra is
isomorphic to (i.e., there is a one to one mapping) the algebra in Eqs 3.67 to 3.69 of the Pauli-Lubanski
operators for massless particles.

Exercise 3.7 (optional)

One might wonder if it is actually possible to write down a set of operators that generate the Poincaré
transformations, consistent with the (canonical) commutation relations of a quantum theory. This is
possible for a single particle. Do this by showing that the set of operators,

H = /P2 c2 +m2 ¢4,

P = p,
J = rxp+s,
1 p XS
K = — (rH+Hr)—t —_.
2c2 (rH + Hr) —tp+ H + mc?
satisfy the commutation relations of the Poincaré group if the position, momentum and spin operators
satisfy the canonical commutation relations, [ri,p’] = i6” and [s', s7] = i€"* s*; the others vanish,

[ 7] = [p', ] = [, 8] = [p", 7] = 0.
Hint: for the Hamiltonian, show first the operator identity [r, f(p)] = i V, f(p); if you don’t want to

do this in general, you might just check relations involving J or K by taking some (relevant) explicit
components.

Comment: extending this to more particles is a highly non-trivial procedure, but it can be done,
although the presence of an interaction term V (71, rs) inevitably leads to interaction terms in the
boost operators. These do not matter in the non-relativistic limit (¢ — oo), that’s why many-particle
non-relativistic quantum mechanics is ’easy’.



Chapter 4

The Dirac equation

4.1 The Lorentz group and SL(2,C)

Instead of the generators J and K of the homogeneous Lorentz transformations we can use the
(hermitean) combinations

1
A = §(J+1'K), (4.1)
1
B = (J-iK), (4.2)
which satisfy the commutation relations
[AT, A7) = ek Ak (4.3)
[B{, B)] = iéeikBk, (4.4)
(A", Bi] = o. (4.5)

This shows that the Lie algebra of the Lorentz group is identical to that of SU(2) ® SU(2). This tells
us how to find the representations of the group. They will be labeled by two angular momenta corre-
sponding to the A and B groups, respectively, (j,j’). Special cases are the following representations:

Type I: (j,0) K=-iJ (B=0), (4.6)
Type IT: (0,7) K=iJ (A=0). (4.7

From the considerations above, it also follows directly that the Lorentz group is homeomorphic
with the group SL(2,C), similarly as the homeomorphism between SO(3) and SU(2). The group
SL(2,C) is the group of complex 2 x 2 matrices with determinant one. It is simply connected and
forms the covering group of LL. It is easy to see that these matrices can be written as a product of a
unitary matrix U and a hermitean matrix H,

M = exp (% o 0') exp (i%n : 0') - { ggg%gz; , (4.8)

with § = nn and ¢ = ¢n, where we restrict (for fixed nn) the parameters 0 < ¢ < 27 and 0 <
7 < oo. With this choice of parameter-spaces the plus and minus signs are actually relevant. They
precisely correspond to the two types of representations that we have seen before, becoming the

defining representations of SL(2,C):
Type I (denoted M): J = % K=—i

v Q

(4.9)

3

Type IT (denoted M): J = %, K =+i

| Q

, (4.10)

27
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Let us investigate the defining (two-dimensional) representations of SL(2,C). One defines spinors &
and 7 transforming similarly under unitary rotations (Ut = U1, U = (UT)~! = U)

§ = UE, n— Un, (4.11)
Ulp) =explip-0/2)
but differently under hermitean boosts (H' = H, H = (H")~! = H~1), namely
& — HE, n— Hn, (4.12)

H(n) = exp(n-0o/2),
H(n) = exp(-n-0/2).

A practical boost for the spinors is the one transforming from the rest frame to the frame with
momentum p. With £ = M~y = M cosh(n) and p = MByfn = M sinh(n) n it is given by

: M+ E :
H(p) = exp (M) = cosh (E) + o -1 sinh (ﬂ) = w, (4.13)
2 2 2 V2M(E + M)
Also useful is the relation H*(p) = 6#p,/M = (E + o -p)/M.
The sets of four operators defined by definitions
ot =(1,0), ' =(1,—-0o), (4.14)
satisfying Tr(o* 6”) = —2 g and Tr(c* o”) = 2g#, = 2" (the matrices, thus, are not covariant!)

can be used to establish the homeomorphism between Ll and SL(2,C). The following relations for
rotations and boosts are useful,

Uodta, U=t = o' Aray, Ho"a, H ' = o*Apay (4.15)

Uéa,U ' =6"Aga,, Hé'a, H ' =6"Apa,. (4.16)

Non-equivalence of M and M

One might wonder if type I and type II representations are not equivalent, i.e. if there does not exist
a unitary matrix S, such that M = SMS~!. In fact, there exists the matrix

€=10", ("=¢ e t=c =l = —¢), (4.17)

1

that can be used to relate 6#* = efote = e lote and hence

U* =€lUe= €Uk, H*=¢'He=¢""He. (4.18)

As already discussed for SU(2), the first equation shows that the conjugate representation with spinors
x* transforming according to —o*/2 is equivalent with the ordinary two-dimensional representation
(+ex* transforms according to o/2). This is not true for the two-component spinors in SL(2,C) or
LE_. Eqgs 4.18 show that +e£* ‘Emsforms as a type-1I (n) spinor, while +en* transforms as a type-I
spinor. This shows that M* ~ M.

Note that M* = ¢'Me has its equivalent for the Lorentz transformations A(M) and A(M*).
They are connected via A(M*) = A~!(e)A(M)A(e) within Ll because ic? = U(mg) showing that
e € SL(2,C) and, thus, A(e) € LL. The Lorentz transformations A(M) and A(M*), however, cannot
be connected by a Lorentz transformation belonging to LL. One has

AM*) = LAM) I, (4.19)
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where

I =

OO =

(4.20)

coro
=)
—-

—oc oo

0

The matrix I does not belong to LL_, but to L' . Thus M* and M are not equivalent within SL(2,C).

4.2 Spin 1/2 representations of the Lorentz group

Both representations (0, 1) and (%,0) of SL(2, C) are suitable for representing spin 1/2 particles. The
angular momentum operators J* are represented by /2, that have the correct commutation relations.
Although these operators cannot be used to label the representations, but rather the operators Wi (p)
should be used, we have seen that in the rest frame W(p)/M — J', and the angular momentum
in the rest frame is what we are familiar with as the spin of a particle. We also have seen that
the representations (0, %) and (%,0) are inequivalent, i.e. they cannot be connected by a unitary
transformation. Within the Lorentz group, they can be connected, but by a transformation belonging
to the class PI, as we have seen in section 4.1. The representing member of the class P! is the parity
or space inversion operator Iy. A parity transformation changes a* into a*, where a = (a°,a) and
a = (a®,—a). It has the same effect as lowering the indices. This provides the easiest way of seeing
what is happening, e.g. € will change sign, the a* elements of a tensor will not change sign.

Examples (with between brackets the Euclidean assigments) are

r — -r (vector),
t — (scalar),
p — —Pp (vector),
H — H (scalar),
J — J (axial vector),
Ap) — =Ap) (pseudoscalar),

K — -K (vector).

The behavior is the same for classical quantities, generators, etc. From the definition of the represen-
tations (0, 3) and (3,0) (via operators J and K) one sees that under parity

0,5) —(

1 1
— —,0). 4.21

2) — (5.0) (421)
In nature parity turns (often) out to be a good quantum number for elementary particle states. For the
spin 1/2 representations of the Poincaré group including parity we, therefore, must combine the rep-

resentations, i.e. consider the four component spinor that transforms under a Lorentz transformation

“ - (5) = ) (5)

where M(A) = eM*(A)e™! with e given in Eq. 4.17. For a particle at rest only angular momentum
is important and we can choose £(0,m) = 1n(0,m) = Xm, the well-known two-component spinor for a
spin 1/2 particle. Taking M (A) = H(p), the boost in Eq. 4.13, we obtain for the two components of
u which we will refer to as chiral right and chiral left components,

UR H(p) 0 Xm
B N IR
ur, 0 H(p) Xm
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with
_  E+M+o-p
) = 2k (4.24)
_ _ E+M—0'-p_ 1
H(p) = —2M<E+M)—H (p)- (4.25)

It is straightforward to eliminate y,, and obtain the following constraint on the components of u,

0 H?(p) UR UR
| -0 0
H=2%(p) 0 ur, ur,

or explicitly in the socalled Weyl representation

-M E+o-p UR
=0,, (4.27)
E—o-p —-M ur,

which is an explicit realization of the (momentum space) Dirac equation, which in general is a linear
equation in p*,
(puy" = M)u(p) = (p—M)ulp) =0, (4.28)

where v# are 4 x 4 matrices called the Dirac matrices!.

As in section 2 we can use P, = i0,, as a representation for the momenta (translation operators)
in function space. This leads to the Dirac equation for ¥ (z) = u(p)e~*P® in coordinate space,

(iv"0, — M) Y(x) =0, (4.29)

which is a covariant (linear) first order differential equation. It is of a form that we also played with
in Exercise 2.7. The general requirements for the + matrices are thus easily obtained. Applying
(iv"0,, + M) from the left gives

(Y47 0,0, + M2) Y(x) = 0. (4.30)

Since 0,0, is symmetric, this can be rewritten

(5 0" 0.0, 4 32 ) w(a) =0, (4.31)

To achieve also that the energy-momentum relation p? = M? is satisfied for u(p), one must require
that for ¢(z) the Klein-Gordon relation (3 + M?) ¢(x) = 0 is valid for each component separately).
From this one obtains the Clifford algebra for the Dirac matrices,

v =29", (4.32)

suppressing on the RHS the identity matrix in Dirac space. The explicit realization appearing in
Eq. 4.27 is known as the Weyl representation. We will discuss another explicit realization of this
algebra in the next section.

We first want to investigate if the Dirac equation solves the problem with the negative densities
and negative energies. The first indeed is solved. To see this consider the equation for the hermitean
conjugate spinor ¢! (noting that 'yg =~ and ’yg = —7;),

ot (—mo o +iv' O, —M) —0. (4.33)

I'We define for a four vector a the contraction ¢ = at~y,
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Figure 4.1: The Dirac sea of negative energy states and antiparticles.

Multiplying with 7° on the right and pulling it through one finds a covariant equation

() (m“ o, +M) =0, (4.34)
for the adjoint spinor ¥ = 1T~y. From the equations for ¢ and 1) one immediately sees that
3" =Py (4.35)
is a conserved probability current (exercise!). The density
3% =97 = 9Ty (4.36)

is indeed positive and j° can serve as a probability density.
The second problem encountered before, the one of the negative energy states, remains. This can
most easily be seen in the particle rest frame, where

Vpov =My  — B =M. (4.37)
Using the explicit form of 4° in the Weyl representation (see Eq. 4.27), one sees that there are two
positive and two negative eigenvalues, E = +M (twice) and F = —M (twice),

This problem was solved by Dirac through the introduction of a negative energy sea. Relying on
the Pauli exclusion principle for spin 1/2 particles, Dirac supposed that the negative energy states
were already completely filled and the exclusion principle prevents any more particles to enter the sea
of negative energy states. The Dirac sea forms the vacuum.

From the vacuum a particle can be removed. This hole forms an antiparticle with the same mass,
but with properties such that it can be annihilated by the particle (e.g. opposite charge). We will see
how this is properly implemented (also for bosons!) when quantizing fields.

4.3 General representations of v matrices and Dirac spinors

The general algebra for the Dirac matrices is

At =29". (4.38)
Two often used explicit representations are the following?: The standard representation:
1 0 0 oF
0o_ 3 _ k_ ;2 k _ )
¥ =p ®1—[0 1], v =ip ®U—[_0k 0 ] (4.39)

2We use p* ® 07 with both p and o being the standard 2 x 2 Pauli matrices.
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The Weyl (or chiral) representation:
0 1 . 0 —oFf
0_ 1 _ k20 ko
Y =p ®1[1 0], Y= —ip° R0 [Uk 0 ] (4.40)

Different representations can be related to each other by unitary transformations,

Y — Sy.STY (4.41)
v — Sy (4.42)

We note that the explicit matrix taking us from the Weyl representation to the standard representation,
(Yu)s.r. = S(vu)w.r ST, is

1 1 1
so(r 1) »
For all representations one has
7 = Y0770, (4.44)
and an adjoint spinor defined by _
b =1l (4.45)

Another matrix which is often used is 75 defined as

1 €uvpo

¥ = i7" = —iyoneys = =YY (4.46)
It satisfies {75,7*} = 0 and explicitly one has
0 1 1 0
sn=por= (1 4] owa-ser=(g %) @

For instance in the Weyl representation (but valid generally), it is easy to see that

(1 75) (4.48)

N~

Pr/r =

are projection operators, that project out chiral right/left states, which in the case of the Weyl
representation are just the upper and lower components.

Lorentz invariance

The Lorentz transformations can also be written in terms of Dirac matrices. For example, the rotation
and boost generators in Weyl representation in Eqs 4.9 and 4.10 are

1 a® 0 1
J3:M12:_ [ 3 ] :_[71572]3

20 ¢ 4
1 ( —io® 0 i
K3:M3O:§ { 0 ig3 ] :_1[73’70]’
or in general one has the transformation
) — L = exp (—%MPUSPU) ¥, (4.49)

with —i $P7 = Lor? = —2[y”,~4°]. We note that ¢» — Lt and ¢ — ¢ L', while L71y#L = Alq".
The latter assures Lorentz invariance of the Dirac equation (see Exercise 4.3)
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Parity

There are a number of symmetries in the Dirac equation, e.g. parity. It is easy to convince oneself
that if ¢»(z) is a solution of the Dirac equation,

(i) — M) () = 0, (4.50)

one can apply space inversion, = (t,x) — & = (¢, —x) and via a few manipulations obtain again the
Dirac equation

(ip — M) ¢*(z) = 0, (4.51)

but with ¢¥”(z) = n, v (%) (Exercise 4.6). Note that we have (as expected) explicitly in Weyl
representation in Dirac space

() (4.52)

|
—_—
I
| —
<
S
Il
2
o
<
|
—
m3
N ——

Charge conjugation

The existence of positive and negative energy solutions implies another symmetry in the Dirac equa-
tion. This symmetry does not change the spin 1/2 nature, but it does, for instance, reverse the charge
of the particle. As with parity we look for a transformation, called charge conjugation, that brings
1 — °, which is again a solution of the Dirac equation. Starting with (i@ — M) (z) = 0 we note
that by hermitean conjugating and transposing the Dirac equation one obtains

(i4"T0, + M) ¥ (z) = 0. (4.53)

In any representation a matrix C exist, such that

CyaC™" ==y, (4.54)
e.g.
. . 0 —io? 0o -
(C)sr. = i7"’ =—ip @o® = [ i o ] = [ R ] : (4.55)
;2
_ - 2.0 _ -3 2 —10 0 _ — 0
(C)wr. = WY =—ip°®0" = [ 0 io? ] = { 0 e ] (4.56)
Thus we find back the Dirac equation,
(i — M) ¢°(x) = 0. (4.57)
with the solution o
P(x) =n. CY (), (4.58)

where 7). is an arbitrary (unobservable) phase, usually to be taken unity. Some properties of C are
C~!' = Ct and CT = —C. One has ¢ = —TC~!. In S.R. (or W.R.) and all representations
connected via a real (up to an overall phase) matrix S, C' is real and one has C~! = Ct = CT = —C
and [C,~s] = 0. The latter implies that the conjugate of a right-handed spinor, ¢ 5, is a left-handed

spinor. Explicitly, in Weyl representation we find in Dirac space

_ 6 i c __ _Ti _677*
1/1[77] éwcw[eg*]. (4.59)
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4.4 Plane wave solutions

For a free massive particle, the best representation to describe particles at rest is the standard repre-
sentation, in which 4 is diagonal (see discussion of negative energy states in section 4.1). The explicit
Dirac equation in the standard representation reads
i2-M ic-V
P(z) = 0. (4.60)
—ig -V —if— M
Looking for positive energy solutions o exp(—iEt) one finds two solutions, ¥ (z) = u®*(p) e ™' 7, with
E = E, = +/p? + M?, where u satisfies
E,—-M —o-p
up)=0, & (Pp—M)u(p)=0. (4.61)
oc-p —(E,+M)

There are also two negative energy solutions, ¢(x) = v¥%(p) e'P'*, where v satisfies

—(Ep + M) g-p
o) =0, & (p+M)v(p) =0. (4.62)
—o-p (Ep — M)
Explicit solutions in the standard representation are
op _
Xs mxs
u(p,s) = Ep+ M o.p , v(p,s) =vE,+ M , (4.63)
Byt M Xs Xs

where y; are two independent (s = 4) two-component spinors.. Note that the spinors in the negative
energy modes (antiparticles) could be two different spinors. Choosing ¥ = —ex™* (the equivalent spin
1/2 conjugate representation), the spinors satisfy Ca” (p,s) = v(p,s) and C o7 (p,s) = u(p,s). The
solutions are normalized to

a(p, s)u(p,s’) = 2M Js, o(p, s)v(p,s’) = —2M 65, (4.64)
a(p, s)v(p,s’) = v(p, s)u(p,s’) =0, (4.65)
uT(p, s)u(p,s’) = vT(p, s)u(p,s’) = 2B, dss. (4.66)

An arbitrary spin 1/2 field can be expanded in the independent solutions. After separating positive
and negative energy solutions as done in the case of the scalar field one has

d3k X .
P(x) = ES /m (u(k,s) e " b(k,s) +v(k,s)e'* ™ d*(k,s)). (4.67)
It is straightforward to find projection operators for the positive and negative energy states
u(p, s)u(p,s) _p+M
* 2 2M 2M (4.68)

S

-y vp:s)op;s) _ —p+ M (4.69)

P =
2M 2M

S

In order to project out spin states, the spin polarization vector in the rest frame is the starting
point. In that frame is a spacelike unit vector s# = (0, 8). In an arbitrary frame one has s-p =0 and
s(p) can e.g. be obtained by a Lorentz transformation. It is easy to check that

1ty 1 (1+0-8 0
b= 5[ 0 11Fa-§] (4.70)
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(the last equality in the restframe and in standard representation) projects out spin +1/2 states (check
this in the restframe for § = 2).

Note that for solutions of the massless Dirac equation pip = 0. Therefore, y5p¢ = 0 but also
P50 = —v5p = 0. This means that in the solution space for massless fermions the chirality states,
Yr/1 = Pryr ¢ are independent solutions. In principle massless fermions can be described by two-
component spinors. The chirality projection operators in Eq. 4.48 replace the spin projection operators

which are not defined (by lack of a rest frame).

Explicit examples of spinors are useful to illustrate spin eigenstates, helicity states, chirality,
etc. For instance with the z-axis as spin quantization axis, one has in standard representation:

E+M 0
1 0 1 E+M
u(p, +1/2) = — . u(p,—1/2) = ———— : .4
(p / ) \/E+—M ) pS , (p / ) \/W pl _épQ ( )
p +ip —-p
p' - épQ ;p?’ ,
1 —p 1 —p —1ip
v(p,+1/2) = ——n . ou(p,—1/2) = ———— 4.72
E+M 0
Helicity states (p along 2) in Standard representation are:
vE+ M 0
upr=+1/2) = | L | wa=-yp= | VESM (473)
E—-M 0
0 —vE—-M
0 —vE—-M
E-M 0
VET 0

By writing the helicity states in Weyl representation it is easy to project out righthanded (up-
per components) and lefthanded (lower components). One finds for the helicity states in Weyl

representation:
VE+M+VE—-M 0
1 0 1 | VE+M-VE-M
0 VE+M++VE-M
0 —VE+M—-VE-—M
1 VE+M—-VE-M 1 0
v(p,)\:—&-l/Q):ﬁ 0 7”(?7)\:_1/2):ﬁ VEFTM-VE-—M
~—~VE+M—-+E-M 0

Also for helicity states C @ (p, \) = v(p,A) and C @” (p, \) = u(p, A). We note that for high energy
the positive helicity (A = +1/2) is in essence righthanded, while the negative helicity (A = —1/2)
is in essence lefthanded. The ratio of the components is (directly or inversely) proportional to

VE+M-VE-M _

2M

VE+M+VE-M (VE+M+VE— M)?

mM<E M
2F’

which vanishes in the ultra-relativistic limit £ > M or in the massless case.
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4.5 ~ gymnastics and applications

An overview of properties can be found in many text books. Some elementary properties are:

Properties of products of y-matrices:

) My =4

) YA i = —29Y or Yy, = —24.

) Y APYT A = 4 gP7 or Yy, = 4a-b.

) 7”7 Yo = —=2979Py".

) Y™y 7Y =2 e e e e ol e e St
) 5 = iV Y2 Y? = —ieuuper Y P /AL

) YuV5 = V5V = Ze,ul/pafyl/')’pfyg/g!'

) o = (/2) s W]

) Ouv?Ys = V50w = Guupa'y 0 /2

0) y#y" = g =i

11) yHy"yP = SHPT g 4 i eP7 gy with SIP7 = (g gl - ghP gt + gh7g"”).

Properties of traces of y-matrices

1) Tr(y#1---4#n) = 0 if n is odd.
Use (5)? = 1 and pull one v; through.)
) 4

r(1
(v*
(v*
Tr(’y »}/#n) — g“lMTr(’y“S .. .»}/#n) _ g“I“STr(’yM’y“‘* .. .»}/#n) 4+ ..
(75
(
(

Tr(y - 7“2”) = Tr(yhen - yi).
Use matrices C to transpose the matrices in the expression under the trace and use Tr AT = Tr A.)
In order to show the use of the above relations, we will give one example, namely the calculation
of the quantity

AAAAA,_\/_\/_\/_\,_\,_\

L (k) = - Y (alk, )y ulk’,s")" (alk, sy u(k',s"), (4.75)

which appears in quantum electrodynamics calculations (see Chapter 10) for the emission of a photon
from an electron changing its momentum from & to k&’ (k? = k' = m?). In principle one can take a
representation and just calculate the quantity @(k, s)y*u(k’,s’), etc. It is, however, more convenient
to use the projection operators introduced earlier. For this we first have to prove (do this) that

(ﬁ(kﬂ S)’y#u(klv S/))* = a(klv Sl)’y#u(kﬂ S)a (476)

This leads with explicit Dirac indices to
1
L= S ) (0 sk s) e (ks ) (3 (K )
1
-2 D )ik, s ) ()i (ks o) an(k, ) (7w

_ %(;e' )i (V)i (F -+ ) i (7 )i

= ST+ m (k4 m)]
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The trace is linear and can be split up in parts containing traces with up to four gamma-matrices, of
which only the traces of four and two gamma-matrices are nonzero. They lead to

1
LY = 5 1 (K +m)y" (f +m)y"]
= 2[k'E"Y + kK" — g" (k- K —m?)]
QEFEY + 2KV K 4 (k — k') g™, (4.77)
Exercises
Excercise 4.1
Prove Eq. 4.13,
n-o M+E+o-p
H(p) =exp ( ) = )
2 V2M(E + M)

where E = M~ = M cosh(n) and p = M Byn = M sinh(n) nn. Do this e.g. by proving that

H*(p)=exp(n-0)=(E+0-p)/M =5"p,/M.

Exercise 4.2

Show that j# = 1)y*1) is a conserved current if 1) en 1) are solutions of the Dirac equation

Exercise 4.3

Imposing Lorentz invariance on the Dirac equation can be achieved by requiring L=1y#L = Al4Y.
Look at the infinitesimal forms A# = g/ + w# and L =1 — (i/2)w,+S”7 to obtain
[V, 8P7] = gPHy7 — g7HaP,

1 )
—i8§PT — [P A = Z PO
i 1Al = 2o

Exercise 4.4

Show that in

u(p, s)u(p,s) p+M
P, = =
+ Z oM 2M
s==£1/2

both sides are projection operators. Show that the equality holds, e.g. by letting them act on the four
basis spinors u(p, s) and v(p, s).

Exercise 4.5

Show starting from the relation {vy,, v, } = 2¢,, that

FY,U.¢"Y'U‘ = -2 ¢‘7
Te@h) = da-b,
Tr(y#*---4#) = 0 ifnis odd.

Excercise 4.6

Apply space-inversion,  — Z, to the Dirac equation and use this to show that the spinor ¢ (z) =
Yoy (Z), where & = (¢, —x) is also a solution of the Dirac equation.



The Dirac equation 38

Exercise 4.7

(a)

()

(d)

Show that (in standard representation)

Jo (kT)Xm
P(x,t) = N e Bt
zEJrLM o -7 j1(kr)xm
is a stationary solution of the (free) Dirac equation. In this solution the wave number k = |k|
=+ E? — M2 and ., a two-component spinor while jo and j; are spherical Bessel functions.

Note: use first the appropriate equation (which?) that is obeyed by each individual component
of the Dirac equation to show that the upper two components are allowed solutions.

Next, we want to confine this solution to a spherical cavity with radius R. A condition for
confining the fermion in the cavity is i 410 = ¢. Show that this condition is sufficient to guarantee
that n,j* = 0, i.e. there is no current flowing through the surface of the cavity.

Note: To prove this, you need to determine the corresponding confinement condition for ¢). The
conditions for ¢ and 1 imply that n,j* = i) = 0.

It turns out that there is actually a whole family of conditions that provide confinement, namely
i) = €5 4h. We will not pursue this chiral freedom at this point and take o = 0.

Apply the confinement condition to find the value of k for the lowest eigenmode in the spherical
cavity. For such a cavity n* = (0,7). Calculate the value of k for MR = 0, MR = 1.5 and
M — .

Plot for these cases the vector densities ¢ 1) and the scalar densities 1) as a function of r/R.

Excercise 4.8

A negatively charged pion (7~) decays in a lepton ¢ (¢ can be an electron or a muon) and a cor-
responding anti-neutrino (#y). The pion has spin 0, the lepton and neutrino have spin 1/2 and are
described by momentum-space spinors. Our starting point is the transition amplitude given by

M = (U(ke)ve(k )| Hing |7 () = Gr fru(ke)p(L = 7v5) (k).

Calculate |.#|?, which is the most important factor needed to find the decay width (inverse lifetime).
Note: the outcome shows that the decay into muons is much more likely that the decay into electrons
(m,, =105.6 MeV, m, = 0.511 MeV). Actually if the lepton would be massless, the decay would even
be forbidden. Do you understand why? The calculation of the life-time is completed in chapter 11.



Chapter 5

Vector fields and Maxwell equations

5.1 Fields for spin 1

In section 3.2 we have discussed the vectors €y (with A = 0 and +1) as basis states of the spin 1
representation. In the rest frame plane waves of the form ey e**?, thus, can describe spin 1 waves.
The covariant generalization is to describe them with

Vi(z) = e (k) eFke, (5.1)
These are solutions of the Klein-Gordon equation with in addition a condition,
(O+ M?)V, =0, with 9,V* =0 (Lorentz condition). (5.2)

The Lorentz condition implies that k* ¢, (k) = 0. In the restframe, where k = ky = (M, 0), there
are then indeed three independent possibilities, namely e* (ko) = (0, eA) The vectorfield is therefore

suited to describe spin 1. In an arbitrary frame EEL/\)(IC) with A = 0, £(1) are obtained by boosting the
restframe vectors. A real vector field V), (x) then can be expanded in modes as

Z / 27-‘- 3 2E )(k) efik.fﬂ C(kv >\) + GLA)*(k) eik-z c* (k, )\)) . (53>

Since the vectors e,(f‘) (k) together with the momentum k* form a complete set of four-vectors, one has

3 ) e (k) = g + 0 (54)
A=0,%
5.2 The electromagnetic field

With the electromagnetic field tensor

FIv o = grAY — v AW (5.5)
0 -EB' -p? —pg?
E' 0 -B® B2

= E2 B3 0 _Bl ) (56>
E? —-B? B! 0
where A* is the four-vector potential
At = (¢, A), (5.7)

39
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and the (conserved) current j* = (p, j) the Maxwell equations read
O FH = j¥. (5.8)
Furthermore, the antisymmetry of F'*¥ implies that
OEF"™ =0 or  Or\Fu +08,F)+0,F\, =0, (5.9)

where FH = —%e“”ﬂ"FpU is the tensor where E — B and B — —FE. It states the absence of magnetic
charges and Faraday’s law.

For electrodynamics one has furthermore the freedom of gauge transformations. Under a gauge
transformation

Ay — Ay + 0, (5.10)

the electric and magnetic fields are unchanged,
Fu — Fu + (0,00x — 0,0,X) = Fuu. (5.11)
The equations of motion for the fields A, become
04, — 0,(0,A") = j,. (5.12)

This equation is not affected by a gauge transformation. The gauge freedom can first of all be used
to impose the Lorentz condition for the electromagnetic field,

9, A" =0, (5.13)

in which case one has
OA, = ju, (5.14)

of which the solutions give the Liénard-Wiechert potentials. The equation in vacuum, OA, = 0, more-
over, shows that the electromagnetic fields correspond to the case of a massless spin 1 field. Although
the Lorenz condition is a constraint, it does not eliminate the freedom of gauge transformations but
they are now restricted to A, — A, + J,x with Ox = 0.

The Lorenz condition can actually be incorporated by changing the equations of motion to

OA, + (A —1)0u(0,A") = ju. (5.15)
Taking the divergence of this equiation, one finds for a conserved current and A # 0
0o, A" = 0. (5.16)

Hence, if 0,A4" = 0 for large times |¢|, it will vanish at all times. Note that the incorporation of
the Lorentz condition can also be done for the case of the massive vector field, i.e. if in Eq. 5.15 the
d’Alembertian is replaced by O + M?2.
As remarked above, for M = 0, there is still a gauge freedom left (A, — A, + 0,x with Ox = 0).
One possible choice is the gauge
Ag=0 (5.17)

(radiation, transverse or Coulomb gauge). In that case one also has V-A = 0 or k; ¢;(k) = 0. Therefore
it k* = (|k[,0,0, |k|), only two independent vectors remain

eF (k) = (0,71, —i,0), (5.18)

corresponding to the helicity states A = 1 of the massless photon field, in accordance with what we
found in section 3.5.

Note that via parity transformation one obtains another solution, Aff (x) = 121“(50), while the fact
that the Minkowski space is real implies that AS (z) = A% (z) = A, ().
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AX

(infinitely)
/a long solenoid

Figure 5.1: The Aharonov-Bohm experiment

5.3 The electromagnetic field and topology*

The electric and magnetic fields E and B as appearing for instance in the Lorentz force on a moving
charge,
F=eE+ecvxB (5.19)

are gauge invariant, while the electromagnetic field A, is not. Nevertheless the significance of A,
is shown in the Aharonov-Bohm experiment. In this experiment an observable phase difference is
measured for electrons moving through field-free space (E = B = 0 but A4, # 0), illustrated in
fig. 5.1. The phase difference between the electrons travelling two different paths is given by
a a Azxd
§—opl_2 22
"XTxT T X
or Az = (LX/d)6. This causes an interference pattern as a function of Az. In the presence of an
electromagnetic field A, an additional phase difference is observed. This occurs in the region outside
the solenoid, where A, # 0, but where E = B = 0. To be precise,

B By B
Inside solenoid: B=B:z, A= or P = 7_y7 _‘T7 0],
2 2 2
. . BR? | BR?y BR%x
Outside solenoid: B =0, A= p=-—=--2, —-, 7
2r 2r2 7 2r2

where 7 = (cos ¢, sin ¢, 0) and ¢ = (—sin g, cos ¢, 0). The explanation of the significance of the vector
potential A for the phase of the electron wave function is found in minimal substitution

von(ipr) — on(lien o)

exp(i%A~r)exp<%p~r>.

The phase difference between the two paths of the electron then are given by

e e e
AS = —S A ClAdar=S¢A.
5 ﬁ/l dr+h/2 dr nf{ dr
e e €
_¢ ds== | B-ds=—-® 2
h/(VXA) ds h/ ds = =@, (5.20)

where @ is the flux through the solenoid. This phase difference is actually observed.

The situation, nevertheless, may look a bit akward. It is however, nothing more than a manisfes-
tation of a nontrivial vacuum (a la the Dirac sea for fermions). The energy density %(E2 +B%) =0
(hence a vacuum), but A # 0 (hence there is structure in the vacuum).
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u(l) S (space with solenoid)

O .
v class0
© N -

rll(s) =7 class2

Figure 5.2: The topology of the space in the Aharonov-Bohm experiment, illustrating also that the
group structure of the mapping of U(1) into this space is that of the group of integers

Indeed when one considers the A-field in the example of the Aharonov-Bohm effect outside the
solenoid, it can be obtained from the situation A = 0 by a gauge transformation,

_ BR?

A=Vyx with X 5

@ (5.21)

(i being the azimuthal angle). This situation that A can be written as Vy is always true when V x A
= 0. The observable phase going around in general is

fe 76 76 =27
A(S—ﬁ%AdT—ﬁfvxdT—ﬁ X|L,0:0 .

The function y in Eq. 5.21, however, is multivalued as ¢ = 0 and ¢ = 27 are the same point in space.
If this would be be happening in empty space one would be in trouble. By going around an arbitrary
loop a different number of times the electron wave function would acquire different phases or it would
acquire an arbitrary phase in a point by contracting a loop continuously into that point. Therefore
the gauge transformation must be uniquely defined in the space one is working in, implying that it
must be single-valued!.

Now back to the Aharonov-Bohm experiment. The difference here is that we are working in
a space with a ’defect’ (the infinitely long solenoid). In such a space loops with different winding
number (i.e. the number of times they go around the defect) cannot be continuously deformed into
one another. Therefore space outside the solenoid doesn’t care that x is multi-valued. The Aharonov-
Bohm experiment shows a realization of this possibility.

Another situation in which the topology of space can be used is in the case of superconductors.
Consider a superconductor, forming a simple (connected) space. Below the critical temperature the
magnetic field is squeezed out of the superconducting material, organizing itself in tiny flux tubes
(Abrikosov strings), minimizing the space occupied by B fields. The only way for flux tubes to be
formed and move around without global consequences is when each flux tube contains a flux ® such
that A§ = (e/h)® = n - 27, giving no observable phase?.

IThe occurrence of nontrivial possibilities, i.e. nonobservable phases ¢ = 27 n, has been employed by Dirac in
constructing magnetic monopoles in electrodynamics
2 Actually, the relevant charge turns out to be 2e because the electrons appear in Cooper pairs
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Exercises

Exercise 5.1

Show that Egs. 5.8 and 5.9 explicitly give the equations

V.-E=p,
OF
VxB=j+——
X J+8t’
0B
VxE+-—=0
x +8t ’

V.-B=0.
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Chapter 6

Classical lagrangian field theory

6.1 Euler-Lagrange equations

In the previous chapter we have seen the equations for scalar fields (Klein-Gordon equation), Dirac
fields (Dirac equation) and massless vector fields (Maxwell equations) and corresponding to these
fields conserved currents describing the probability and probability current. These equations can be
obtained from a lagrangian using the action principle.

As an example, recall classical mechanics with the action

S = /tz dt L(z, ) (6.1)

ty

and as an example the lagrangian
1
Lz, i) =K-V = 5mg‘c? - V(z). (6.2)

The principle of minimal action looks for a stationary action under variations in the coordinates and
time, thus

t'=1t+ 4, (6.3)
z'(t) = x(t) + dz(t), (6.4)

and the total change
' (t") = z(t) + Ax(t), (6.5)

with Ax(t) = dx(t) + @(t) 7. The requirement §S = 0 with fixed boundaries x(¢1) = 21 and z(t2) =

o leads to
t2 L L
/ dt {a—5x+a—.5$'}+L57'
t ox oz ¢

t2 oL d (OL oL

The first term leads to the Euler-Lagrange equations,

d (0L oL

ta

08

ta

t1

The quantity OL/0% plays a special role and is known as the canonical momentum,

oL
P=%z

44



Classical lagrangian field theory 45

For the lagrangian specified above this leads directly to Newton’s law p = m# = —9V/0x.
The second term in Eq. 6.6 can be rewritten as
12

58 = ...+ (a—LA:c—H(sT) : (6.9)

ot

ty

which is done because the first term (multiplying Az, which in classical mechanics vanishes at the
boundary) does not play a role. The hamiltonian H is defined by

H(p,z)=pz— L. (6.10)

One sees that invariance under time translations requires that H(¢1) = H(t2), i.e. H is a conserved
quantity. In general any continuous transformation, Ax = (dz/d\)x=0 6A and ot = (dt/dN\)r=o 0,
gives rise to a conserved quantity (at least if H is invariant!)

dx dt
Q=» (a)k_o A (a)m’ (611

of which p and H are the simplest examples related to space and time translations, but which in 3
dimensions includes conserved quantities related to rotations and boosts.

In classical field theory one proceeds in complete analogy but using functions depending on space
and time (classical fields, think for instance of a temperature or density distribution or of an electro-
magnetic field). Consider a lagrangian density .2 which depends on these functions, their derivatives
and possibly on the position, Z(¢(z), 0,¢(z), ) and an action

to

Sl = [t L= [dtd's 26 0,00) = [ die Z6(a). 000, (6.12)
t1 R

Here R indicates a space-time volume bounded by (R3,t;) and R3 t3), also indicated by R (a

more general volume in four-dimensional space-time with some boundary dR can also be considered).

Variations in the action can come from the coordinates or the fields, indicated as

't = ot 4 St (6.13)
F@) = o) +50() (6.14)
or combined
¢'(2') = p(z) + Ag(x), (6.15)
with A¢(x) = 0¢(x) + (0,¢)dxt. The resulting variation of the action is
58 = / d's" L(¢, 0.4 ,2") — / d'z L(¢,0,0, ). (6.16)
R R

The change in variables x — 2’ in the integration volume involves a surface variation of the form

/ do,, &L dzt.
OR

Note for the specific choice of the surface for constant times ¢; and ts,

/ doﬂ...:/ dSz...f/ dr ... (6.17)
OR (R3,t2) (R3,t1)

Furthermore the variations §¢ and §9,¢ contribute to 4.5, giving?

_ [ ] 2 25 ’
58 /Rdx{é(am 6(0u9) + 5 8¢ +/6Rdau.,sf(sx

_ 1, |92 _ <5i)]5 {ﬂg P
/Rd:c{&b Oy 50,0) ¢+/6‘Rdou 50,0) ¢+ ZLox"|. (6.18)

! Taking a functional derivative, indicated with §F[¢]/d¢ should pose no problems. We will come back to it in a bit
more formal way in section 9.2.
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With for the situation of classical fields all variations of the fields and coordinates at the surface
vanishing, the second term is irrelevant. The integrand of the first term must vanish, leading to the

FEuler-Lagrange equations,
0L 0L
o (57) ~ 55 (0:19)
6.2 Lagrangians for spin 0, 1/2 and 1 fields

By an appropriate choice of lagrangian density the equations of motion discussed in previous chapters
for the scalar field (spin 0), the Dirac field (spin 1/2) and the vector field (spin 1) can be found.

The scalar field

It is straightforward to derive the equations of motion for a real scalar field ¢ from the lagrangian
densities,

¥ = % D" p — %MQ 2 (6.20)
— 7% ¢ (9,0" + M?) ¢, (6.21)
which differ only by surface terms, leading to
(O + M?)¢(x) = 0. (6.22)
For the complex scalar field one conventionally uses

L = 0,0"0"p— M?¢*¢ (6.23)
= —¢" (0,0" + M?) ¢, (6.24)

which can be considered as the sum of the lagrangian densities for two real scalar fields ¢; and ¢o
with ¢ = (¢1 + i¢)/v/2. One easily obtains

(O + M?)¢(x) =0, (6.25)
(O + M*)¢*(x) = 0. (6.26)

The Dirac field

The appropriate lagrangian from which to derive the equations of motion is
i—7 — i— 7 i— —
L = HPY-MPp =P Pv— b P Y- MYy (6.27)
= TGP M), (6.28)

where the second line is not symmetric but in the action only differs from the symmetric version by
a surface term (partial integration). Using the variations in ¢ (in the symmetric form),

i,
o0 2

Y% i =

5 5&1/1*1\41/1,

one obtains immediately

(i P M) b =0, (6.29)



Classical lagrangian field theory 47

and similarly from the variation with respect to

b (z 5 +M) =0. (6.30)

It is often useful to link to the two-component spinors £ and 7 which we started with in chapter 4, or
equivalently separate the field into right- and lefthanded ones. In that case one finds trivially

1— < 1— < — —
$=§¢RZ@¢R+§¢Ll@¢L—M(¢R¢L+¢L¢R), (6.31)
showing e.g. that the lagrangian separates into two independent parts for M = 0.
The mass term in the Dirac lagrangian 6.31 rewritten in terms of & and 7 is
% (Dirac) = —M (g* n+nt g) . (6.32)
There exists a different possibility to write down a mass term with only one kind of fields, namely?
. 1 tow « T
Zv(Majorana) = —|—§ (Mn en" —M"n en) . (6.33)

Since the kinetic term in .# separates naturally in £ and 7, it is possible to introduce ’real’ spinors
or Majorana spinors that satisfies T¢ = Y. The spinor to be used satisfies

T =T and TLzsz:[O] - TE[_En ] (6.34)
n n
for which 1o = eng. We note that
c c —T —en®

YL = ()" =Cyr = [ 077 ] =Tkr. (6.35)

Rewriting the Majorana mass term in Eq. 6.33 in terms of ¢, and 7 one finds

1— . < 1 —_— * T ic

L= 5000 P b — 5 (MUF b+ M Pr i) (6.36)

Note actually that using for Majorana spinors the relations T4 = Y1 and Y = T, the Majorana
lagrangian is actually almost of the same form as the Dirac mass term,

1—. < 1, — L

X:ZTi@TfE(MTRTLJrM YT.YR). (6.37)
Note the factor 1/2 as compared to the Dirac lagrangian, which comes because we in essence use
'real’ spinors. The Majorana case is actually more general, since a lagrangian with both Dirac and

Majorana mass terms can be rewritten as the sum of two Majorana lagrangians after redefining
the fields (See e.g. Peshkin and Schroeder).

Vector field

From the lagrangian density

1 1 A

L = g FuF"+ M2V, VH — o) (8,VH)? (6.38)
1

= SV [(0® + M?)guw — (1= X)0,0,] V¥, (6.39)

2This term is written down with 7 being an anticommuting Grassmann number for which
Q’ﬁ = _ﬂav
(O{/B)* — ﬁ*a* — _a*6*7

and thus (8*a)* = a*f = —fa*. The reasons for Grassmann variables will become clear in the next chapter.
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where F,, = 0,V, — 0,V,,, one immediately obtains

0L
5(0. Vo)

= —0'VY +0"VHF = Xg" (0,VP) = —F" — Xg"" (0,V")
leading to the equations of motion
OuF™ + M?VY +X0"(0-V) = (0+M?*) V¥ — (1 =N)9"(0-V) =0, (6.40)

implying

O F"™ + M?*VY=0 and  9,VF=0. (6.41)
6.3 Symmetries and conserved (Noether) currents
Next, we consider the second term in Eq. 6.18. In particular when the lagrangian is invariant under

symmetries, one can consider the variations at the initial or final surface. These do not affect the
dynamics and will give rise to conserved currents. Returning to 4.5 the surface term is rewritten to

Y KA_[KV_W]}
6S /Rdx...—i—/aRdau{é(am) 10) 5(8H¢)8¢ ZLagt" | dx,

0L
= d4x...—|—/ do {—Aqb—@“”xému}, 6.42
A o " 1 50,9) @ (042
where 5.
W= _———09"¢p — Lg"". 6.43
50.0) ¢—Zyg (6.43)
The variation 4.5 thus can be expressed as
§S = F(oy) — F(o2) = / do,, J*(x) = / d*z 9,J"(x), (6.44)
R R
with 5.2
JH(x) = ———— Ao+ O (2)dx, .
(#) = —57g B0+ 9@
For continuous transformations, A® = (d¢/d\)x=¢ 0\ and dz* = (dz# /dN\)r=0 I\, we get
0L d¢>) (dxl,)
JH(z) = — — + O (x . 6.45
=gy ()0 (5., (04

Thus considering R = 03 - 01 with o = (R3,t), the presence of a symmetry that leaves the lagrangian
invariant, requires the presence of a conserved quantity, Q(¢1) = @Q(t2), which is the space-integral
over the zero-component of a conserved current, 0, J*(z) = 0,

Q= /d?’:c JO(x, 1), (6.46)

For quantum fields (¢ operator!) things become more subtle as it it is not possible to specify
for instance ¢ and ¢ on the surface o1. In this case, discussed in the next chapter, these conserved
quantities become operators, which in a consistent picture precisely generate the symmetries.

As an example for the classical field, consider U (1) transformations of the Dirac field proportional
to the charge e,

Y(x) — et Mp(x) or Ap(x) =ieA(x). (6.47)
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From the lagrangian for the Dirac field, we obtain (since dz# = 0), omitting the parameter A

W T N
= eyyt. (6.48)

For the complex scalar field the U(1) transformations leave the lagrangian invariant and lead to the
conserved current (see Exercise 6.3)

t=ied* B, 6. (6.49)

These currents are conserved as discussed already in chapter 2. The integral over the zero-component,
Q= d3x j%(x,t) is the conserved charge (QQ = 0). In the next section we will see the quantity show
up as the charge operator.

6.4 Space-time symmetries

One kind of symmetries that leave the lagrangian invariant are the Poincaré transformations, including
the space-time translations and the Lorentz transformations.

Translations

Under translations (generated by PJ,) we have

Szh = e, (6.50)
Ad(z) = 0, (6.51)
S6(a) = —(Du6)0a" = "D, (a). (6.52)

The behavior of the field under translations (d¢) is governed by the translational behavior of the
argument in such a way that A¢p = 0. From Noether’s theorem one sees that the current ©#¢,
is conserved. Therefore there are four conserved currents ©*" (v labeling the currents!) and four
conserved quantities

PY = /dou oOr = /dgx (S (6.53)
These are the energy and momentum. For quantized fields this will become the expressions of the
hamiltonian and the momentum operators in terms of the fields, e.g. H = [ d3z 0% (z).
Lorentz transformations

In this case the transformation of the coordinates and fields are written as

oxt = wha,, (w"” antisymmetric) (6.54)
. 1 i
A¢'(z) = §wpg(—z SP7); ¢ (z). (6.55)

Note that the coordinate transformations can be written in a form similar to that for the fields,
oxt = 1 It i 6.56
T = 5 wPU (a’ )u‘r ( . )

with
(@), = g™, — g°"9",. (6.57)
For the fields the behavior under Lorentz transformations has been the subject of previous chapters.
Summarizing,
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e Scalar field ¢: —i5,, = 0.

e Dirac field ¢: —iS,, = —(1/4)[7p, 7]
This result for the Dirac field has been discussed in chapter 3 (see also Exercise 4.3).

e Vector field A,: —iS,, = a,o.

The current deduced from Noether’s theorem is

JE = _5(2%.5:51') A¢' 4+ OH iz,
= %wp,, {—% (=i SP7)i ) + M7 — 9”%9} (6.58)
= %wm {HMPT - @FPx — Q7P (6.59)
_ %wm Moo (6.60)

Therefore there are six conserved currents M**7 labeled by p and o (antisymmetric) and corresponding
to it there exist conserved quantities

MP7 = /d% MO, (6.61)

A final note concernes the symmetry properties of ©#”. In general this tensor is not symmetric. In
some applications (specifically coupling to gravity) it is advantageous to have an equivalent current
that is symmetric. Defining

™" =" —9,G"", (6.62)
with GPHY = (HP*Y 4+ HMP 4+ HY#P) /2, where H”*" is the quantity appearing in M**¥| one has a
tensor that satisfies (exercise 6.6)

T =TV, (6.63)
8, T" = 8,0", (6.64)
MHPT = THP g7 — TH g (6.65)

6.5 (Abelian) gauge theories

In section 6.3 we have seen global transformations or gauge transformations of the first kind, e.g.
p(z) — et Po(x), (6.66)

in which the U(1) transformation involves an angle e A, independent of x. Gauge transformations of
the second kind or local gauge transformations are transformations of the type

d(z) — e M@ g(x), (6.67)

i.e. the angle of the transformation depends on the space-time point x. The lagrangians which we
have considered sofar are invariant under global gauge transformations and corresponding to this there
exist a conserved Noether current. Any lagrangian containing derivatives, however, is not invariant
under local gauge transformations,

d(x) — e MPg(a), (6.68)
P (x) — e_ieA(I)qﬁ*(x), (6.69)
Oud(z) — e MDo0() +ieduA(w)e M (x), (6.70)
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where the last term spoils gauge invariance.
A solution is the one known as minimal substitution in which the derivative 0, is replaced by a
covariant derivative D,, which satisfies

D,é(x) — ' MD D, o(x). (6.71)

For this purpose it is necessary to introduce a vector field 4,,

Dyg(x) = (0 + i eAy(x))¢(x), (6.72)
The required transformation for D, then demands
D,¢(z) = (0. +ieA,(z))o(x)

— O, +ie (BN e Ppti e, ¢’ Ag
= ¢l (Ou +ie(A), +8,M)) ¢
= "M, +ied,) o (6.73)

Thus the covariant derivative has the correct transformation behavior provided
A, — Ay — 0uA, (6.74)

the behavior which we have encountered before as a gauge freedom for massless vector fields with
the (free) lagrangian density £ = —(1/4)F,,, F"¥. Replacing derivatives by covariant derivatives and
adding the (free) part for the massless vector fields to the original lagrangian therefore produces a
gauge invariant lagrangian,

2(0,0,0) = (6, D)~ {Fun . (6.75)

The field ¢ is used here in a general sense standing for any possible field. As an example consider the
Dirac lagrangian,

i _ _
2 = < (70,0 = (9,B)") — M.
Minimal substitution 0,1 — (9, +ieA,) leads to the gauge invariant lagrangian

>

L= LT P~ MY~ Ty Ay — L Fu P, (6.76)

i
2
We note first of all that the coupling of the Dirac field (electron) to the vector field (photon) can be
written in the familiar interaction form

Lt = —e by A, =—ejlA,, (6.77)

involving the interaction of the charge (p = j°) and three-current density (j) with the electric potential
(¢ = A®) and the vector potential (A), —ej*A, = —e pp + ej - A. The equation of motion for the
fermion follow from

L i,
50,7) 3

5. i

5 5@1/)*1\41/)*6/11/)

giving the Dirac equation in an electromagnetic field,

(iD= M)y = (i) —eA - M)¢ = 0. (6.78)
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For the photon the equations of motion follow from

0L
_— = —FH‘V
5(8HA,,) ’
0L —
E = —ey’y,

giving the Maxwell equation coupling to the electromagnetic current,
O FH = 3", (6.79)

where j* = epyrep.

Exercises

Exercise 6.1

(a) Show that the Klein-Gordon equation for the real scalar field can be derived from the lagrangian
density

1 1
L = 3 Dpp0" ¢ — 3 M? ¢

(b) Show that the Klein-Gordon equation for the complex scalar field (considering ¢ and ¢* as
independent fields can be derived from the lagrangian density

L =0,0"0"p — M? ¢* .

Exercise 6.2

(a) Show that the homogeneous Maxwell equations can be derived from the lagrangian density
1 v
g = _Z FHVF .

(b) What is the form of the interaction term involving a current j, and the field A* that will give
the inhomogeneous Maxwell equations, 0, F*" = j¥.

(c) Show that the interaction term is invariant under gauge transformations only if the current j,, is
conserved, i.e. 9,j" = 0 (Note that the addition of a total derivative to the lagrangian density
does not modify the equations of motion).

Exercise 6.3

Show that the current j, =i ¢* 9, ¢ for a complex scalar field is connected to a U (1) transformation
on the fields, ¢ — e** ¢.

Exercise 6.4

Given the Dirac equation for a (negatively charged) spin-1/2 particle in an external electromagnetic
field, [iv* (0, —ie Ay) — My = 0, give the equation which is satisfied by ¢° = CET, and deduce what
is the charge of the antiparticle as compared to a particle.
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Exercise 6.5

Show that the Dirac equation for an electron with charge —e in an external electromagnetic field A
= (A% A) (see also exercise 6.4) for a stationary solution in the non-relativistic (|En,| < M) and
weak-field (JA°| < M) limits yields in the standard representation for the "upper (two) components’

wua

2M
with F,, = E — M < M. This relation is known as the Pauli equation.

<L(1V + eA)2 + ﬁ c-B— eAO) Uy (r,t) = Enpthy (7, 1),

Comment: this relation is known as the Pauli equation. It shows that for a spin 1/2 particle the
g-factor in the coupling of spin to a magnetic field takes the value g5 = 2,

Qe
2me

s- B.

Hint = —0s MH¢ B = —Js

Exercise 6.6 (optional)

Prove the properties of the tensor T#" in section 6.4.

Hints: it may be useful to realize that G*#? is antisymmetric in first two indices; use 9,7"" = 0 and
0, M#"P? =0, in order to show that ©°7 —©7” = 9, H*#?; finally note that it is sufficient to show the
last equation for [ do, M*°.



Chapter 7

Quantization of fields

7.1 Canonical quantization

We will first recall the example of classical mechanics for one coordinate ¢(t), starting from the
lagrangian L(q, ¢) also considered in the previous chapter,

. .
L(g,d) = 5 md* = V(a). (7.1)
The Hamiltonian (also corresponding to a conserved quantity because of time translation invariance)

is given by
2

H(p.q) = pq — L(q.4(a.p) = 53—+ V(). (7.2)

where the (canonical) momentum p = 9L/9¢, in our example p = mg. Further, there are conserved
quantities @ (Eq. 6.11) found through Noether’s theorem. Actually the conserved quantities satisfy
a similar algebra as the Lie algebras for continuous symmetries that they are obtained from. The
bilinear product for the conserved quantities, however, is the Poisson bracket

[A,Blp = — — — — — : (7.3)

For variations 00(p, ¢) =~ (dO/dA)x=¢ 0\ under symmetry transformations one has

do

a = [Oa Q]P

Examples are
dO do
—=10,H and — =[O0, plp.
== [0 H]p 7 = 0.0l
The basic Poisson bracket is actually the one between ¢ and its canonical momentum p, namely
[¢,p]p = 1. Quantization of the theory is achieved by imposing canonical commutation relations

between ¢ and p,
lg,p] =1, (7.4)

with a possible realization as operators in the Hilbert space of (coordinate space) wave functions
through ¢op9(q) = q¥(q) and popt(q) = —idey/dg. This is nothing else as representing the classical
Poisson algebra as operators in the Hilbert space.

An immediate generalization for fields can be obtained by considering them as coordinates, labeled
by the position,

wlt) = 5 [ dw o) &

o4



Quantization of fields 55

etc. The lagrangian is given by

L / Bx L(p(x),0.0(x)) = / PPz (6,6, V)

Z A’z L x (qx, 4z, qr o) (7.6)
T

In order to construct the hamiltonian it is necessary to find the canonical momenta,

0L 3 0Zx 3
px(t) = iz A’z D Az Tlg(t), (7.7)
where Iz (t) is obtained from the continuous field II(z) = §.Z/6(0p¢$). The hamiltonian then is
H=Y ppiz—L = Y A [lgiz — Lz (7.8)
x x
= ) Naity (7.9)
x
where 5.
H(x) = —— d(z) — L(x) = 0% (). (7.10)
6¢(x)

Note that this indeed corresponds to the zero-zero component (0%?) of the conserved energy-momentum
stress tensor ©#" | discussed in the section 6.2.
As an example, for the scalar field theory, we have

L) = 0040~ 5 M
_ l 2 l 2 1 2 .2
= 5000)" —5 (Vo) — 5 M9 (7.11)
5L
I(z) = 3008 Do, (7.12)
H(x) = 0% = % (D09)* + % (Vo) + % M? $2. (7.13)

For the quantization procedure we can formulate a number of basic axioms of quantum field theory.
Sometimes it is useful to keep in mind that, formally, the fields ¢(z) can be considered as regular
operators in the Hilbert space after smearing with a test function f,

B(f) = / &'z §(z) f (). (7.14)

In fact, the discretization procedure above is an explicit example, albeit with ’sharp’ functions.
The essential conditions to consistently quantize a theory then are the following.

e Canonical commutation relations
The quantization of the theory is achieved by imposing the canonical quantization condition
lqx (1), py(t)] = idgy or for the fields ¢(x) and II(z) the socalled equal time commutation
relations

[p(z, 1), 1L(y, )] = i 6°(x — y), (7.15)
with furthermore the relations [¢(x,t), ¢(y,t)] = [(x,t), I(y,t)] = 0.
e Poincaré invariance

The full variation of the fields, A¢, for symmetry transformations. This implies specific trans-
formation properties in the Hilbert space for the quantum fields ¢,

Ut (A a) ¢'(2)U (A, a) = RE(A™Y) ¢ (A2 — a), (7.16)
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or if
Uha) = 14ieP — 2w M*,
RIATY) = 1 Luu(s™);
one has
@B = 0@, . (717)
@) Ml = i,y — 2,006 (2) + (S )i (), (7.18)

with S# given in 6.4. This must be valid for the — now operators — generators P* and M*
that in the previous chapter have been found in terms of the fields through Noether’s theorem.

e Causality
Operators ®(f) and ®(g) for which the test functions are space-like separated can be mea-
sured simultaneously (macroscopic causality). The measurements cannot influence each other
or [B(f),®(g9)] = 0. Microscopic causality implies local commutativity,

[0(2),6()] =0 if (x—y)*<0. (7.19)

7.2 Creation and annihilation operators

Before discussing (real and complex) scalar fields and Dirac fields we recall the analogy with the well-
known harmonic oscillator as an example of quantization using creation and annihilation operators,
sometimes referred to as second quantization. In simplified form the hamiltonian is given by

1 1
H=g P? + 3 w? Q?, (7.20)

where the coordinate () and the momentum P satisfy the canonical commutation relations

@, P]=i, [Q.Q]=[P,P]=0 (7.21)

Writing Q and P in terms of creation (a') and annihilation (a) operators,

1 jw
Q:m(aJraT) and Pz\/;(aaT) (7.22)

it is straightforward to check that the commutation relations between ) and P are equivalent with
the commutation relations

[a,a']=1, [a,a] =[a',al]=0. (7.23)

The hamiltonian in this case can be expressed in the number operator N = a'a,

(o) (o) -5e)
w{aTa—l—%}:w{N—i—%}. (7.24)

It is straightforward to find the commutation relations between N and a and a',

H

[N,a']=daf, and [N,a]=—a. (7.25)
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Defining states |n) as eigenstates of N with eigenvalue n, N|n) = n|n) one finds

Nalln) = (n+1)alln),
Naln) = (n—1)aln)

i.e. a' and a act as raising and lowering operators. From the normalizations one obtains af|n) =
vVn+1|n+1) and aln) = v/n|n — 1), and we see that a state |0) must exist for which N|0) = a|0)
= 0. In this way one has found for the harmonic oscillator the spectrum of eigenstates |n) (with n a
non-negative integer) with E,, = (n + 1/2)w.

7.3 The real scalar field

We have expanded the (classical) field in plane wave solutions, which we have split into positive and
negative energy pieces with (complex) coefficients a(k) and a* (k) multiplying them. The quantization
of the field is achieved by quantizing the coefficients in the Fourier expansion, e.g. the real scalar field
¢(x) becomes

3

where the Fourier coefficients a(k) and af(k) are now operators. Note that we will often write a(k)

or af(k), but one needs to realize that in that case kK = Ep = \/k? 4+ M2. The canonical momentum
becomes

: —1 3k . ,
I(z) = ¢(x) = 71/ L [a(k) e=thT _ gt (k) ezk»z] . (7.27)
It is easy to check that these equations can be inverted (see Exercise 2.4 for the classical field)
alk) = /d% % i 3y d(z), (7.28)
a(k) = /d% o(z)i L (7.29)

It is straightforward to prove that the equal time commutation relations between ¢(z) and II(z’) are
equivalent with "harmonic oscillator - like’ commutation relations between a(k) and a'(k’), i.e.

(6(2), THa")]gogn = 16%(@ — 2') and
[6(2), 62" Va0 = [11(2), (& oo = 0, (7.30)

is equivalent with

[a(k),at ()] = (27)% 2E;, 0°(k — k') and
[a(k), a(k")] = [a¥(k),a’ (K")] = 0. (7.31)

The hamiltonian can be rewritten in terms of a number operator N(k) = N(k) = a'(k)a(k), which
represents the 'number of particles’ with momentum k.

H = /d% [% (Dop)? + % (Vo) + % M? ¢?

3
B /(27:1)37];&%(“(%)&(%)+a(k)ﬂ(k)) (7.32)

Pk
= m By N(k) + Eyac, (7.33)
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where the necessity to commute a(k)a' (k) (as in the case of the quantum mechanics case) leads to a
zero-point energy, in field theory also referred to as vacuum energy

1 >k
Eyac = B V/ @y E, (7.34)

where V = (27)3 §%(0) is the space-volume. This term will be adressed below. For the momentum
operator one has

P = /dgz 0% (z) = %/d?’z 8{0(;581'}(]5/(2:;7];&#N(k), (7.35)

where the vacuum contribution disappears because of rotational symmetry. Just as in the case of the
harmonic oscillator it is essential (axiom) that there exists a ground state |0) that is annihilated by
a(k), a(k)|0) = 0. The rest of the states are then obtained from the groundstate via the creation

operator, defining particle states |k) = |k) (with positive energy, k* = Ej, = \ k* + M?2),
k) = a'(k)]0), (7.36)
and multiparticle states

(a (k)™ (af(ko))"™

k)™ (ko)™ ...) = ..]0), 7.37
normalized as
(k|k'y = (2m) 2B, 6 (k — K'), (7.38)
and satisfying the completeness condition
d*k d3k
= [ EE sk — M2)0(0) k) (k] = / L) .
[ o 200 = 22 0 0| = [ S (7.39)

The problem with the vacuum or zero-point energy, which now contains an infinite number of oscilla-
tors, is solved by subtracting it as an (infinite) constant, which amounts to redefining H as

d3k
H= | &z : #(2) = | ——==— E, N(k). 7.40
/ @)= [ Gam BN ) (7.40)
This procedure is known as normal ordering, i.e. writing all annihilation operators to the right of the
creation operators, assuring that the vacuum (by definition) has eigenvalue 0!.

For the purpose of normal ordering it is convenient to decompose the field in positive and negative
frequency parts,

o(x) = op(x)+o-(2), (7.41)
d3k ;
¢4(z) = /m a(k)e**, (7.42)
3k ;
st (ZL') = / m (J,T (k) GZk.I. (743)
The normal ordered product can be expressed as
1 0(2)9(y) = O (2)9+ (y) + ¢—(2)d+ (y) + 06— (y)d+ (2) + ¢ ()P (y). (7.44)
The 1-particle wave function e~ is obtained via
dsk T —ik-x —ip-x
Olg(x)lp) = (Olo4(2)lp) = / m@la(k)a (P)|0)e™ ™" =e (7.45)

(plo(x)|0) = (plo-(2)[0) = €7 (7.46)
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In order to ensure the consistency of the theory it is necessary to check that the operators P¥ and
M*¥ obtained from the conserved currents ©°? and M*P° are indeed the generators of the Poincaré
group, i.e. that they satisfy the required commutation relations in Eqs (7.17) and (7.18).

The last item to be checked for the scalar field are the causality condition. In order to calculate

[¢(), ¢(y)] consider

[P+ (z), 90— (y)] = iAy(z—y), (7.47)
e BE ,
- / (2m)3 2B, / (27)3 2E;, e Y a(k), a (K)]
_ / Pk ik, (7.48)
(2m)3 2E,
[p—(2), 94+ (y)] = iA_(z—y), (7.49)
3

or as integrals over d*k,

i (z) = /(;lﬂl; O(k°) 2w 6(k* — M?)e~the (7.51)
iN_(z) = 7/ (;l:; O(k%) 21 §(k* — M?)etF= (7.52)
- / % O(—0) 27 (k2 — M2) =% — _iA, ()

The result for the invariant commutator function is

[0(x), o(y)] = iA(x—y) =i(Ar(z —y) + A-(z—y)), (7.53)
which has the properties
(1) iA(z) = 1AL (x) + iA_(z) can be expressed as

i) = / (;’;4 (k) 27 5(k? — M2) e=ihe, (7.54)

where (k%) = 0(k°) — O(—k°).
(ii) A(z) is a solution of the homogeneous Klein-Gordon equation.
(iii) A(0,z) = 0 and hence A(z) = 0 for 2% < 0.

(iv) The equal time commutation relations follow from

0
&A(z) t:O = —63%(x). (7.55)
(v) For M =0,
_ _6(350) 2
Ax) = o(z?). (7.56)
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7.4 The complex scalar field

In spite of the similarity with the case of the real field, we will consider it as a repetition of the
quantization procedure, extending it with the charge operator and the introduction of particle and
antiparticle operators. The field satisfies the Klein-Gordon equation and the density current (U (1)
transformations) and the energy-momentum tensor are

Ju = 19" 0u 9, (7.57)
@,“, = 6{#¢*8y}q§ — .,fgw. (7.58)
The quantized fields are written as
p(z) = / Pk la(k) e "™ + bl (k) e'F ] (7.59)
(27)3 2, ’ ‘
ot (x) = / Pk [b(k) e " 4 al (k) e"F ] (7.60)
(27)3 2, ’ '

and satisfy the equal time commutation relation (only nonzero ones)
[6(2), 000" (y)]ao=yo = 1 6°(x — y), (7.61)
which is equivalent to the relations (only nonzero ones)
[a(k),at (K")] = [b(k),bT(K)] = (27)3 2E), 63 (k — K'). (7.62)

The hamiltonian is as before given by the normal ordered expression

H = /dgx:@oo(z):
= / @k Ey : [af(k)a(k) + b(k)bT(K)] :
= m k-[a()a()Jr() ()}

B Bk T T
- /W Ey [a'(K)a(k) + b1 (k)b(k)] (7.63)

i.e. particles (created by a') and antiparticles (created by b') with the same momentum contribute
equally to the energy. Also the charge operator requires normal ordering (in order to give the vacuum
eigenvalue zero),

Q =i / &’z : 67006 — Bod! 6(a)] :

~ [ e ¢ o (a1

—/ &k "(K)a(k) — b (k)b(k
= m[a()a()* (k)b(K)] . (7.64)

The commutator of ¢ and ¢! is as for the real field given by
[6(2), o' (y)] = iA(z —y). (7.65)

7.5 The Dirac field

From the lagrangian density

L= LUy 0 b~ M, (7.66)

1
2
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the conserved density and energy-momentum currents are easily obtained,

ju = E’V,u"/)v (7'67)
i— i — —
O = 3P0t - (5 TP Mww) G- (7.68)
The canonical momentum and the hamiltonian are given by

0L
M(z) = —— =iyi(a), (7.69)

()

Hiw) = 0%@) = 3By O+ My

= ipy°00p = i1 o1, (7.70)

where the last line is obtained by using the Dirac equation.
The quantized fields are written

3

P(x) = Z/(27:;37];E‘k [b(k:, s)u(k, s)e_“” + dT(k:, s)v(k,s)eik‘””] , (7.71)
3

P(x) = Z / (27:;37];& [bT(k, s)a(k, s)e'™* 4 d(k, s)o(k, s)e_“””} . (7.72)

In terms of the operators for the b and d quanta the hamiltonian and charge operators are (omitting
mostly the spin summation in the rest of this section)

H = /dgz :7,/}T(z)i801/)(:r): (7.73)
3

B / (275[37];& Ey, = [b'(k)b(k) — d(k)d' (k)] : (7.74)

0 - /dgz o (7.75)
3

_ / (27:;37’;& BT (R)b(k) + d(k)dT (k)] -, (7.76)

which seems to cause problems as the antiparticles (d-quanta) contribute negatively to the energy and
the charges of particles (b-quanta) and antiparticles (d-quanta) are the same.
The solution is the introduction of anticommutation relations,

(b(k, $), b (K, ")} = {d(k, s),di (K, s')} = (27)3 2By 6%(k — k') 6. (7.77)

Note that achieving normal ordering, i.e. interchanging creation and annihilation operators, then
leads to additional minus signs and

A3k

1= [ s B B0 + i (k)] (7.78)
3

@ = [ G 00— @), (7.79)

Also for the field and the canonical conjugate momentum anticommutation relations are considered,

B3k
R

Z u;(k, s)u; (k,s) e tk(@=v)

+ v (k, S)’U; (k,s) eik‘(m_y)}

20=40
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Using the positive and negative energy projection operators discussed in section 4, one has

3
W) oo = [ G (K4 Malohy e He

(27)3 2B}
+ (= M)a(yo)y e'F =Y o
0=y
d3k .
N /m 2By (Y00)ij € k-x-y)
- e (7.80)

For the scalar combination {¢;(z),;(y)} at arbitrary times one has

[ o [ 2 )y ek )]

{Wi(@),v;(»)} 27)% 2

= (ify + M)y _ &k {e—ik»<z—y>+_ew(w—y)}
‘ ] (2m)3 2E,

= (’L@Z + M)ij ZA(.T — y), (781)

where 1A = iA; + iA_ is the same invariant commutator function as encountered before. When
we would have started with commutation relations for the field ¢ and the canonical momentum, we
would have obtained

[Wi(2),9;(y)] = (i + M)ij il (z — y), (7.82)
where iA! = iA | —iA_, which however has wrong causality properties! Therefore the relation between
spin and statistics is required to get micro-causality (which is also known as the spin statistics theorem).

7.6 The electromagnetic field

From the lagrangian density

1 17
Z = 1 F, Fr, (7.83)
the canonical momenta are

0.7
n’ = = =0, (7.84)

0Ap

. 5.5 . .

nm = = =r"%=Fg" (7.85)

0A;

which reflects the gauge freedom, but has the problem of being noncovariant, as the vanishing of II°
induces a constraint. It is possible to continue in a covariant way with the lagrangian

1 A
L == F,F" — Z(9,A")?,
4 2
This gives the equations of motion discussed before, it implies the Lorentz constraint and leads to the
canonical momenta
M’ = —X09,A4"), (7.86)
o = E°. (7.87)
If one wants to impose canonical commutation relations 9, A" = 0 cannot hold as an operator identity,
but we must restrict ourselves to the weaker condition

(B|9,, A"|A) = 0, (7.88)
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for physical states |A) and |B).
The quantized field is expanded as

3

3 . .
Aulz) = / (27337@& éey(kz) [e(k, Ne™ 5@ 4 ¢ (ke \)elF ] (7.89)

with four independent vectors 69), containing a time-like photon, a longitudinal photon and two

transverse photons. The canonical equal time commutation relations are

[A#(SC), 1T, (y)]z“:yo =i Gu 53('77 - y)7 (7-90)

where I1" = F*0 — X\ ¢*° (9,A”) and we have furthermore [A, (), 4, (y)] = [II,(z),1L,(y)] = 0. In fact
the commutation relations imply

[Au ('T)a A, (y)]xozyo = ig;w 5 (IB - y), (7'91)
and are equivalent with
[e(k,\), ct (k' X)) = —g™ 2B, (27)% 6% (k — K). (7.92)

Note that for the transverse states there are no problems with the normalization and the statistics
of the states as —g*” = §% for 7,7 = 1,2. The hamiltonian in terms of the creation and annihilation
operators is (after normal ordering) given by

3
H :/LEk
(2m)3 2Ey

which does exhibit problems with the time-like photon. These problems are solved by the Lorentz
constraint between physical states given above, for which it is sufficient that 9, A/ |A) = 0, where A/
is the part of the vector field containing the annihilation operators. It gives

3
> etk Ne(k, A) = ¢ (k,0)c(k,0) | , (7.93)
A=1

3
> kD (k)e(k, M) A) = 0. (7.94)
A=0

Choosing k* = (|k3|,0,0, k3) this reads
(|k3|c(0)(kz) - k3c<3>(k)) 14) =0 (7.95)

(00 F k) 14) =0,

i.e. one time-like photon by itself is not allowed! This solves the problems with the normalization and
the negative energies.

Exercises

Exercise 7.1 (optional)
If you haven’t seen Poisson brackets in classical mechanics you should
(a) Proof that Poisson brackets (Eq. 7.3) satisfy the conditions of a Lie algebra.
(b) Proof for a quantity O(p, q) that dO/dX = [O, Q]p, where @ is the conserved quantity in Eq. 6.11.

(c) Calculate the Poisson brackets for the coordinates @ and the standard conserved quantities p
and £, i.e. what are [r;, p;jlp, [(;,7;]p, and [4;, pj]p.

(d) Use Poisson brackets to calculate ¢ and p, which reproduce the Hamilton equations.
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Exercise 7.2

Prove that the equal time commutation relations between ¢(x) and II(z’) are equivalent with the
commutation relations between a(k) and af (k')

Exercise 7.3

(a) Show that ' .
e—za“PM ¢($) eza“PM — (b(x _ a)

requires [¢(x), P,] = 10,¢(x).
(b) Check the above commutation relation [¢(x), P,] for the (real) scalar field using the expressions

for the fields and momentum operator in terms of creation and annihilation operators. Is the
subtraction of 'zero point’ contributions essential in this check?

Exercise 7.4 (Green’s functions)

(a) Show that
1

(2m)*

is a solution of the homogeneous Klein-Gordon equation, (O+ M?2) Ahm(z) = 0. It is invariant,
APom(Az) = Ahom(z) if f is an invariant function, f(Ak) = f(k) for Lorentz transformations A.

Ahom (:C) —

/d4k e M §(k* — M) f (k)

(b) Show that

) 1 ; 1
A]nhom —_ d4l€ —ikx
(@) = Gy / R Ve
is a solution of the inhomogeneous Klein-Gordon equation, (O + M?2) Alnhom(z) = —§4(z).

(c) What are the poles in the integral under (b) in the (complex) ko plane?

(d) Depending on the paths in the k¢ plane going from kg = —oco to kg = +00 one can distinguish
four different Green’s functions (solutions to the above inhomogeneous Klein-Gordon equation):

kO
AR(retarded)
E — A  (causdl)
. - _ — ‘E A
AA(advanced)

Show that by appropriate shifts of the poles into the complex plane, we can write for Ag an
integral where the k° integration remains along the real axis,

1 - 1
Ap = d'k e
B 2t / k2 — M2 + ick?
(with the implicit prescription to take e — 0 after integration). Give also the expression for Ac.

(e) Show that Ag(z) = 0 if 2° < 0. (Similarly one can show that for the advanced Green’s function
Ax(z) =0if 2° > 0).
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(f) By performing the kg integration over a closed path C going around the poles show that

. 1 4 —ikx 1
Az) = @) /Cd ke e

are homogeneous solutions for the contours:

kO

.
D

One way of showing this is to write these contours as integrals of the form under (a). In that
case one actually needs discontinuous functions f(k) such as the step function, f(k) oc 8(k°), or
e(k%) = 0(k°) — 0(—k°).

(g) Show that the homogeneous solution A in (f) satisfies A(0,2) = 0 and argue that one can use
Lorentz invariance to show that A(z) = 0 for 2% < 0.

(h) Show that the causal Green’s function
Ac(z) = 0(2°) Ay (z) — 0(—2°) A_(x).

(i) (Optional) Give similar expressions for the other Green’s functions under (d) in terms of the
homogeneous solutions under (f).



Chapter 8

Discrete symmetries

In this chapter we discuss the discrete symmetries, parity (P), time reversal (T) and charge conjugation
(C). The consequences of P, T and C for classical quantities is shown in the table 1.

8.1 Parity
The parity operator transforms
= (t,r) — " = z,=(t,—r). (8.1)
We will consider the transformation properties for a fermion field ¢ (), writing
b@) — PPyl = npAv(E) = v (), (8:2)

where np is the intrinsic parity of the field and A is a 4 x 4 matrix acting in the spinor space. Both
P and 1 satisfy the Dirac equation. We can determine A, starting with the Dirac equation for ¥ (z),

(70, — M) () = 0.

Table 8.1: The behavior of classical quantities under P, T, and C

quantity P T C
t t -t t

T -r r T

xt =z, —at xt

E E E E

p -p -pP p

Pt Pt pH Pt

L L -L L

s s -8 s
A=s-D —A A A

66
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After parity transforming x to & the Dirac equation becomes after some manipulations

Therefore o1 (Z) is again a solution of the Dirac equation and we have
YP(x) =0 ¥(T). (8.4)
It is straightforward to apply this to the explicit field operator ¥ (x) using

v u(k,m) = u(l;,m), (8.5)
v v(k,m) = —v(k,m), (8.6)

(check this for the standard representation; if helicity A is used instead of the z-component of the spin
m, the above operation reverses the sign of \). The result is

YP(z) = Fop Y(z P ! = 1Py (7) (8.7)

B Z/ 2wd§k2E np [0k, Nyou(k, A) e 4 df (k, Nk, A) €7
- ; / M”P [bCk, Nyulk, =2) e = df (k, A)u(k, ~A) 2]
37. i ) ) )
- Z/@&%“P [b0k, Al =X) €78 — df (e, Ao (R, ~A) €]
A k
3 ~ ' ) |
B Z/ (27r§l37k2Ek77P [, = A)ullk, A) e = df (k, =A(k, N ] (8.8)
A

From this one sees immediately that
Pop b(k, A) Poyt = np bk, =), (8.9)
POP d(ka )‘) Po_p1 = _77?3 d(];a _)‘)a (810)

i.e. choosing np is real (np = £1) particle and antiparticle have opposite parity.
In the same way as the Fermion field, one can also consider the scalar field and vector fields. For
the scalar field we have seen

$(x) — Pop ¢(x) Pt = np ¢(&), (8.11)

and for the vector field
AM(z) — Pop AM(z) Pyl = —Au(%). (8.12)

The latter behavior of the vector field will be discussed further below.

8.2 Charge conjugation

We have already seen the particle-antiparticle symmetry with under what we will call charge conju-
gation the behavior

Y(@) — (@) =nc C P (), (8.13)
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the latter being also a solution of the Dirac equation. The action on the spinors (using C' = iy?y? =
zp o? in standard representation) gives

Ca'(k,m) = wv(k,m), (8.14)
C ol (kym) = wu(k,m), (8.15)

(where one must be aware of the choice of spinors made in the expansion, as discussed in section 4).
The same relations hold for helicity states. Therefore

Ve(x) = Cop ¥(w) Ol = ncCP (2) (8.16)

3
= Z/ 27Td3k2E ne [d(k, \CBT (k, \) e =% + b (k, \)CuT (k, \) €]

— —ik-x T ik-x 1
;/7(%)3 ST [d(k, Nu(k,\) e + b1 (K, Mok, A) e 7] . (8.17)
This shows that
Cop b(k,A) Cb = ne d(k, ), (8.18)
Cop d(k,N) C,} = ng b(k, A). (8.19)

8.3 Time reversal
The time reversal operator transforms
= (t,r) — -t = —x,=(-t,r). (8.20)

We will again consider the transformation properties for a fermion field ¢ (z), writing

V() — Toypi()T,' = nrAp(-z) = $'(-1), (8.21)
where A is a 4 X 4 matrix acting in the spinor space. As time reversal will transform ’bra’ into "ket’,
Topld) = (¢'] = (|#%))*, it is antilinear!. Norm conservation requires T,, to be anti-unitary®. For a

quantized field one has
Top fu(@)bk T, = fio (@) Topbi Ty

i.e. to find ¥'(—2) that is a solution of the Dirac equation, we start with the complex conjugated
Dirac equation for 1,

((v")° 0 = M) ¢p(x) = 0.

The (time-reversed) Dirac equation becomes,

(~(v) 8, = M) (=) = 0,

(53" 0 — M) $(~7) = 0,

(170, = M) v(=5) = 0,

(—iC™IN1CD, — M) (—%) = 0.

(i(vsC) ' y#y5C0, — M) ¢(—7) = 0.

(190 — M) 35Co(=F) = 0. (8:22)

LA is antilinear if A(\|@) + u|1)) = A\*Al@) + p* Alp).
2 An antilinear operator is anti-unitary if AT = A~1. One has (A¢|Aw) = (|Y)* = (AP|Ap)* = (Y| AT Ap) = (3h|¢).
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Table 8.2: The transformation properties of physical states for particles (a) and antiparticles (a).

state P T C
la;p, A)  la;—p, =) {a;—p, Al |a;p,\)
la;p,A)  la;—p, =\ (@ —-p, Al |a;p,\)

Therefore y5C9(—Z) is again a solution of the (ordinary) Dirac equation and we can choose (phase is
convention)

$(z) = i C(—). (8.23)
In the standard representation iy5C = o9 and it is straightforward to apply this to the explicit field
operator ¥(x) using

ivsCulk,\) = u*(k\), (8.24)
ivsC ok, ) = v(k,\), (8.25)
(check this for the standard representation). The result is
Pa) = Top () Ty = inrysCy(—7) (8.26)
d3k ; ik-& : —ik-&
= Z/ IR nr [b(k, N)ivsCu(k, ) €% + dt (k, N)iysCo(k, X) e~ **7]
= - * (T, ik-x T * (7 —ik-x
; / (%)3 2Ek77T [b(k,A)u (k, ) €% 4 dT (k, \)o* (k, A) e }
d*k * (T, ik-x t * (T —ik-z
= ;/mw {b(kz,)\)u (k, ) e +d" (k, \)v*(k,\) e }
= 3 / L (b0, A (ke A) € 4 df (R, Ao (k, A) e (8.27)
— ] (27)% 2By ’ ’ ’ : :
From this one obtains
Top b(k,N) Tt = nr b(k, ), (8.28)
Top d(k,N) T, = nj d(k, ). (8.29)

In table 2 the behavior of particle states under the various transformations has been summarized.
Note that applying an anti-unitary transformation such as 7, one must take for the matrix element
the complex conjugate. Therefore one has (A[k) = (A|bT(k)|0) = (A|TTT bT (k) TTT|0)* = (At|bT (k)|0)*

= (0[b(k)|A") = (k|AT).

8.4 Bi-linear combinations

In quantities such as currents and lagrangians often bilinear combinations of spinor fields are encoun-
tered. Since there are 16 independent 4 x 4 matrices, there are 16 independent of these bilinear
combinations. They are the following

S(x) = YPx)(z) (scalar) (8.30)
Vi(z) = (x)y"y(x) (vector) (8.31)
T (x) = P(x)o"(x) (tensor) (8.32)
Af(z) = P(x)ysyHeb(x) (axial vector) (8.33)
P(z) = i(x)ys¢(z) (pseudoscalar) (8.34)
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Table 8.3: The behavior of the independent bilinear combinations of fermi fields under P, C, and T

P C T © =PCT
S(z) S(z) S(z) S(-z) S(—x)
Vi) V(@) —VE@)  V(-i) —VA(-a)
™ (@) Tw(@) -T"(z) -Tw(-2) T (-=)
Al(z)  —Au(z)  AM(x) Au(=2)  —AM(-z)
P(x) —P@) P(z) —P(-1) P(—z)

The matrix o¥ = (i/2)[y*,~4”]. The 16 combinations of Dirac matrices appearing above are linearly
independent. Applying the results from the previous sections it is straightforward to determine the
behavior of the combinations under P, C, and T, as well as under the combined operation ©® = PCT
(see Table 3). As the coupling of the photon field to fermions is given by an interaction term in the
lagrangian of the form : ¥(z)y*¢(z) : A,(z) and behaves as a scalar one sees immediately that the
photon field A#(z) behaves in the same way as the vector combination v (z)y*1(z). Note that the
lagrangian density Z(z) — £ (—x) under ©.

8.5 Form factors

Currents play an important role in field theory. In many applications the expectation values of currents
are needed, e.g. for the vector current V*#(x),

', s'|V"(x)lp, 5)- (8.35)

The a-dependence can be accounted for straightforwardly using translation invariance, V#(z) =
et For- @1 (0)e~tFor' This implies

W' |V*(x)|p) = e~ =P [VE(0)|p). (8.36)

As an example consider the vector current for a point fermion,

Vi) = Pa)y"d(x) -, (8.37)
of which the expectation value between momentum eigenstates can be simply found,
P'1V*(0)lp) = u(p")7"ulp)- (8.38)
In general the expectation value between momentum states can be more complicated,
(p|VH(@)|p) = a(p" )T (', p)u(p) e~ PP, (8-39)

where I'*(p/, p) can be built from any combination of Dirac matrices (1, v*, o"¥, 5" or -5 ), momenta

(p* or p™*) or constant tensors (€,up0 Or gy ). For instance for nucleons one has

10,,q"
2M

Lu(p',p) = 7. Fi(q®) + Fy(q?), (8.40)

where the coefficients are functions of invariants constructed out of the momenta, in this case only

q®> = (p — p)?, called form factors. There are several other terms that also have the correct tensorial
behavior such as 0+ ) "
+p 59" qu
* Fs(q? W TP g2 L FE(¢? 8.41
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but that are eliminated because of relations between Dirac matrices, e.g. V50, = (1/2)€u0pe7777, OF
relations that follow from the equations of motion, e.g. the Gordon decomposition

1
2M

where ¢ = p’ — p, or relations based on hermiticity of the operator or P, C' and T invariance.

a(py"'u(p) = 57 a(p") (P + )" +ic"" ¢ ] u(p), (8.42)

e Hermiticity
@VHO)p) = @)@, pulp)
= @' IVHO)p) = @V*O)p)*
= (a(p)T(p,p")u(p)”
(ul (vl (p, P )u(p'))’
= o' (") (p, P )ou(p)-

Therefore hermiticity implies for the structure of T#(p’, p) that
%I (' )v0 = TH(0', ). (8.43)
e Parity
W'V (@)|p) = €' "7 ’( OTH(', p)u(p)
= (/| Pf, Pop V" (x) P}, Pop|p)

= (p'|Vu(2)|p) = €' 77 U(p )Tu(', p)u(p)

=" " a(p )yl (@, p)vou(p).

Therefore parity invariance implies for the structure of T'*(p/, p) that
F#(p/ap) = Vorﬂ(ﬁ/aﬁ)’yov (844)
e Time reversal

' |V*(x)|p) = e 4" a(p )T (p', p)u(p)
= <p/|Tngoqu(x)Tngop|p>*

= (p'Vu(=2)|p)* = "% [a(p"))" T, (5', p)u” (5)
=" "7 a(p’) (i) (0, 9) (17:.C)ulp).-

Therefore time reversal invariance implies for the structure of T'*(p’, p) that

(', p) = (iysO)(0', 5) (i 750). (8.45)

Exercises

Exercise 8.1

The matrix element of the electromagnetic current between nucleon states is written as
<p'[Ju(@)lp >= i) u(p')Tu(p)

Here

109"
p = wFl(q2)+2”—MF2( 7°)

Pu + pPu!
= . Hi(¢%) — " Ho(g?
YuH1(q7) s H2(d)
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(a) Use the Dirac equation to prove the Gordon-decomposition

WP u(p) = 5@+ P+ it (o~ phuJu(p)

(b) Give the relation between H; en Fj.

(c) Show that hermiticity of the current requires that Fy en Fy are real.

Exercise 8.2

(a) Calculate the current matrix element (using the explicit fermion spinors) in the Breit-frame in

which ¢ = (0,0,0,|g|), p = (E,0,0,—]|q|/2), p' = (F,0,0,|q|/2) with E2 = M? + |q|?/4 and
express them in terms of the Sachs form factors depending on Q? = —¢?2,
Q2
Cr = B-ppt
Gy = [+ .

(b) Show that in the interaction with the electromagnetic field,
gint = ej,uA#

the charge is given by e Gg(0) and the magnetic moment by e G/ (0)/2M.

Exercise 8.3

(a) Show that because of parity conservation no term of the form

50 q” 2
——F
oM 3(q7)
can appear in the current matrix element.
(b) Show that such a term is also not allowed by time-reversal symmetry.

(¢) Show that if a term of this form would exist, it would correspond to an electric dipole moment
d = —e F3(0)/2M (Interaction term do - E).



Chapter 9

Path integrals and quantum
mechanics

9.1 Time evolution as path integral

The time evolution from ¢ty — ¢ of a quantum mechanical system is generated by the Hamiltonian,

Ult, ty) = e ¢t H (9.1)
or 8
zEU(t,to) = HU(t,to) (9.2)

Two situations can be distinguished:

(i) Schrédinger picture, in which the operators are time-independent, Ag(t) = Ag and the states
are time dependent, |¢g(t)) = U(t, to)|ws(to)),

0
i§|¢s> = Hs), (9.3)
Z%AS = 0. (94)

(ii) Heisenberg picture, in which the states are time-independent, |y (t)) = |i), and the operators
are time-dependent, Ay (t) = U~Y(¢,t9) Au(to) U(t, to),

i%wm = 0, (9-5)
z‘%AH = [Ag, H). (9.6)

Of these the Heisenberg picture is most appropriate for quantum field theory since the field operators
do depend on the position and one would like to have position and time on the same footing.
Consider the two (time-independent) Heisenberg states:

lg,t) Qu(t)lg,t) = qlg. 1),
|q/at/> QH(t/)|q/5t/ = q/|q/7t/>a
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and Schrodinger states

lq) Qslg) = qlg),
lq") Qsld') =d'ld").
(9.8)

Choose t as the starting point with |¢) = |¢,t) and Qu(t) = Qs and study the evolution of the system
by calculating the quantum mechanical overlap amplitude

('t t) = (¢l " HE D). (9.9)

Dividing the interval from t = ¢y to t' = t,, into n pieces of length A7 and using completeness (at
each time t;) one writes

—1 —1 n
(@ tat) = (dle”" A7) = (¢/| (e TAT)" |q)

- / dg: / / A1 (017 57 g 1) (guoa] ) (sl #2]g).  (9.10)

The purpose of this is to calculate the evolution for an infinitesimal time interval. The hamiltonian
is an operator H = H(P, Q) expressed in terms of the operators P and (. These can be written in
coordinate or momentum representation as

Q /dq l9) q (gl (9.11)

P = /dq la) (ia%) (gl :/s—i lp) p (pl, (9.12)

where the transformation between coordinate and momentum space involves

(glp) = e'P1. (9.13)

At least for a simple hamiltonian such as consisting of a kinetic energy term and a local potential,
H(P,Q) = K(P)+ V(Q) = (P?/2M) 4+ V(Q) one can split e " HAT ~ ¢ I KAT g=i VAT ' with the
correction® being of order (A7)2. Then

(@41.tir1lay. t) = (gj41le KA e VAT g;)

dp —1 T —1 T
[ B aysals) (yle 7 et Vg, (9.15)

By letting the kinetic and potential parts act to left and right respectively one can express the
expectation values in terms of integrals containing H(p;, g;), which is a hamiltonian function in which
the operators are replaced by real-numbered variables. Combining the two terms gives

d ] o . —q. —q . . T
(g1, tj+1lg5,t5) = /% 'Pildi+1=05) o= H(p,05) A
T
— dﬂ et Pi(aj+1—9;) =1 ATH(p;,q;)
21
dpj A . q
> exp (L AT [p;d; — H(pj a5)]), (9.16)

IFor this, use the Campbell-Baker-Hausdorff formula,

eAeB —eC with C=A+B+ %[A,BH %[A, (A, B]] + 1—12[[A,B],B]+... (9.14)
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or for the full interval

(d\ta,t) = /H 7dq(2ip(7) oxp | iy AT [pi — H(p,q)]

/@m% exp (z/t dr [pq'H(p,q)]>, (9.17)

where Z2q and Zp indicate functional integrals. The importance of this expression is that it expresses
a quantum mechanical amplitude as a path integral with in the integrand a classical hamiltonian
function.

Before proceeding we also give the straightforward extension to more than one degree of freedom,

(@1, dnstlar, - an,t) (9.18)
N D t/
= Dan D= [ d nin — H(p1,q1,-..,pPN, .

9.2 Functional integrals

In this section I want to give a fairly heuristic discussion of functional integrals. What one is after is
the meaning of

/@a Fla], (9.19)

where Fa] is a functional that represents a mapping from a function space .# of (real) functions «
(R — R) into the real numbers R, i.e. F|a] € R. Examples are

Fila] = a = /dx afx),
Fya a? = /dx o?(z),
Bilag] = akp = [ dedya(e) Klz,y) o),

Fyla] = exp (%042) = exp <%/d$ 042@)),

Fyjo,a’] = exp(—a*Ka) = exp <—/dmdy a*(m)K(m,y)a(y)).

The kernels K(x,y) in the above examples can be (hermitean) operators acting on the functions,
including differential operators, etc.
Two working approaches for functional integration are the following:

(i) the heuristic division of the space on which « acts into cells, i.e. a(z) — a, and Fla] = F(ay)
changes into a multivariable function, while

/@a Fla] :/(];[ d;?) Flag) (9.20)

becomes a multidimensional integral.
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(i) Write « in terms of a sum of orthonormal basis functions, a(x) = >, an fr and K(z,y) =
> mm fm () Kinp £ (y) and consider Fla] = F(ay) as a multivariable function, with

/@a Fla] = / (1;[ d%) Flo) (9.21)

again a multidimensional integral. In both cases IV is an appropriately choosen normalization
constant in such a way that the integral is finite. Note that procedure (i) is an example of the
more general procedure under (ii).

Consider the gaussian functional as an example. Using method 1 one writes

/@a exp (%oﬂ) = /(H dam) <—ZAM>
_ H/do‘r exp <5Amg)

= H (% Z—Z) =1. (9.22)

x

The last equality is obtained by defining the right measure (normalization N) in the integration.
Physical answers will usually come out as the ratio of two functional integrals and are thus independent
of the chosen measure. Using the second method and expanding in a basis set of functions one obtains

for the (real) gaussian functional
dom,
/(H ](3[ )exp <_Zaman/d$fm( )fn( ))

fomon(-1)
/% (3

11 (@) =1. (9.23)

n

Having defined the Gaussian integral, the following integrals can be derived for a real symmetric or
complex hermitean kernel K,

1
Da ex —aK « real-valued 9.24
[ 70 o (-jaKa)=—e ) (924)
* * _ 1
/.@a Pa" exp(—a" Ka) = oK (o complex-valued) (9.25)

(see Exercises). A useful property of functional integration is the translation invariance,

/904 Fla /.@a Fla+ 0. (9.26)

As an important application of translation invariance we mention the identities

/.@a exp (% a? — wa) = exp (% w2> , (9.27)

/.@a Pa* exp(—a*a — a*w — w'a) = exp (Ww), (9.28)
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Functional differentiation is defined as

)
o] =) (9.20)
or in discretized form
0 1 9 0
5 () — Az e with {E,ay] = ay, (9.30)
0 . 0 . 0 -

) 0

5a(2) o = Sa(a) /dy aly) = /dy o0z —y) =1, (9.32)
1)

2 ok8 = [ i K p) (9.3
) 1o\ 1 5

5a(2) exp (—504 ) = —a(z) exp (—§a ) , (9.34)

2 o (—a) = —Ba)exp(—af). (9.35)

For applications to fermion fields, we need to consider Grassmann-valued functions involving an-
ticommuting Grassmann variables, i.e. 8n = —n, 2 = 0. In principle the definitions of functionals is
the same, e.g. the Gaussian-type functionals,

F10,07]

exp (—0"0) = exp (— / do 9*@)9@)),
FI0,0%] = exp(—0°K0) = exp (—/dmdy 9*($)K($,y)9(y)).

Integration for Grassmann variables is defined as

/d@ 1 =0 and /d99 = 1 (9.36)

This gives for the Gaussian functional integral after expanding 0(z) = >, 0, fn(x) where the coeffi-

cients #,, are Grassmann variables the result
/ (H e’ d9n> exp ( > o 9n>
= H/d@:; db, exp (-0 6,)

H/d@:; db, (1-656,)=1. (9.37)

/@9* 20 exp (—0*0)

We note that from the first to the second line one needs to realize that a pair of different Grassmann
variables behaves as ordinary complex variables. In the expansion of the exponential (from second to
third line), however, products of the same pair appear, which vanish. It is now easy to check that

/@9* 20 exp (—0" K 0) = det K. (9.38)
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Functional differentiation of Grassmann-valued functions is given by
s 0) L = 3 ) (9.3
59(x) I y - y I .

leading for two Grassmann variables § and 7 to e.g.

)

" *(z)e 0 .
_6 e~ 0 — _9(x) = —9(x)e """
(@) 0(x) 0(x) . (9.41)

The translation invariance property and the 'Fourier transform’ identity of Gaussian integrals, remains
in essence the same, e.g.

/@9* 20 exp (=00 — 6™y — n*0) = exp (n*n) . (9.42)

9.3 Time ordered products of operators and path integrals

As an example of working with functional integrals consider the expression for K(¢',t';q,t) for a
lagrangian L(q,¢) = 2¢* — V(g) and the corresponding hamiltonian H(p,q) = ip? + V(g). The

expression
/ ' 1
(q,t'q,t) /-@q -@— exp ( / dr {pq - §p2 - V(Q)D ; (9.43)

can be rewritten after rewriting the integrand as ——(p —q§)? + %q’2 -Vi(g) = —%(p —§)? + L(q, q).

The result is
(d',t']q,t) /-@q eXP( / dr L(q,d)>, (9.44)

which was considered the starting point for path integral quantization by Feynman.

Note, however, that not always the Zp integration can be removed that easily. A counter example
is the lagrangian L(q,q) = 2 4* f(q) for which H(p,q) = p*/[2f(g)]. As discussed for instance in
Ryder the Zp integration can still be removed but one ends up with an effective lagrangian in the

path integral
(d',tlg,t) /Jq exp( / dr Leff(q,d)>7 (9.45)

which is of the form Leg(q,¢) = L(q,qd) — % 6(0) In f(q).

Making use of path integrals it is straightforward to calculate the expectation value (¢, t'|Q(s)|q, )
of an operator Q(s) if t < s < t/. By sandwiching the time s in one of the infinitesimal intervals,
t; < s <tjy1, we have

(¢, t'1Q(s)]q, t) /quz ¢ g tn) ...

(Qj+1, j+1|Q( )|qjatj> <Q1,t1|Qat>- (9-46)

Using Q(s)|q;,t5) = q(s)lq;,t;), one gets

W6t = [ 249 ) e ( / dT[qu(p,q)]> (9.47)

/ P9q q(s) exp (z /t " ar L(q,q’)) . (9.48)
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Defining the time ordered product of operators

T Q(t1)...Qtn) = Q(ts,) - - - Qi) (9.49)

where t;, > --- > t; is a permutation of {¢1,...,t,}, one has

(@, 1'|7 Q). ..Q(tn)lg, t)

/@q q(tiy)...q(t;,) exp (z/t dr L(q,tj)). (9.50)

Thus not only the quantum mechanical overlap of states can be calculated via a classical path integral,
but also expectation of operators, at least if they appear time-ordered.

9.4 An application: time-dependent perturbation theory

From quantum mechanics one should be familiar with the procedure of time-dependent perturbation
theory, the lowest order leading to Fermi’s golden rule. One works in the socalled interaction picture,
in which a separation is made of the hamiltonian H = Hy + Hy. The fast time evolution is described
in Hy while H7 is considered as a perturbation. The interaction picture is defined as

Uit t) = e o=t (9.51)
Gr(t) = e Molpg(t) = et ot e Mg (0) = ety (0), (9.52)
Ar(t) = et Ag(t)e Hot = i Hot gge=iHot (9.53)

ie. if Hy = 0 it is the Heisenberg picture and the evolution (¢’,t|q,t) is described through the
operators by Hy. The evolution of the (interaction) states is described only by H,

.0
Urn Yr o= Hit)yi(t), (9.54)
0
—Ar = [Ar, H .
Zat I [ I, 0]7 (9 55)
and
() = Ut 1) i (1), (9.56)
z% Ut t)y=H U ,t) (9.57)
with U(t,t) = 1 or
t/
Ut =1 z/ dr Hi(r)U(r 1), (9.58)
¢
which can be solved by iteration, i.e. writing
Ut t)=> UM, (9.59)
n=0
one has
vOW, ) = 1
t/
U@ = 1-i / dr Hi(r) U (r, ) — UO ¢ 1)
t

(=) /t " i ()
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t/
U t) = 1—¢/ mwﬁ@)meﬂm+U®@¢ﬂ—[mmw¢y+wa¢ﬂ
t

(n[mmmWMQ

WW@(nfwmmWUm)

t
t/ T1 Tn—1
(—Z)n/ dTl/ dTQ.../ dTn H[(Tl) H](Tn)
t t t

_an et t’ t’
= %/ dTl/ dTg.../ dTn yH[(Tl) H[(Tn). (960)
: t t t

The last equality is illustrated for the second term U® in the following. The integration

t’ T1
/ dT1/ dTQ H](Tl)H](TQ)
t t

can also be performed by first integrating over 72 but changing the integration limits (check!).
Thus we can write the integration as the sum of the two expressions (multiplying with 1/2),

1 t’ T1
= 5/ dT1/ dT2 H](Tl)H](TQ)

t ¢
1 t/ t/
+§/ dTg/ drm H[(Tl)H[(Tg),
t T2
Now the integration can be extended by adding theta functions,

1 t’ t/
5/ dT1/ dre Hi(m1) Hi(m2)0(11 — 72)
t t

1 t t/
—+ 5/ dTg/ dm H[(Tl)HI(T2)‘9(TI - 7'2)7
t t

which can be rewritten (by interchanging in the second term the names of the integration variables)

= %/t dTl/t dro [Hi(m) Hi(12)0(11 — 72) + Hi(m2) Hi (11)0(m2 — 11)],

the desired result.

The time evolution operator, therefore, can be written as

[o'e) _' n t/ t/ t/
U(tl,t) = Z (—l) dT1 dro ... dTn cgI{[(Tl) H](Tn)
0 n! t t t
t/

T exp (—z/t dTH](T)). (9.61)
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source detector
- '
T t t T
L L+Jg L

Figure 9.1: Physical picture of vacuum to vacuum amplitude in presence of a source term

This is not a surprising result. We can again rewrite the time-ordered products as functional integrals
as derived in the previous section,

(@ g, )" = (¢ ,t'|T exp <_Z/t dTHz(Q(T))> lq,t)"=°

= /Qq 9% exp <—i /tt/ dTH]((])) exp <z /tt/ dr [pg — HO(PaQ)])

z/@q@% exp <z/t dr [pd—H(p,q)]). (9.62)

The combination of exponentials in the last step is allowed because we are simply dealing with classical
quantities (not operators!).

9.5 The generating functional for time ordered products

By introducing a source-term, L(q,q) — L(q,q) + J(t) - ¢, it is possible to switch on an interaction,
physically pictured as, say, the creation of an electron (think of a radio-tube, making the electron) and
the absorption of an electron (think of a detector). Before and after these processes there is only the
vacuum or ground-state |0). Consider, furthermore, a set |n) of physical eigenstates. The Heisenberg
state |g,t) is related to the Schrodinger state |q) by |g,t) = e*t|q), i.e. for the physical states

(g, tln) = (g|n) e=*5n* (9.63)
with (g|n) the time-independent wave function, for example

(x|n) = o¢n(x) = e for plane waves,

(zlny = e=“"#*/2 for g.s. harmonic oscillator.

Considering the source to be present between times ¢ and ¢/, which in turn are embedded between an
early time T and a future time 77, i.e. T <t <t <T’, one has

/-@q exp (Z/t dr [L(g, q) +J(T)Q]> : (9.64)

/dq' dg(Q". T'd' . ¥') (¢, ¥ |a. t)” (¢,|Q, T), (9.65)

(d.tq,t)’

(@, 1'Q,T)’

with

(@t1Q,T) = (g, tln) (n|Q,T) =Y ¢n(q,t) ¢5(Q) e 7. (9.66)

n



Path integrals and quantum mechanics 82

Figure 9.2: Analytic continuation of boundaries T and T’

We can project out the groundstate by an analytic continuation in the time, T'— i co and T — —i oo,
in which case e?#»T — e~ Fn* and the term e'®°7 is dominant, thus

(q,t1Q,T)

A BT 45 (Q) Po(q,t).
We define the generating functional Z[.J] as
: (.10, 1)
Z|J| = lim - - 9.67
L= I TR @) Q) 97
T — 100
— [ dd da 63040110 ¥la.t) énla0) (9.65)
= <Oout|0in>J- (969)

The factor that has been divided out in the first line of this equation is a numerical factor depending
on the boundaries of the space-time volume (T and T”). The generating functional precisely represents
the vacuum to vacuum amplitude from initial (’in’) to final(’out’) situation in the presence of a source.
The importance of Z[J] is that the time ordered product of operators can be obtained from it. Since
we have (neglecting multiplicative factors),

2= / 9q exp <@ /T " i [L (q,%) +J(T)q(T)D, (9.70)

T — 100
one immediately finds

5" Z[J]
5Tt - 0d (L)

hence the name generating functional.

=(@)" (0[7 Qt1) ... Q(tn)]0), (9.71)

J=0

9.6 FEuclidean formulation

The above expression (Eq. 9.70) for the generating functional is in fact ill-defined. Better is the use
of imaginary time ¢t = —it, such that

t — 100 — t — —o0,

t — —ioco — t — 0.
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In terms of the imaginary time we can write the Euclidean generating functional,

Zpld] = /9‘1 exp (/_O:O dr [L (q,i%) +J(%)q(%)D (9.72)
_ / Pq exp < /_ O:O a7 {LE <q, %) - J(%)q(%)D , (9.73)

L (q, %) =_r <q,i%> , (9.74)
L(q,%) - (%)Q—V@) (9.75)

= *% <%)2V(Q),
LE< @) - %(@)2+V(q), (9.76)

where

e.g. when

Gt i

which is a positive definite quantity, ensuring convergence for the functional integral Zg[J]. As
discussed in the previous section the interesting quantities are obtained from functional differentiation
with respect to the sources. The differentiations in Z[J] and Zg[J] are related,

1 5" Z[J)
Z[J7] 37(t1) ...0d(t)

oy L " Zg|J)
o ) ZplJ) 6J(t)...0J(t,)| /=07
t

(9.77)

where the expressions have been divided by Z[J] and Zg[J] in order to get rid of dependence on
multiplicative factors.

Exercises

Exercise 9.1

Convince yourself by choosing an appropriate (orthonormal) set of functions that

1 1
YDa exp| —=aKa | = ,
/ p( 2 ) vdet K

for real-valued functions,
1

det K~

/@a Pa" exp (—a" K a) =
for complex-valued functions and
/@9* 20 exp (—0" K 0) = det K.

for Grassmann valued functions. In all of these cases the determinant of the (hermitean) operator
K is defined as det K = [[, K, where K, are the eigenvalues of the matrix Ky, in K(z,y) =

Zm,n fm () Kmn In (y)-

Exercise 9.2

Check the examples of functional derivation for real-, complex- and Grassmann-valued functions.
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Exercise 9.3

Prove the following relations

1 1 1
Da exp|——aKa—aw | = ex —wK1w>,
/ P( 2 > vdet K p<2
/@a* Do exp(—a*Ka—a'w—w'a) =

* —1
ot K exp (w K w) ,
/@9* 20 exp (—0* K0 — 0*n—n*0) = det K exp (n* K~ ' n),

where [dy K(z,y) K~ '(y,z) = 6(z — 2).

84
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Chapter 10

Feynman diagrams for scattering

amplitudes

10.1 Generating functionals for free scalar fields

The generating functional for quantum fields is a generalization of the results in the previous section
to a system with more degrees of freedom, i.e. ¢(x,t) is considered as a set of quantum operators

¢z (t) in the Heisenberg picture and

(¢ s 2/ ¥ |p;m,t) = /.@gf) 911 exp <z /ttl dr &z [H(z)(b(z) — %(gb,ﬂ)})
= /.@gf) exp <z /:/ d*z f(:r))
and
Z[J] = . l_l)mwo /.@¢7 exp <2 /TT/ d*x [Z(¢,0,0) + qu])

— —100

X
= [ 20 oo (- [ dn 12006.00) - 19)

(10.1)

(10.2)

(10.3)

The Euclidean formulation is as before, implying at the level of four vectors in coordinate and mo-

mentum space (when k-« = kg - xg) for instance

2t =iz0 =it k= —i k0

zox= ()2 = T @) = =Yl @) kek= (K02 - L (k)= -3,

d*rp =id' d*kp = —id*k

& =5 0up0"p — 5 M ¢ Zp =5 (050)° + 5 M* ¢*

)
Furthermore we find the n-point Green functions

" Z[J]
0J(x1)...6J0(zn) |,

017 ¢(x1) ... ¢(x,)|0) = (—i)" =G (21,...,20),

85
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for which we introduce the picture

() Xl \M Xn
GO (z1,.. . a0) = Xy ) .
— o°

These Green functions appear in the expansion

Z[J] = Z%/d4$1...d4xn G (x1,...,20) J(x1) ... J(zn). (10.5)

Zy|J] for the free scalar field

For the (free) scalar field lagrangian

1 1
&L = 5 0.00"6 — 5 M, (106)
the generating functional is (using 8: = — 82) given by
1
Zo[J] = /% exp —z’/d4:c ¢ (9,0" + M?)p— Jo (10.7)
PR
K

where K, = (0,0" + M?)§*(z — y). As discussed in the previous section (exercise 9.3) one finds

Zo|J] = exp (%i/d4xd4y J(z) Ap(z —y) J(y)) = exp (i Wo[J]), (10.8)

where we made the choice Zy[0] =1 and
(0,0" + M?) Ap(z —y) = —6*(z — y), (10.9)

i.e. Ap (the socalled Feynman propagator) is the Green’s function of the Klein-Gordon equation.
Furthermore, with Zy[0] = 1, one immediately sees that

(=i)? _ 8°ZolJ]

= _ (2 X, —x X
= Z0l0] 370 ()|, ~ o (m—a) =" 2 (10.10)

J=0

iAF(:Cl — :CQ)

In order to determine Ap, consider the general solution of
(00" + M?) A(z) = —6*(z),

which can be written as

A(z) = / (;lﬁ]; e T A(E) (10.11)

with (k2 — M?)A(k) = 1 or

1 1 1
- - (10.12)

A(k) = R2-M2 T (W02 K2 M? (K02 — B2

Depending on the path choosen in the complex k° plane (see exercise 7.4) one distinguishes
the retarded Green’s function

d4k/’ e—ik»z
Ar(z) =/(27T)4 e (10.13)
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satisfying Ag(x,t) =0 for t <0,
the advanced Green’s function

d4l€ efikm
Aalz) = / on)i 0 i~ B (10.14)

satisfying A4 (x,t) =0 for t > 0,
the causal Green’s function

d4k? e—ik»z d4k? e—ik‘m
Ac(z) = _ 10.15
c(@) / (2m)* (K0)2 — B2 +ic / @m)* k2 — M2 +ic’ (10.15)

and finally the Green’s function

_ d4k e—ik»z

They are solutions of the inhomogeneous equation. The solution of the homogeneous equation
(auau + M2) A(x) = 0 can also be written as an integral in k-space,

d4k efikm
A(SC) - /C (277)4 k2 — M2’ (1017)
where C is a closed contour in the complex k°-plane. The contours for
iA(x) = [¢(x),0(0)] = iAy(2) +iA(2)
3k ;
i A _ _ _ —ik-x
¢ +(‘T) [¢+(‘T)a¢ (0)] / (27T)3 2Ee

3
iA_(x) = [¢_($),¢+(0)]:/(2:)73kw6—ikm

are also shown in exercise (7.4). It is straightforward (closing contours in the appropriate half of the
complex plane) to prove for instance that

iAc(z) =0(2")i A (z) — 0(—2)i A_(2). (10.18)

Thus we see various solutions. In order to see which is the appropriate Green’s function to be
used in the generating functional Zy[J] we will take two routes. The first possibility is to consider the
well-defined Euclidean formulation, the second is to explicitly consider (0|7 ¢(x1) ¢(z2)]0).

e Firstly, in the (well-defined) Euclidean formulation starting with £p = 2(05¢)* + 1 M?¢? -
J¢ with the equation of motion ((9%)* — M?) ¢(z) = —J(z), the generating functional can be

written
1
ZolJ] = /% exp (/ d*zp &qﬁ(agag — M?) ¢+J¢D (10.19)
1
= exp (—5 /d4xE d*yp J(z) (=i Ap(z —y)) J(y)) , (10.20)
where
((0)? = M?) (i Ap(z — y)) = —0"(z — y) (10.21)
or (see fig. 10.1 for countours)
EQ=oco 4 —ikg-x
. E d kE e E'TE
AF(.’L') = —1 /ko . W W (1022)
kK0=ico 34 —ik-x
d*k e
= /ko:_ioo —(27r)4 = (10.23)

where the latter contour can be deformed to the contour for A¢, i.e. Ap = Ac.
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0 0
k2 k

Figure 10.1: Contour in the k® plane for the Feynman propagator in Euclidean and Minkowski space
g

e As the second possibility, we use the fact that iAp(z —y) = G®(z —y) = (0|7 ¢(x)d(y)|0) to
calculate Ap via the time-ordered product. We find (see also section 7.3)

i Ap(x —y)
= (0[.7 ¢(z) #(y)|0)
= 0(z° — y°)(0]p(x) p(y)|0) + O(y° — 2°)(0lb(y) ¢(x)|0)
= 0(z" — y°)(0]p1(2) - (1)]0) + 0(y° — 2°) (0] () 6 (2)[0)
= 0(z — y°)(0][p4 (), o—()]|0) — O(y° — 2°)(0[[¢— (x), D+ (1)]]0)
=0 —y)iA (x—y) -0y —a°)iA_(z—y)
=iAc(z —y), (10.24)

the same result as above.

Knowing the explicit form of Zy[J] it is straightforward to calculate the 4-points Green’s function.

It should be clear that Ggl) can be expressed in terms of GSQ) = ¢ A, because this is the only quantity
entering Zy[J]. Neglecting multiplicative factors or equivalently assuming that Zy[0] = 1, we have

G (w1, w2, w3, 24) = (017 (21) d(w2) $(3) d(4)|0)

= (—i)"* 5J(x1).5.4. 67 (ws) 7 (_%i/JAF J) J=0

=—[Ap(r1 — 22) Ap(xs — x4) + Ap(x1 — 23) Ap(22 — 24) + Ap(21 — 24) Ap(z2 — 23)],
(10.25)

or diagrammatically
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10.2 Generating functionals for interacting scalar fields

When interactions are present, i.e. Z(¢) = % (d) + -Z1(¢), the generating functional can be written,

ZlJ]) = /% exp (z‘/d‘lx [Z0(0) + Z1() +J¢]) (10.26)
< (ifen (i)

/@¢ exp <z’/d4x [L(¢) + J¢]> (10.27)
(e[ (5t)

exp (—% i / o d'y J(z) Ap(z — ) J(y)) (10.28)

= exp <%/d4zd4y 6¢(zw) i Ap(z —y) %@))
exp (z‘/d4z (L1 (¢) + J(z)¢(z)]> L_O. (10.29)

This expression will be the one from which Feynman rules will be derived, with propagators (i Ap)
being connected to vertices (i %) according to the above expression for the functional Z[J].
Consider as an example the interaction

g
Z1(¢) = - ¢!
in the scalar field theory discussed sofar. To zeroth order in the coupling one has
1
Z(go)[J] = Zp[J] = exp (51' /JAF J> , (10.30)
and in zeroth order
G0.9°) — G =1, (10.31)
G (@), 22) = G (@1, 22) = i Ap(ay —a2) = X1 X—XXZ (10.32)

—x

G(4’g0)(1}1,1’27$37$4) = G84) (l‘l,xQ, 3, $4) =

* x (10.33)

To first order in g one has

ACRI | z‘/d“zﬁ; G 6;22)) exp <%i/JAFJ)

= % d*z {3 AZ(0) + 6i Ap(0) [/ d*z Ap(z — ) J(x)} 2

+ [/d4zAF(zz) J(x)r} exp <%z /JAFJ). (10.34)

Introducing a vertex point to which four propagators are connected.

>z< = 7ig/d 2 (10.35)
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one has
J J
1 1 1
AR <§ O -4 O + 53 >< )ZO[J], (10.36)

from which one obtains

o1
gos = L Sy (10.37)
1 1 VA 1
G (5 19) = & 1 O , (10.38)
8 Xy x, 2%X1 Z7%

The result for the 4-points Green’s function is left as an exercise.

Connected Green’s functions

We have now seen the Green’s functions as the quantities appearing in the expansion of the generating
functional Z[J],

=3 % /d4x1 drz, G (2, ) J(x1) . I (@) (10.39)

We have calculated the function up to first order in the coupling constant for ¢*-theroy. In the free
case we have seen that the exponent of Z[J] contained all essential information. Diagrammatically
this exponent only contained the two-point function, which also was the only Green’s function for
which the diagram was connected, i.e. did not contain parts that could be written as products of
simpler Green’s functions. This remains also true for the interacting case. To see this write

ZIJ] =exp(iW[J]) or iW[J]=InZ[J], (10.40)
with (by definition) the expansion
n—1

W[J] = Zm /d4x1 dbz, G (2, ) J(21) . T () (10.41)

in terms of socalled connected Green’s functions,

"W J]
0J(x1)...0J(xn)

\/\(X
(n) T1,...,Tn
G ( ) = /U

G (... an) = (—i)" 1 , (10.42)

J=0

which are denoted

Specific examples are

GO = Q (vacuum bubble)
G (x1) = —Q (tadpole)
G(Q) (21, 2) “_OH connected propagator)
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To see that Z[J] = exp(i W[J]) contains all non-connected diagrams can be performed inductively,
but is easily illustrated by writing down the first few terms. If

iw= O +z’/d4x1{ —0) }+g/d4z1d4x2{ —{)— 3

then
expiW[J]) = 1+ iW[J] +(ﬂ/V2[!J])2+(iW;[!J])3+.“
= 1
+ O +i/d4z1{ x Q }+;—2!/d4x1d4z2{ x—@—x }
A0 ey | —O—
+%Q+i/d$1 Q +§/d$1d$2 Q
+ X4©
o—
e (—@) [—o—
+$Q +i/d4$1 i@ +§/d4x1d4x2 LQ
Q 2! Q 2! Q
—@
F @—
O
+ ...
Notes:

(i) In G™ the connected Green functions G appear with particular combinatorial factors (accounted
for in the definition of Feynman rules to be discussed later).

(ii) Note that Z[0] = exp(iW[0]) appears as a multiplicative factor, in the expansion of which all
vacuum blobs are contained,

These can be divided out. In the expansion of Z[J]/Z[0] one (by definition) has the socalled source
connected Green’s functions ng).

(iif) G = G,

(iv) If
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i.e. the vacuum expectation value of the field ¢(x) is zero, implying the absence of tadpoles, then
ng) = Gén) for n < 3.
For the free scalar theory, considered explicitly, we have

WolJ] = —%/d4xd4y J(x) Ap(x —y) J(y), (10.43)

implying as expected as the only nonzero connected Green’s function

S2W1J]

; _ 2 _
(‘Um =Gy (x1 —x2) =i Ap(z1 — x2). (10.44)

J=0

G(Q) ($1 — $2) =

(&

For the interacting theory, one finds for the connected 4-point Green’s function at order g,

Xq Xq

G((:47g1)($1,$2,$3’x4) = >Z< (1045)

X5 X4

as the only surviving diagram (see exercises).

10.3 Interactions and the S-matrix

The S-matrix

The S-matrix transforms initial state free particle states (in-states) |a;in) = |p1,...pn;in) into final
state particle states (out-states) |B;out) = |p},...ph,;out) (suppressing except momenta all other
quantum numbers),

Sga = (B;out|asin) < (B;in|S = (B; out|
< Jaginy = Sla; out). (10.46)

The properties of the S-matrix are
(1) The vacuum is invariant or |Spo| = 1.
Proof: (0;in|S = (0; out| = €?2(0;in| (choose o = 0).
(2) The one-particle state is invariant (conservation of energy and momentum; translation invariance),
(p;in|S|p;in) = (p;out|p’;in) = (p;in|p’;in) = (p; out|p’; out) = (p|p’).
(3) S is unitary (it conserves the scalar product from initial to final state).
Proof: {a;in|S = (a;out| and ST|a;in) = |a; out),
thus (3;in|SST|a;in) = (B; out|a; out) = 645 < SST = 1.
Next, this will be translated to the action on fields. Also for free field (Heisenberg) operators a
distinction is made between ¢;, and ¢,:. In line with the consideration of the generating functional
representing the vacuum to vacuum amplitude we consider fields ¢;,, ¢out and the interpolating field

¢(z>’

t=—00 t = +o0

Gin () d(x) Pout (7)

where ¢, and ¢y, transform under the Poincaré group as scalar fields and satisfy the homogeneous
Klein-Gordon equation with the physical mass M, e.g.

(00" + M?) ¢y () = 0, (10.47)
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while ¢ satisfies the inhomogeneous Klein-Gordon equation with the bare mass M (this is the mass
appearing in the lagrangian .%p),

(0,0" + M§) ¢(z) = J(x). (10.48)

The fact that ¢;, and ¢, satisfy the homogeneous Klein-Gordon equation with the physical mass
M implies that they create particles and antiparticles as discussed, e.g.

o) = [ ot ) ) + ' (8) )] (10.49
The field ¢ can be expressed in ¢y, /ous using retarded or advanced Green’s functions,

(0,0" + M?) ¢p(z) = J(x) + (M? — Mg)¢(z) = J(z) (10.50)

8(0) = VZoun(a) ~ [ d'y e~ 1) T(w)

= VZ¢in(z) — /d4y d*z Ar(x —y) K(y, 2) ¢(2) (10.51)
&) =V Zou () — /d4y d*z Aa(z —y) K(y, 2) ¢(2), (10.52)

where Z is a constant, which in a later stage (renormalization) will become more important.

Although the above, as it stands, implies the strong (operator) convergence ¢(x) — v/ Z i, (2), this
can actually not be used as it would imply [¢(z), d(y)] = Z [din (), Ppin(y)] = iZ A(xz —y), a causality
condition that can be proven to imply the absence of interactions. The convergence therefore must
be weakened to

(alef (1)8) ==° VZ{alg!, (1)8) (10.53)

for normalizable states |o) and |8) and ¢/ (t) = [ d3(z) f*(z)i do ¢(x) with f a normalizable solution
of the Klein-Gordon equation (wave packet). Considering plane waves one sees from

<0|¢(-T)|p> = t{l& \/Z<O|¢Out ($)|p> _ \/Ze_ip'z
Jim VZ (Ol (@)lp) = VZe 77

that identical normalization of (single-particle) plane waves in initial and final state implies the same
wave function normalization Z for in and out fields.
The relation between S-matrix and in- and out-fields is: ¢, (2) = S dout (z)S 1.

Proof: '
(B; OUt|¢out = { <<ﬂﬁ,7;;:||s¢g:)i } - ¢zn S = S(bout(-r)-

Finally we check that as expected S does not spoil Poincaré invariance, i.e. S is invariant under
Poincaré transformations: U(A,a)SUT1(A,a) = S.
PI‘OOfI (bzn(Ax + a‘) = U¢zn(z)U_1 = USQSout(x)S_lU_l = US U_lU ¢out(x) U_lU S_IU_l
=USU ' ¢out(Ax +a)USTIU & USU! = S.

The relation between S and Z|[J]

To establish this relation, the source term J¢ in the lagrangian density is treated in the interaction
picture. The time evolution operator (see Eq. 9.62) is then

UL'[J] = T exp <z/ dz J(m)qﬁ(x)) , (10.54)

T
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and satisfies the property
oUZ[J]
0J(x)

= iU} [J) ¢(x)ULLJ), (10.55)

or for U[J] = U= [J]

= UG

J] (10.56)

OO[
X i ¢(@) U] = iVZ Gou () U]
220 iU é(@) — iVZ U] in(z).

Since §U[J]/6J(z) satisfies the same equations as ¢(z) and we know the limits, we can, just as we did
for ¢(z), express it in terms of advanced and retarded Green’s functions,

ULy o [ - SUJ]
) iVZ U] gin () /d yd*zAg(x —y) K(y, 2) 57(2)
= iVZ pour(x) U[J] — /d4y d*zAx(z —y) K(y, 2) (;[j([j)]
Taking the difference between the two expressions
VZ ($our() U] = U] din ()
_ z’/d4y B2 (Dr(z —y) — Az — ) Ky, 2) 221 (10.57)
T8 (2)
or . o 5
(6@). SUVN) = = [ dy ' A = ) 0.2) 55 SULL (10.58)

In order to find a solution to this equation note that, with the use of the Baker-Campbell-Hausdorff
formula e=? AetB = A + [A, B] (for the case that [A, B] is a c-number), one has

[A’ eB] = [A’ B]eBa (10.59)
[A,eP e = [A, B+ CleP e, (10.60)

provided [A, B] and [A, C] are c-numbers. Thus applied to the field ¢(x) = ¢4 (z) + ¢— (),

(@), f 226~ 1) o #0600 1)

- /d4y [6(x), $(v)] f(y) ef T'20-(IC) o d204() F),

i.e.

[6(@),: e 20D ] = / d'y Az —y) f(y) e T2ODIE) (10.61)

where the normal ordered expression : el of s used, which is equal to the expression el 9-1 el o+f
in which the creation operators are placed left of annihilation operators. Thus

SU[J] =: exp 1 d*x d*y din () K (z,7) o . FlJ], (10.62)
VZ 37 (y)

where F[J] is some (arbitrary) functional. Noting that (0] : e? : |0) = 1 it follows that

F[J] = (0[S U[J]]0) = (O[U[J]|0) = (Oout|0in) ox Z[J], (10.63)
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while for J = 0 one has U[0] = 1, i.e.

= L 41‘ 4 - (x €T L . @

Therefore, an S-matrix element between momentum eigenstates in initial and final states is found by
considering those source-connected Green’s functions (action of §/6J on Z[J]/Z[0]) where the external
sources J(z;) are replaced by the particle wave functions (which are the result of acting with ¢, (z;)
on momentum eigenstates). Note that the Green’s function connecting the external point x; with the
bubble is annihilated by K(z,y).

Usually we are interested in the part of the S-matrix describing the scattering,

(10.64)

J=0

Spi=6p—i(2m) 6N (P, — Py) My, (10.65)

which is obtained considering only connected diagrams.
Explicitly, using that

3
6la) = [ g [ah) fla) + ol () £i(@)].

we get the Lehman-Symanzik-Zimmerman (LSZ) reduction formula,

L\" —
o SIp,..) = 6+ (—) /d4m’...d4x... “(x) . K ..
o' 1Slp;- ) 77 [y (@)
x G (!, .z, ) iKy . fp(T) . (10.66)
where Gén) is the connected Green’s function, iK, = (O, + M?) precisely annihilating an external

propagator iAp in the Green’s function.
Next we introduce the Fourier transform (after extracting a momentum conserving delta function
coming from translation invariance, see exercise 10.2),

(2m)* 54(p1 +...4pn) G(”)(pl, ey Pn) = /H dz; etPii () (x1,...,2n), (10.67)
i=1

and the (amputated) Green’s functions

—1

G™ (p1,....pn), 10.68

T (p,.oma) = [ ]]
j=1

where A(p) is the Fourier transform of the (full) propagator Ap(z). It is straightforward to check
that the S-matrix element now precisely is given by the amputated Green’s function multiplied with
the momentum space wave functions of the particles in initial and final state (by which we refer to
the quantities multiplying the plane wave e**P® in the field expansion, i.e. 1 for scalar case, u(p),

v(p), a(p) and o(p) for fermions and 69) (p) for vector fields).

10.4 Feynman rules

The real scalar field

The procedure to obtain the matrix element is commonly summarized by a set of rules known as
Feynman rules. They start with the propagator (iAr(k)) in momentum space, which is determined
by the inverse of the operator found in the quadratic term in the lagrangian i.e.

i
k2 — M2 + ie

ek
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(in fact the inverse of the operator found in the quadratic term is for real scalar fields also multiplied
by a factor 2, which cancels the factor 1/2 in the quadratic piece; the factor 2 corresponds to the
two-points Green’s function having two identical ends).

For the interaction terms in the lagrangian, to be precise i.Z; vertices in momentum space are intro-

duced,
=—ig

(multiplied with 4! corresponding to the allowed number of permutations of identical particles). At
these vertices each line can be assigned a momentum, but overall momentum conservation at a vertex
is understood.

Corresponding to external particles wave functions are introduced

4<Hk 1
— -k
—Fk !
In order to calculate the connected amplitude —i.#%; appearing in the S-matrix element these
ingredients are combined using Eqs 10.66 and 10.27, which is summarized in the following rules:
(Rule 1) Start with external legs (incoming particles/outgoing particles) and draw all possible topo-

logically different connected diagrams, for example up to order g2 the scattering of two neutral spin
0 particles (real scalar field) is described by

X@@Q@%

(Rule 2) The contribution of each diagram is obtained by multiplying the contributions from propaga-
tors, vertices and external particle wave functions in that diagram. Note that in calculating amputated
Green’s functions external lines are neglected, or calculating full Green’s functions external lines are
treated as propagators.
(Rule 3) Carry out the integration over all internal momenta (keeping track of momentum conserva-
tion at all vertices!)
(Rule 4) Add a symmetry factor 1/S corresponding to permutation of internal lines and vertices
(keeping external lines fixed). If problems arise go back to the defining expression for the generating
function in 10.27.

For the symmetry factor consider the examples (given in G. ’t Hooft and M. Veltman, Diagrammar)
in the case of the interaction terms

Zi1(¢) = *%

Consider first the lowest order self-energy diagram,

VRN
NP

9
- Lot (10.69)

The vertices are:
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Draw two points corresponding to the two vertices and draw in each of these points the lines coming

out of the vertices: \J-/

Now count in how many ways the lines can be connected with the same topological result. External
line 1 can be attached in six, after that line 2 in three ways. Then there are two ways to connect
the remaining lines such that the desired diagram results. Divide by the permutational factors of the
vertices, which have been included in the definition of vertices (here 3! for each vertex). Finally divide
by the number of permutation of the points that have identical vertices (here 2!). The total result is

1_6><3><2_1
S 3132l 2

As a second example consider the diagram
—(O—

After connecting line 1 (6 ways) and line 2 (4 ways) we have

T N N

leaving 6 X 3 X 2 ways to connect the rest as to get the desired topology. Dividing by vertex factors
and permutations of identical vertices, the result is

I 6x4x6x3x2 1

Soo3i3t4tal 27

There are three vertices,

Complex scalar fields

The case of complex scalar fields can be considered as two independent fields, or equivalently as
independent fields ¢ and ¢*. The generating functional in the interacting case can be written as

AR
= /% 2¢* exp (z‘/d4:c [¢* (—0,0" — M?) ¢+ L1(¢) + J ¢ + J¢>*])

exp (Z’/Cmﬂ (% éJiz)’ % 6Jf(z)>)

exp (— / o d'y J* (@) idp(z — y) J(y)) . (10.70)

In Feynman diagrams the propagator is still given by iA g (k), but it connects a source with its complex
conjugate and therefore is oriented, denoted

i
k% — M2 + ie

— .k _

Note that in this case the propagator does not have identical ends, i.e. there is no combinatorial factor
like in the scalar case.
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Dirac fields

For fermions the generating functional is given by

Zin,m = /QE%P exp (i/d“w [ (ip — M)+ Z1(¥) + T +E77])

- olifoan ety -t
exp (= [ atadtyme)iseta =)o), (10.71)

where iSr is the Feynman propagator for fermions, which is the solution of (i — M)Sr(z) = —6*(z)
(i.e. minus the inverse of the operator appearing in the quadratic piece) and is given by

iSr(x—y) = (0.7 P(x)p(y)|0) =

= (iffs + M)iAp(z —y) (10.72)
d4 —ip-x M
- / (27'(1))4 € p2 16]4\_42 + i€’ (1073)

and the (oriented) propagator in Feynman diagrams involving fermions is

C-p ( i ) _ i+ M);i

= p-M+tic),  p*-M2+ic

The time ordered functions are obtained by functional derivatives from Z(7,7), but the anticommu-
tating properties of Grassmann variables imply some additional minus sign in Feynman diagrams,
namely

(Rule 5) Feynman diagrams which only differ by exchanging identical fermions in initial or final
state have a relative minus sign, e.g. in e"e~ — e~ e~ scattering (Mgller scattering) the lowest order

contribution is —~
s
T TN

(see next section for e-e-y vertex).

(Rule 6) Each closed fermion loop gets a sign —1.

The latter rule is illustrated in the example of an interaction term .Z; = : gi)(x)y(z)¢(x) : in an
interacting theory with fermionic and scalar fields. The two-points Green’s function (0.7 ¢(z) ¢(y)|0)
contains a fermionic loop contribution,

which arises from the quadratic term in exp (z i d*z 02”1),

9_2 zZ Z/ 52 52
5 / 0 S ene) i) on(?)

and the quadratic term in Zo[n,7],

—5 [ dedyds’ dy TS~ ) 7E)SE ~ V0l
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The result is
x g?S(z—2)S(2 —2) = —g%iS(z — 2")iS(¢ — 2),

which contains an extra minus sign as compared to a bosonic loop.
The wave functions for fermions are given by

: p (
> i(p)  outgoing fermion
i —=P¢

u; (p) incoming fermion

vi(p) incoming antifermion

)—47 v;(p) outgoing antifermion

In writing down the expressions for Feynman diagrams one has to be aware that the wave functions
and the propagators have more than one component. It is necessary to start at the end of a fermion
line (with the above arrow convention an outgoing fermion wave function @ or an incoming antifermion
wave function ¢) and keep on following that line, writing down the propagators till the beginning of the
line (incoming fermion u or outgoing antifermion v) has been reached. As an example some scattering
processes in quantum electrodynamics will be discussed in the next section after the introduction of
the Feynman rules for vector fields.

Vector fields and Quantum Electrodynamics

As the most important example of vector fields consider the lagrangian density for quantum electro-
dynamics (QED),

v _i B P — %(a AR 40P — M)y — e 9yt A, (10.74)

In addition to the fermion propagator and fermion wave functions discussed in the previous section
we have the photon propagator!

— k | 9w 1 kuk,
= — (1=
TEAVAVAVAVARY ¢ [k2+’i6 < )\> (k/’2+’i6)2 )

where the k,k, terms in the case where the photon couples to a conserved current (such as Ev“w)
will not contribute. Particular choices of A are A = 1 (Feynman propagator or Feynman gauge) and
A = oo (Landau gauge). The wave functions are given by

k .
"RaVAVAVAVY €u(k) incoming photon
—k
DAVAVAVAVE" €, (k) outgoing photon

The vertex for the coupling of photon to the electron is given by

/i = —ie(yu)si
[ i

IFor a massive vector boson inversion of the quadratic term including the Lorentz constraint oc %(8W4“)2 leads to
the propagator

. . —9uv kfuk?u
Duw(k) = i|——2 4 (1- = :
1Dy (k) Z|:k2—M2+i5+( A) (k2 — M2 + i) (k2 — LM2 1 ic)
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10.5 Some examples

ey scattering

The first example is the electromagnetic scattering of an electron and a muon. To lowest order (ox o =
e? /47) only one diagram contributes. The diagram and momenta and the commonly used invariants
(Mandelstam variables) for a 2 — 2 scattering process are

E+p)?=m?>+M?>+2k-p
E4p)?=m?+ M*+ 2k -p/
k—k)=q¢>=2m> -2k K
/)2 -9 ]V[Q ) l"?jl
E—p)=m?+M*-2k-p
Y=m?+ M2k -p

3 S

E‘E K t

I
~~ N N /N /N
s
I
S

1
Poes? -
2 4

s + t+u:Zm§ =2m? +2M?
The scattering amplitude is given by

il = (K 55) (=ie)y ulk, 1) = 3 00, 54) (i) ulp,52), (10.75)

Note that the g"¢” term in the photon propagator are irrelevant because the photon couples to a
conserved current. If we are interested in the scattering process of an unpolarized initial state and we
are not interested in the spins in the final state we need |.#|? summed over spins in the final state
(2_4,.5,) and averaged over spins in the initial state (1/2x1/2x 37 ) which can be written as (see
also chapter 4)

1 e?
PR 1 > a(k, sa)y"ulk, s1) = (', sa)vuu(p, s2)|?

5$1,582,83,54

=

4
€ m v(M
po Lim v (M), (10.76)

[using that (a(k’)y,u(k))* = u(k)y,u(k')], where

1 _ _
LELTZ}) = 3 Zu(k', yuulk, s)u(k, s)yv,u(k', s")
1 !/
= 5T +m)y(f+ m]
= 2[kukl, + koK), — g (k - K" —m?)]
= 2kuk, +2kk), + ¢* guv (10.77)

Combining L\ and L* (M) one obtains

L M) = 2 (8% 4 u? + 4t(M? + m?) — 2(M? +m?)?] (10.78)
and )
2 2
g = % [s? 4+ u® + 4t(M> +m?) — 2(M* + m®)?] . (10.79)
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e et — p ut scattering

The second example is the annihilation of an electron pair and creation of a muon pair. To lowest
order (o< a = €2/4r) only one diagram contributes. The diagram, the masses, momenta and invariants
are

K s = (k+k)=@p+p)’

Lo
Y = (b-p) = (-
///w R\ t = (k—p)y =k —p

The scattering amplitude squared (spins summed and averaged) is given by

u = (k—p)? =K —p)?

1 €2

P = > lap, ss)y o', sa)

$1,52,83,54

- 6_2 <% Z U(k/’32)7#“(]“’Sl)u(kasl)%v(k’/,SQ))

. o(K', s2)vuul(k, s1)|°

S
81,52

X (% Z u(p, s3)y"v(p’, s4) 0(p', 54)7" u(p, 33)>

53,54
4

= & (5T ) (

N =

S

T+ M~ M) )
64 / / 1 oo v v, I 1 g
= 45—2 kukl,—i—kl,ku—?gw,s pHp” +p"p —39°s

and

M

4m

2
2a?
52

[t2 4+ u® + 4s(M? + m?) — 2(M? + m®)?] . (10.80)

Note the similarity in the amplitudes for ey scattering and e"et — p~p'. Basically the same
diagram is calculated and the result is the same after the interchange of s «» ¢t. This is known as
crossing symmetry. Similarly, for instance Mgller scattering (e"e~ — e~ e~ ) and Bhabha scattering
(emet — e~eT) are related using crossing symmetry.

Exercises

Exercise 10.1

(a) Give in diagrammatic notation the full Green functions G (zy,...x4) for the interacting case
in ¢*-theory to first order in the coupling constant g as obtained from the full expression for
Z[J] in section 10.2.

(b) Use the definition of the source-connected Green function Ggi) and show that indeed source-
connected diagrams survive.

(c¢) Do the same for the connected Green function Gty
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Exercise 10.2

(a) Show that the translation properties of the fields and the vacuum imply

G(")(Jcl +a,...,x,+a)= G(”)(ml,...,xn).

(b) Show (by using z; as shift-varible) that this implies that
/ﬁ diz; PTG (2, ) o (20)4 0 (1 + ..+ pa),
i=1
hence we can write
/ﬁ dia; P GOz, m) = 20 0t (pr + 4 ) G (p1, - pn),
i=1

which means overall momentum conservation in Green functions in momentum space.

Exercise 10.3

Show that the combinatorial factors found using the rules given in section 10.3 reproduce for the
diagrams

oo O

precisely the combinatorial factors that appear in Eqs 10.37 and 10.38.

Exercise 10.4

(a) Write down the Feynman diagrams contributing to electron-electron scattering, e(p1) + e(p2)
— e(p}) + e(ph) in lowest order in «. It is of the form —i.# = Ay — As.

(b) Calculate the quadratic pieces and interference terms,
| #|* = Tyy + Toy — Ty — Toa,

in the amplitude (T;; = AFA;). Express the contributions in invariants s, ¢t and u. Show that
the amplitude is symmetric under the interchange of ¢ < wu.



Chapter 11

Scattering theory

11.1 kinematics in scattering processes

Phase space

The 1-particle state is denoted [p). It is determined by the energy-momentum four vector p = (E, p)
which satisfies p? = E? —p? = m?2. A physical state has positive energy. The phase space is determined
by the weight factors assigned to each state in the summation or integration over states, i.e. the 1-

particle phase space is
/ / dp = 0(0°) (2m)8(p? — m?) (11.1)
27) 3 2F ’

(proven in Chapter 2). This is generalized to the multl-particle phase space

dZ ce s D) = 11.2
(ph 7p £[1 27{' 3 2E ( )

and the reduced phase space element by
d%(s,p1,....pn) = 2m)* 6*(P =Y pi)dZ(p1, ... ,pn), (11.3)

which is useful because the total 4-momentum of the final state usually is fixed by overall momentum
conservation. Here s is the invariant mass of the n-particle system, s = (p1 + ...+ pn)?. It is a
useful quantity, for instance for determining the threshold energy for the production of a final state
14+2+ ...+ n. Inthe CM frame the threshold value for s obviously is

n 2
Sthreshold = (Z mi) . (11.4)
i=1

For two particle states |p,,py) we start with the four vectors p, = (F.,p,) and p, = (Ep, pp)
satisfying p2 = m?2 and pl% = mg, and the total momentum four-vector P = p, + pp. For two particles,
the quantity

s =P = (pa +pp)°, (11.5)

is referred to as the invariant mass squared. Its square root, /s is for obvious reasons known as the
center of mass (CM) energy.
To be specific let us consider two frequently used frames. The first is the CM system. In that case

Pa = (Eg™, q), (11.6)
= (E™, —q). (11.7)

103
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It is straightforward to prove that the unknowns in the particular system can be expressed in the
invariants (mg, mp and s). Prove that

2 —m2)2 — dm2m2 2 2
|q|=\/(8 m2 Trzf) 4mamb:\/)\(s,nia,mb), (11.8)
s s
2 2
E;m _ s+ T;L\U«/_ Tnb7 (119)
s
2 2
pom = ETMa ¥ (11.10)

2V/s

The function A(s,m2,m?) is a function symmetric in its three arguments, which in the specific case
also can be expressed as (s, m2,m7) = 4(p, - pp)* — 4p2 p3.
The second frame considered explicitly is the socalled target rest frame in which one of the particles

(called the target) is at rest. In that case

Pa = (E, DY), (11.11)
Py = (ms,0), (11.12)

Also in this case one can express the energy and momentum in the invariants. Prove that

2 2
prrf = 27 Ma 7 T 11.13
e 2my, ’ ( )

wt; _ VAls,m2,m3)
= VA e ) 11.14
i p— (11.14)

One can, for instance, use the first relation and the abovementioned threshold value for s to calculate
the threshold for a specific n-particle final state in the target rest frame,

1
E(threshold) = S <(Z mi)? —m2 — mg> : (11.15)

Explicit calculation of the reduced two-body phase space element gives

1 d3p1 d3p2 4

d%(s,p1,p2) = (27)2 2B, 2E25 (P —p1—p2)

M 1 d3q
2 5(s—E, — E
(27)2 4 By By (Vo = Br = )

1 - 4 d|q|
_ 0 _E-F
@ M 15, 0V — B Bo)

which using |q|d|q| = (E1E2/(E1 + E2)) d(Ey + E3) gives

lq| d(E1 + E»)

R pure) = e W3 1, Ve - B B)

dmy/s 4w 8rs 4w '

where \15 denotes A(s,m?,m3).
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Kinematics of 2 — 2 scattering processes

The simplest scattering process is 2 particles in and 2 particles out. Examples appear in
T +p — T +p

— 1%4n

— at+77 +n

—

The various possibilities are referred to as different reaction channels, where the first is referred to
as elastic channel and the set of all other channels as the inelastic channels. Of course there are not
only 2-particle channels. The initial state, however, usually is a 2-particle state, while the final state
often arises from a series of 2-particle processes combined with the decay of an intermediate particle

(resonance).
Consider the process a +b — ¢+ d. An often used set of invariants are the Mandelstam variables,
5= (Pa +p)? = (e +pa)® (11.21)
t = (pa —pe)” = (P — pa)® (11.22)
u = (pa —pa)* = (po — pe)? (11.23)

which are not independent as s + ¢ +u = m2 + mj + m2 + m3. The variable s is always larger than
the minimal value (m, +my)?. A specific reaction channel starts contributing at the threshold value
(Eq. 11.4). Instead of the scattering angle, which for the above 2 — 2 process in the case of azimuthal
symmetry is defined as p, - p. = cos 6 one can use in the CM the invariant

cM
t=(pa —pe)? = m2+m2 —2FE,E, +2qq coslem,

with ¢ = /Aap/4s and ¢’ = /Acq/4s. The minimum and maximum values for ¢ correspond to Oep
being 0 or 180 degrees,

max — 2 4m? -2E,E.+2qq

(s +m; —mg)(s +m; —m3) " VAabAcd
25 2s

Using the relation between ¢ and cos ., it is straightforward to express dQcy, in dt, dt = 2 qq’ d cos Oem

and obtain for the two-body phase space element

¢ dQUm oV Acd dQem
4my/s 4w 8ms 4w
dt dt

87y 16mq+/s

(11.24)

— 2 2
= m, +m, —

A (s,pe,pa) = (11.25)

(11.26)

Kinematics of inclusive hard scattering processes

In high energy (hard) scattering processes, usually many particles are produced. In inclusive measure-
ments no particles are detected in the final state, in exclusive measurements all particles are detected.
Consider the 1-particle inclusive case, in which one particle is detected, H; + Hy — h + X. At
high energies, there is usually a preferred direction, for instance the momenta of incoming (colliding)
hadrons and it is useful to use for the produced particle rapidity as a variable. Writing

E =mqy coshy, p.=mqsinhy, pr= (pz,py), (11.27)
with m2 = m? — p2 = m? + p? —i—p;, the rapidity y is defined

1 E+p, E+p, 1 (P
-2 =In (=22 = tanh (—)
s=ym(E) = (5) - (5
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It is convenient because under a boost (along z) with velocity (3 it changes as y — y— tanh ™' 3, which
means that rapidity distributions dN/dy maintain their shape. For large energies and not too small
scattering angles (6 > 1/v) y is approximately equal to the pseudo-rapidity 7,

n = —In(tan(0/2)) = tanh™ " (cos 0), (11.28)
which (only involving angles) is easier to determine. The one-particle phase space in terms of these

variables becomes 5 ) ) )
dp _ dyd’pr _ dydlp:|* d¢ _ |p| dndlp.* d¢ (11.29)
(2m)32E  2(2m)3 1672 27 E 1672 27’ '

with at high energies the factor |p|/E ~ 1.

11.2 Crossing symmetry

In the previous chapter, we have seen that the amplitudes for the processes e” = — e~ pu~ and the
process e~ et — ptpu~ are simply related by an interchange of the variables s and ¢. This is known
as crossing symmetry.

Given a two-to-two scattering process ab — cd one can relate the processes

g\ /d T d d b
2 p4 _%\\ /p4 _a\\ /_(pz

P Y B P
N A ) DN
a Cc a b a c
ab—~cd ac— bhd ad—cb
They are referred to as s-channel, t-channel and u-channel processes respectively. With the momenta

defined as in the figures above one has for all these processes the same amplitude .Z (s, t, u) with

s=(m +p2)2 = (p3 +p4)27
t=(p1—p3)* = (p2 — pa)’,
u=(p1 —ps)® = (p2 — p3)°.

These variables are precisely the Mandelstam variables for the s-channel process (ab — cd). For the
t-channel process (a¢ — bd) one has

5t = (Pa +p6)2 =1,
te = (pa —p3p)° = s,
ut = (pa — pa)® = u,

while for the u-channel process (ad — cb) one has

su= (Pa+p3)* = u,
_ 2 _
ty = (pa _pc) =t,
Uy = (pa 7pl3)2 =S.

Analiticity of the field theoretically calculated result implies

M,

a

M,

a

anga(st =ttt = s,ur = u) = Map—ca(s, t, u), (11.30)
doep(Su = Uty = S,uy = 8) = Map—ca(S, t, ). (11.31)
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One can also phrase it in the following way: one has a single analytic function .#up—cq(s,t,u) that
represents physical amplitudes in the physical regions for three scattering processes. To see this one
can make a two-dimensional plot for the variables s, ¢t and u. This is a consequence of the constraint
s+t+u= M2+ M?+ M2+ M3. To find the physical regions one looks for the boundaries of

1

cosl, = —— [s(t —u)+ (M2 — M) (M2 — M3)],
ab”ted
1

cos by = N [t(s —u) + (Mg — MZ)(M; — M7)]
ac”'bd

cosf, = ! [u(tfs)Jr(ManMdQ)(MngbQ)] .

V Az

This defines the boundaries of the physical regions, shown below for the case of equal masses.

L ac—bd
o, 4
RN A
N ;3
. y
v &
Q t <
o o
T s
cosf; = 1 cosBe= 1
,,,,,,,,,, Lil e AEEEEEEEEE t:o ,,,,,,,,\,\?,,,,,,,,S,,,,,,,,,,
— — ///N \\\
ad—cb /- % ab—cd
y 4 P
/S \ N
) v

11.3 Cross sections and lifetimes

Scattering process

For a scattering process a+b — ¢+ ... (consider for convenience the rest frame for the target, say b)
the cross section o(a+b — ¢+ ...) is defined as the proportionality factor in

N
?:U(a+b—>c+...)-Nb-ﬂux(a),

where V and T indicate the volume and the time in which the experiment is performed, N, /T indicates
the number of particles ¢ detected in the scattering process, N, indicates the number of (target)
particles b, which for a density p, is given by Ny = p;, - V, while the flux of the beam particles a is
flux(a) = p, -v8*f. The proportionality factor has the dimension of area and is called the cross section,
ie.

N 1

. — 11.32
=TV o (11.32)
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Although this at first sight does not look covariant, it is. N and T -V are covariant. Using pi™f =

Py = p0 - B! /m,, (where P is the rest frame density) and v!*" = plab /Elab we have

(0) (0)

Papy Vi = 75“ LN
Mgy
or with p,(lo) = 2Myg,
1 N
_ ) 11.33
T TV (11.33)
Decay of particles
For the decay of particle a one has macroscopically
dN
YN _ N 11.34
- , (11.34)

i.e. the amount of decaying particles is proportional to the number of particles with proportionality
factor the em decay width I'. From the solution

N(t)=N(0)e "t (11.35)

one knows that the decay time 7 = 1/I". Microscopically one has

ey _ N, -T

or
r=——. (11.36)

This quantity is not covariant, as expected. The decay time for moving particles 7 is related to the
decay time in the rest frame of that particle (the proper decay time 7y) by 7 = v 79. For the (proper)
decay width one thus has

1 N

Ty = .
O oM, TV

(11.37)

Fermi’s Golden Rule

In both the scattering cross section and the decay constant the quantity N/TV appears. For this we
employ in essence Fermi’s Golden rule stating that when the S-matrix element is written as

Spi =65 — (2m) 84 (P; — Pr) i s (11.38)

(in which we can calculate —i.#; using Feynman diagrams), the number of scattered or decayed
particles is given by
N = |2m)* 6P, — Py)idlys]” dR(pr,. .., pn). (11.39)
One of the ¢ functions can be rewritten as 7' - V' (remember the normalization of plane waves),
|(2m)t 4P — Py)|”
= (2n)* 64 P, — Py) / dig e FimPr)e

v, T

= (2m)* 0 (P, — Py) /VT d*z =V - T (2n)* 6*(P; — Py).



Scattering theory 109

(Using normalized wave packets these somewhat ill-defined manipulations can be made more rigorous).
The result is

N
TV | A yi|” A% (s, 1, - - n)- (11.40)
Combining this with the expressions for the width or the cross section one obtains for the decay width
r o o= i/d%(nﬁ D1 pn) | (11.41)
m ’ s Pn .
2—body decay q 2
= — [ d9) . 11.42
3212 m?2 / || ( )

The differential cross section (final state not integrated over) is given by

do = 2\/— | A i|* AR (s, p1, - - -, Pn); (11.43)

and for instance for two particles

/
do =1L

q

(3, 00m)|?
8m\/s

This can be used to get the full expression for do/dt for ey and ete™ scattering, for which the
amplitudes squared have been calculated in the previous chapter. The amplitude —.# /87+/s is the
one to be compared with the quantum mechanical scattering amplitude f(FE,#), for which one has
do/dQY = |f(E,0)|?. The sign difference comes from the (conventional) sign in relation between S and
quantummechanical and relativistic scattering amplitude, respectively.

M(s,0)|?
4

™

dQcm =3
)\ab

dt. (11.44)

11.4 Unitarity condition

The unitarity of the S-matrix, i.e.
implies for the scattering matrix .#,

[0pn +i(2m)* 68 (Py — Pu) (V) 0] [6ni — i(2m)" 64(P; — Pr) Mi] = by,

—1 ['///fi - (///T)fi] == Z(*///T)fn (27T)4 64(Pi — Pp) M. (11.45)

Since the amplitudes also depend on all momenta the full result for two-particle intermediate states
s (in CM, see 11.25)

—i [Myi — (™) )#i Z/dQ Gn) M1 (A4, Q) 5 167r2\/_ wi(g;, a,,)- (11.46)

Partial wave expansion

Often it is useful to make a partial wave expansion for the amplitude .# (s, 0) or .#(q;,q;),

M (5,0) = —8+/5 Y (20 + 1)Mi(s) Pr(cos0), (11.47)
14

(in analogy with the expansion for f(F,6) in quantum mechanics; note the sign and cosé = §; - 4y).
Inserted in the unitarity condition for .Z,

5| % [ e e
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we obtain

LHS = —i ) (20+ 1) Pe(d; - G7) ((Mé)fi = (Mg)fi) ;
£

while for the RHS use is made of

o 47 R ./ n
Puq-q) = 5= Y)Y (d)

and the orthogonality of the Y,,(f) functions to prove that

RHS = 22 Z(%Jr 1) Py(gi - 4y) (Mg)fn Gn (Mo)ni,

ie.
—i ((Me)fi ) = 22 D) pnan (Me)ni (11.48)
If only one channel is present this simplifies to
—i (Mg — M}) =2gM; My, (11.49)
or Im M, = q|M,|*, which allows writing

Se(s) —1 e2ide(s) _q
M, = = 11.50
(s) = 2L e (11.50)

where Sy(s) satisfies [S¢(s)| = 1 and d¢(s) is the phase shift.
In general a given channel has |S¢(s)| < 1, parametrized as S¢(s) = n¢(s) exp(2i d¢(s)). Using

q (Saecm)
— [an L |25 em)
/ q| 8my/s

in combination with the partial wave expansion for the amplitudes .# and the orthogonality of the
Legendre polynomials immediately gives for the elastic channel,

2

o = 4w 2(26 + 1)| Me(s)|?
¢
; 2
47 nee? % —1
= 20+ 1 11.51
) SRV e (11.51)
¢
and for the case that this is the only channel (purely elastic scattering, 7 = 1) the result
47
Ol = — Y (20+1) sin’§,. (11.52)
From the imaginary part of .# (s, 0), the total cross section can be determined. Show that
47
or = - — > 20+ 1) Tm My(s)
¢
= —ZZ 20+ 1) (1 — g cos 25,). (11.53)
¢

The difference is the inelastic cross section,

Finel = 12 S @0+ 1) (1) (11.54)
4
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Note that the total cross section is maximal in the case of full absorption, 7 = 0, in which case,
however, g¢] = Ginel-

We note that unitarity is generally broken in a finite order calculation. For instance the tree-level
calculation of Feynman diagrams at order e? was real. The product of amplitudes is of order e*, but
still real. To check unitarity we need the amplitude at order e*. We can also invert the situation and
use unitarity to find the imaginary part of an amplitude at some order from a lower order calculation.
This is what we will do to discuss decay widths.

11.5 Unstable particles

For a stable particle the propagator is

i

iAk) = 3 + e

(11.55)

(note that we have disregarded spin). The prescription for the pole structure, i.e. one has poles at k°

= +(E}, —i€) where Ej, = +V/ k* + M2 guarantees the correct behavior, specifically one has for t > 0
that the Fourier transform is

—ikOt
Ak =t A(k / dk° ¢
/ ¢ (k) ox (KO — By, +ie) (kO + By — ie)

i.e. o< U(t,0), the time-evolution operator. For an unstable particle one expects that

(t>0) iEt
- k
X e ,

U(t,0) o« e {E=IT/2)t,
such that |U(¢,0)|? = e~!*. This is achieved with a propagator

1

k) =153 T iMT

(11.56)

(again disregarding spin). The quantity T' is precisely the width for unstable particles. This is
(somewhat sloppy!) seen by considering the (amputated) 1PI two-point vertex

r@ _ —t
A

as the amplitude —i.# for scattering a particle into itself (forward!) through the decay channels as
intermediate states. The unitarity condition then states

2Im AL (k) = Z/d@(pl,...,pn)///lgn 2m)t 64 (k — P,) Mg

2M» T, =2MT. (11.57)

This shows that I' is the width of the resonance, which is given by a sum of the partial widths into
the different channels. It is important to note that the physical width of a particle is the imaginary
part of the two-point vertex at s = M?2.

For the amplitude in a scattering process going through a resonance, it is straightforward to write
down the partial wave amplitude,

— M /TiT;
Sk falul B8 (11.58)

My)ij(s) = :
(aMe)is(8) = 3R T
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(Prove this using the unitarity condition for partial waves). From this one sees that a resonance has

the same shape in all channels but different strength. Limiting ourselves to a resonance in one channel,

it is furthermore easy to prove that the cross section is given by
M?1?

(s — M?)2 + M?T?’

4
Ocl = q_2 (20+1) (11.59)
reaching the unitarity limit for s = M2, where furthermore oi,o1 = 0. This characteristic shape of a
resonance is called the Breit-Wigner shape. The half-width of the resonance is MT. The phase shift
in the resonating channel near the resonance is given by

MT
M? -5’
showing that the phase shift at resonance rises through § = n/2 with a ’velocity’ 96/9s = 1/MT,
i.e. a fast change in the phase shift for a narrow resonance. Note that because of the presence of a

background the phase shift at resonance may actually be shifted.
Three famous resonances are:

tan de(s) = (11.60)

e The A-resonance seen in pion-nucleon scattering. Its mass is M = 1232 MeV, its width ' =
120 MeV. At resonance the cross section or(7m1p) is about 210 mb. The cross section or (7~ p)
also shows a resonance with the same width with a value of about 70 mb. This implies that the
resonance has spin J = 3/2 (decaying in a P-wave (¢ = 1) pion-nucleon state) and isospin I =
3/2 (the latter under the assumption that isospin is conserved for the strong interactions).

e The J/1 resonance in eTe™ scattering. This is a narrow resonance discovered in 1974. Its mass
is M = 3096.88 MeV, the full width is I' = 88 keV, the partial width into eTe™ is I'ee = 5.26
keV.

e The Z° resonance in ete™ scattering with M = 91.2 GeV, I' = 2.49 GeV. Essentially this
resonance can decay into quark-antiquark pairs or into pairs of charged leptons. All these
decays can be seen and leave an ’invisible’ width of 498 MeV, which is attributed to neutrinos.
Knowing that each neutrino contributes about 160 MeV (see next chapter), one can reconstruct
the resonance shape for different numbers of neutrino species. Three neutrinos explain the
resonance shape. The cross section at resonance is about 30 nb.

Exercises

Exercise 11.1

Show that the cross section for electron-electron scattering (exercise 10.4) can be written as

do dra?

F i e {ft,w) + g(t,uw) + f(u,t) + g(u,t)},

with
L1l o, o 2 2
ftu) = 5|50 +u?) +dmi(t —m7)
21 o 1 )

st = |- m) s - 3m)
Exercise 11.2
Calculate the flux factor,

1

P o — v

in the center of mass system for two colliding particles a and b,
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Exercise 11.3

Complete the calculation of the decay width and lifetime of the pion by including the appropriate
phase space factors and using the calculation of the squared matrix element in Exc. 4.8. Compare
the results with the experimental 7~ lifetime 7 = 2.6 x 10~% s and the relative decay widths I'(r~ —
p o) = 09998771 and I'(m~ — e~ 7,) = 0.000123T. Calculate now fr, a quantity which we will
encounter in the next chapter (section 12.2).

Exercise 11.4

The A resonance in N7 scattering appears in one partial wave (a P-wave) as a pole at the position
s= M3 —iMaATa. As discussed for unstable particles, we have here already used unitarity to find a
finite imaginary part. Show that unitarity can be used one step further to fix also the numerator of
the amplitude near the pole,

—MaTa/q

Mi(s) =
1(8) S—MK—F’L’MAFA7

when I'a is approximately constant near this pole.



Chapter 12

The standard model

12.1 Non-abelian gauge theories

In chapter 10 we have considered quantum electrodynamics as an example of a gauge theory. The pho-
ton field A, was introduced as to render the lagrangian invariant under local gauge transformations.
The extension to non-abelian gauge theories is straightforward. The symmetry group is a Lie-group
G generated by generators T,, which satisfy commutation relations

[Ta;Tb] = Z.CabcT'c; (121)

with cqpe known as the structure constants of the group. For a compact Lie-group they are antisym-
metric in the three indices. In an abelian group the structure constants would be zero (for instance
the trivial example of U(1)). Consider a field transforming under the group,

$(x) — U(0) d(x) = ¢ Lo g(z) X (1+4i60°L,) ¢(x) (12.2)

where L, is a representation matrix for the representation to which ¢ belongs, i.e. for a three-

-,

component field (written as ¢) under an SO(3) or SU(2) symmetry transformation,
¢ — UO)§=c""G " §-0x3. (12:3)

The complication arises (as in the abelian case) when one considers for a lagrangian density
Z(¢,0,¢) the behavior of d,,¢ under a local gauge transformation, U(#) = et (@) La

p(z) —  U(O)d(x), (12.4)
uo(x)  —  U(0)0u0(x) + (9,U(0)) o). (12.5)

Introducing as many gauge fields as there are generators in the group, which are conveniently combined
in the matrix valued field W, =WjLg, one defines

D, é(x) = (0u —igW,) (), (12.6)
and one obtains after transformation
D,¢(z) — U(0)0ud(x) + (0,U(9)) d(x) — ig W, U(0)¢(2).
Requiring that D,,¢ transforms as D,¢ — U(0) D,,¢ (or D, — U(0)D,U""(0)) gives

D, é(x) — U(0)0u¢(x) —igU(0) W, é(x),

114
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which implies )
i

W, =U@O)W, U™ (0) .

" (0,U(0)) U(0), (12.7)

or infinitesimal

1 1
a a byrrc a a a
Wllt —Wu—cabce W#—l——autg —Wu—i-—DMG .

It is necessary to introduce the free lagrangian density for the gauge fields just like the term
—(1/4)F,, F* in QED. For abelian fields F,, = 0,4, — 0, A, = (i/9)[D,, D,] is gauge invariant. In
the nonabelian case 9,W;, — 9, W}, does not provide a gauge invariant candidate for G, = G, Lq,
as can be checked easily. Generalizing the expression in terms of the covariant derivatives, provides a
gauge invariant definition for G,,,. We have

i .
G, = 7 D,,D,)=0,W,—-0,W, —igW, W, (12.8)
with for the explicit fields
Go, = O W — 0, Wi + g cane WIWS, (12.9)
transforming like
G,, — UW0)G,, U '(0). (12.10)
The gauge-invariant lagrangian density is now constructed as
1 v 1 a va
Z(¢p,0u0) — ZL(¢,D,¢) — §TYQWQM =2(¢,D,0) — ZGWG“ (12.11)

with the standard normalization Tr(L,Lp) = %5,11,. Note that the gauge fields must be massless, as a
mass term o< M‘%VWSW“G would break gauge invariance.

QCD, an example of a nonabelian gauge theory

As an example of a nonabelian gauge theory consider quantum chromodynamics (QCD), the theory
describing the interactions of the colored quarks. The existence of an extra degree of freedom for
each species of quarks is evident for several reasons, e.g. the necessity to have an antisymmetric wave
function for the A% particle consisting of three up quarks (each with charge +(2/3)e). With the
quarks belonging to the fundamental (three-dimensional) representation of SU(3)¢, i.e. having three

components in color space
Ur
1/1 = [ ’l/)g ] )
¥y

the wave function of the baryons (such as nucleons and deltas) form a singlet under SU(3)c,
1
|color) = 7 (|rgb)y — |grdy + |gbr) — |bgr) + |brg) — |rbg)) . (12.12)

The nonabelian gauge theory that is obtained by making the ’free’ quark lagrangian, for one specific
species (flavor) of quarks just the Dirac lagrangian for an elementary fermion,

invariant under local SU(3)¢ transformations has proven to be a good candidate for the microscopic
theory of the strong interactions. The representation matrices for the quarks and antiquarks in the
fundamental representation are given by
Aa
F, = ) for quarks,
A

F, = 77’1 for antiquarks,
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XY(x) M)

P
NE. Yk

internal space

Figure 12.1: The vectors belonging to internal space located at each point in (one-dimensional) space

which satisfy commutation relations [Fy,, Fy] = i fapcFe in which fup. are the (completely antisymmet-
ric) structure constants of SU(3) and where the matrices A, are the eight Gell-Mann matrices'. The
(locally) gauge invariant lagrangian density is

1 _ _
L == F PO i gDy —m iy, (12.13)

with

Dllw = aﬂw - ’Lg AZR;M
FS, = 0,A% — 0,A% + g cape AL AS.

Note that the term 419D = i @) + g A Fothp = ipPep + JH Ay with g = gy" F,1p describes
the interactions of the gauge bosons Af, (gluons) with the color current of the quarks (this is again
precisely the Noether current corresponding to color symmetry transformations). Note furthermore
that the lagrangian terms for the gluons contain interaction terms corresponding to vertices with three
gluons and four gluons due to the nonabelian character of the theory. For writing down the complete
set of Feynman rules it is necessary to account for the gauge symmetry in the quantization procedure.
This will lead (depending on the choice of gauge conditions) to the presence of ghost fields. (For more
details see e.g. Ryder, chapter 7.)

A geometric picture of gauge theories

A geometric picture of gauge theories is useful for comparison with general relativity and topological
considerations (such as we have seen in the Aharonov-Bohm experiment). Consider the space [], *G
(called a fibre bundle). At each space-time point x there is considered to be a copy of an internal
space G (say spin or isospin). In each of these spaces a reference frame is defined. *¢(z) denotes a
field vector 1 (z) which belongs to a representation of G, i.e. forms a vector in the internal space (see
fig. 12.1). The superscript & denotes that it is expressed with respect to the frame at point z, i.e. the
basis of *G. Let fields Af,(z) determine the 'parallel displacements’ in the internal space, i.e. connect

IThe Gell-Mann matrices are the eight traceless hermitean matrices generating SU(3) transformations,

) ) )
S I P (R
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the basis for *G and *+4* @,
() = (14igda™ A%(2)T.)" () (12.14)
= (1+4igda* A, (z))" ¥(), (12.15)

which connects two identical vectors, but expresses them with respect to different bases.
If there is a ’true’ difference in the vector 1(x) and ¥(z + dz) it is denoted with the covariant
derivative connecting the vectors expressed with respect to the same basis, i.e.

¥(x), (12.16)

which in the presence of the connection’ A, differs from the total change between “3(z) and etdzy)y(p4
dz),

erdz,l/)(Z, + d:L') — (1 4+ dz* QH)IerI

wtdryy(p 4+ da) = (1 4 da 9,)" (). (12.17)

The three equations given so far immediately give
D, =0, —igA, (). (12.18)

We note that local gauge invariance requires that we can modify all local systems with a (local) unitary
transformation S(z). The relation in Eq. 12.16, should be independent of such transformations,
requiring that the 'connection’ A, (z) is such that D, — S(x)D,,S™"(x).
A ’constant’ vector that only rotates because of the arbitrary definitions of local frames satisfies
D, Y(z) =0, ie.
[0, — ig A, (2)] () = 0

or considering a path x#(s) from a fixed origin (0) to point z,

dxt

o [0~ ig A ()] ¥(@) = 0,

which is solved by

dip(s) _ ig A, (s)¥(s) ddi:’
s dxt

v = Pew (i [ a5 4,6) 000,

which is the path-ordered integral denoted
W(z) = P eid e A AL () (0). (12.19)

This gives rise to a (path dependent) phase in each point.

In principle such a phase in a given point is not observable. However, if two different paths to the
same point give different phases the effects can be observed. What is this physical effect by which the
‘connection’ A, can be observed? For this consider the phase around a closed loop,

-dx H

_dy

dx*

For a vector, the real change thus is given by
w(x) = (1 - dprp)(l - dZCUQU)(l + dy”Qu)(l + dx”Q#)w(ac)
— (14 de"dy” (D, D)) ¥()
= (1—igdo" G,,) ¥(z),

v
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where G, = (i/9)[D,,, D, ]. Similarly as the definition of the covariant derivative the effect is thus
frame-independent and we have the transformation law G, — S(z)G,,,S~!(x). In geometric lan-
guage the effect on parallel transport of a vector depends on the 'curvature’ G,,,. Only if this quantity
is nonzero a physically observable effect of A ., exists. If it is zero one has $ dz“AM (z) =0, and equiva-
lently Au can be considered as a pure gauge effect, which means that by an appropriate transformation
S(z) it can be gauged away (see the example of Aharonov-Bohm effect).

12.2 Spontaneous symmetry breaking

In this section we consider the situation that the groundstate of a physical system is degenerate.
Consider as an example a ferromagnet with an interaction hamiltonian of the form

H=->"J;Si8;,

i>7

which is rotationally invariant. If the temperature is high enough the spins are oriented randomly
and the (macroscopic) ground state is spherically symmetric. If the temperature is below a certain
critical temperature (T < T¢) the kinetic energy is no longer dominant and the above hamiltonian
prefers a lowest energy configuration in which all spins are parallel. In this case there are many
possible groundstates (determined by a fixed direction in space). This characterizes spontaneous
symmetry breaking, the groundstate itself appears degenerate. As there can be one and only one
groundstate, this means that there is more than one possibility for the groundstate. Nature will
choose one, usually being (slightly) prejudiced by impurities, external magnetic fields, i.e. in reality a
not perfectly symmetric situation.

Nevertheless, we can disregard those 'perturbations’ and look at the ideal situation, e.g. a theory
for a scalar degree of freedom (a scalar field) having three (real) components,

(4
o=1 o2 |,
b3
with a lagrangian density of the form
1, - - 1 5o - 1 - -
$:§aﬂ¢~8“¢f§m ¢~¢71)\(¢- )=, (12.20)
-V(¢)

-,

The potential V(¢) is shown in fig. 12.2. Classically the (time-independent) ground state is found for

V(o) /
F O]

Figure 12.2: The symmetry-breaking 'potential’ in the lagrangian for the case that m? < 0.
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a constant field (V¢ = 0) and the condition

oV m?
— :0 — 955'955:0 or @‘C'@‘C:*_EFQ’
0913, A

the latter only forming a minimum for m? < 0. In this situation one speaks of spontaneous symmetry
breaking. The classical groundstate appears degenerate. Any constant field with ’length’ F' is a
possible groundstate. The presence of a nonzero value for the classical groundstate value of the field
will have an effect when the field is quantized. A quantum field theory has only one nondegenerate
groundstate |0). Writing the field qb as a sum of a classical and a quantum field, qﬁ Be + ¢quantum
where for the (operator-valued) coefficients in the quantum field one wants (0|c' = ¢|0) = 0, so one
has B

(OJvecphiquantum|0) = 0 and hence  (0[¢|0) = @.. (12.21)

Stability of the action requires the classical groundstate J. to have a well-defined value (which can
be nonzero), while the quadratic terms must correspond with non-negative masses. In the case of
degeneracy, therefore a choice must be made, say

0
(0]]0) = [ 0 ] . (12.22)
F

The situation now is the following. The original lagrangian contained an SO(3) invariance under
(length conserving) rotations among the three fields, while the lagrangian including the nonzero
groundstate expectation value chosen by nature, has less symmetry. It is only invariant under ro-
tations around the 3-axis.

It is appropriate to redefine the field as

R $1
¢ = ©2 ; (12.23)
F+n

such that (0]e1|0) = (0|p2]|0) = (0|n|0) = 0. The field along the third axis plays a special role because
of the choice of the vacuum expectation value. In order to see the consequences for the particle
spectrum of the theory we construct the lagrangian in terms of the fields 1, @2 and 7. It is sufficient
to do this to second order in the fields as the higher (cubic, etc.) terms constitute interaction terms.
The result is

L = SO+ Oupa + 5 O — 5 (64 6d)
—%mQ (F +n)? *i/\(@? + 5+ F?+n° +2Fn)? (12.24)
= % (8#901)2 + % (8ug02)2 + % (8u77)2 +min? 4+ ... (12.25)
Therefore there are 2 massless scalar particles, corresponding to the number of broken generators (in
this case rotations around 1 and 2 axis) and 1 massive scalar particle with mass m% = —2m?. The

massless particles are called Goldstone bosons.

Realization of symmetries
In this section we want to discuss a bit more formal the two possible ways that a symmetry can be

implemented. They are known as the Weyl mode or the Goldstone mode:

Weyl mode. In this mode the lagrangian and the vacuum are both invariant under a set of symmetry
transformations generated by Q%, i.e. for the vacuum Q*|0) = 0. In this case the spectrum is described
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by degenerate representations of the symmetry group. Known examples are rotational symmetry and
the fact that the spectrum shows multiplets labeled by angular momentum ¢ (with members labeled
by m). The generators Q® (in that case the rotation operators L., L, and L, or instead of the latter
two Ly and L_) are used to label the multiplet members or transform them into one another. A bit
more formal, if the generators Q% generate a symmetry, i.e. [Q% H| = 0, and |a) and |a’) belong to
the same multiplet (there is a Q® such that |a’) = Q%|a)) then Hl|a) = E,|a) implies that H|a') =
E,|a’), i.e. a and o’ are degenerate states.

Goldstone mode. In this mode the lagrangian is invariant but Q%|0) # 0 for a number of generators.
This means that they are operators that create states from the vacuum, denoted |7%(k)). As the
generators for a symmetry are precisely the zero-components of a conserved current Jj; (z) integrated
over space, there must be a nonzero expectation value (0].J;(z)|7®(k)). Using translation invariance
and as k, is the only four vector on which this matrix element could depend one may write

OJ¢ ()" (k) = frkp € ¥ 0a  (fx #0) (12.26)
for all the states labeled by a corresponding to 'broken’ generators. Taking the derivative,
(00" T3 (@) |7 (k) = fr k? €77 6ap = frmEa € Sap. (12.27)

If the transformations in the lagrangian give rise to a symmetry the Noether currents are conserved,
otJ; = 0, irrespective of the fact if they annihilate the vacuum, and one must have m.. = 0, i.e. a
massless Goldstone boson for each ’broken’ generator. Note that for the fields 7%(z) one would have
the relation (0|7 (z)|7®(k)) = e'¥*, suggesting the stronger relation 9" J%(x) = frmZ. n(x).

Chiral symmetry

An example of spontaneous symmetry breaking is chiral symmetry breaking in QCD. Neglecting at
this point the local color symmetry, the lagrangian for the quarks consists of the free Dirac lagrangian
for each of the types of quarks, called flavors. Including a sum over the different flavors (up, down,
strange, etc.) one can write

& =i — M)y, (12.28)
where 1 is extended to a vector in flavor space and M is a diagonal matrix,
Yy My
, M = md (12.29)

v=| Va

(Note that each of the entries in the vector for ¢ is a 4-component Dirac spinor). This lagrangian
density then is invariant under unitary (vector) transformations in the flavor space,

¢ — Ty, (12.30)

which for instance including only two flavors form an SU(2)y symmetry (isospin symmetry) gen-
erated by the Pauli matrices, T = 7/2. The conserved currents corresponding to this symmetry
transformation are found directly using Noether’s theorem (see chapter 6),

VH =Yy Thp. (12.31)
Using the Dirac equation, it is easy to see that one gets

8 VI =i [M, T . (12.32)
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Furthermore GMV“ =0 < [M, f] = 0. From group theory (Schur’s theorem) one knows that the
latter can only be true, if in flavor space M is proportional to the unit matrix, M = m-1. Le. SU(2)y
(isospin) symmetry is good if the up and down quark masses are identical. This situation, both are
very small, is what happens in the real world. This symmetry is realized in the Weyl mode with
the spectrum of QCD showing an almost perfect isospin symmetry, e.g. a doublet (isospin 1/2) of
nucleons, proton and neutron, with almost degenerate masses (M, = 938.3 MeV/c? and M,, = 939.6
MeV /c?), but also a triplet (isospin 1) of pions, etc.
There exists another set of symmetry transformations, socalled axial vector transformations,

Y — FTry (12.33)

which for instance including only two flavors form SU(2) 4 transformations generated by the Pauli
matrices, Ty5 = T75/2. Note that these transformations also work on the spinor indices. The currents
corresponding to this symmetry transformation are again found using Noether’s theorem,

Al = Py Tysp. (12.34)
Using the Dirac equation, it is easy to see that one gets
DA = i { M, T} s 1. (12.35)

In this case 8#/17‘ = 0 will be true if the quarks have zero mass, which is approximately true for the up
and down quarks. Therefore the world of up and down quarks describing pions, nucleons and atomic
nuclei has not only an isospin or vector symmetry SU(2)y but also an axial vector symmetry SU(2) 4.
This combined symmetry is what one calls chiral symmetry.

That the massless theory has this symmetry can also be seen by writing it down for the socalled
lefthanded and righthanded fermions, ¢/, = %(1 =+ 45)1, in terms of which the Dirac lagrangian
density looks like

L =ipLPvr +iYrPYr — YrMipr — P Mypg. (12.36)

If the mass is zero the lagrangian is split into two disjunct parts for L and R showing that there is
a direct product SU(2), ® SU(2)r symmetry, generated by T =3(1% ~v5)T', which is equivalent
to the V-A symmetry. This symmetry, however, is by nature not realized in the Weyl mode. How
can we see this. The chiral fields ¥r and 1, are transformed into each other under parity. Therefore
realization in the Weyl mode would require that all particles come double with positive and negative
parity, or, stated equivalently, parity would not play a role in the world. We know that mesons and
baryons (such as the nucleons) have a well-defined parity that is conserved.

The conclusion is that the original symmetry of the lagrangian is spontaneously broken and as the
vector part of the symmetry is the well-known isospin symmetry, nature has choosen the path

SU@2)L,®@SUQ2)r = SUQ2)y,

i.e. the lagrangian density is invariant under left (L) and right (R) rotations independently, while the
groundstate is only invariant under isospin rotations (R = L). From the number of broken generators
it is clear that one expects three massless Goldstone bosons, for which the field (according to the
discussion above) has the same behavior under parity, etc. as the quantity 9, A"(x), i.e. (leaving
out the flavor structure) the same as 9ry51, i.e. behaves as a pseudoscalar particle (spin zero, parity
minus). In the real world, where the quark masses are not completely zero, chiral symmetry is not
perfect. Still the basic fact that the generators acting on the vacuum give a nonzero result (i.e. fr # 0
remains, but the fact that the symmetry is not perfect and the right hand side of Eq. 12.35 is nonzero,
gives also rise to a nonzero mass for the Goldstone bosons according to Eq. 12.27. The Goldstone
bosons of QCD are the pions for which f, = 93 MeV and which have a mass of m, ~ 138 MeV/c?,
much smaller than any of the other mesons or baryons.
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12.3 The Higgs mechanism

The Higgs mechanism occurs when spontaneous symmetry breaking happens in a gauge theory where
gauge bosons have been introduced in order to assure the local symmetry. Considering the same
example with rotational symmetry (SO(3)) as for spontaneous symmetry breaking of a scalar field
(Higgs field) with three components, made into a gauge theory,

1 = — 1 - — —
z--16,,.¢vilpg pi-vi), (12.37)
where . . .
D,u$ = 0,6 —igWiLad. (12.38)
Since the explicit (adjoint, in this case three-dimensional) representation reads (Lq)ij = —1i €445, OnE

sees that the fields Wu and C_v",“, also can be represented as three-component fields,

Dud = 9.6+gW, x4, (12.39)
éuu = apWV - auWM + gWH X Wy. (1240)

The symmetry is broken in the same way as before and the same choice for the vacuum,

) 0
Pe = (0[¢]0) = [ 0 ]
F

is made. The difference comes when we reparametrize the field 5 We have the possibility to perform
local gauge transformations. Therefore we can always rotate the field ¢ into the 3-direction in order

to simplify the calculation, i.e.
0 0
&:[0]:[ 0 ] (12.41)
®3 F+n

~ . . gFWiJrgWin
Du¢:au¢+g ux‘b: _gFWi_gW;}n )
Oun

which gives for the lagrangian density up to quadratic terms

Explicitly one then has

A

1 = o 1 o - 1 - - .
= -G -G™ +=>=D,p-D'¢p—=-m?¢-d— = (¢ ¢)>
% 1 G G+ 5D Do —sm*G- 6 — (- 9)
1 N = — = 1
=~ QW =0, W) - (" WY — 0" W") — 5 GF? (Wawr! + W2WwH?)
1
+3 (Oum)? +m*n* + ..., (12.42)

from which one reads off that the particle content of the theory consists of one massless gauge boson
(W), two massive bosons (W, and W with My, = gF) and a massive scalar particle (1 with mj =
—2m?2. The latter is a spin 0 particle (real scalar field) called a Higgs particle. Note that the number
of massless gauge bosons (in this case one) coincides with the number of generators corresponding to
the remaining symmetry (in this case rotations around the 3-axis), while the number of massive gauge
bosons coincides with the number of broken’ generators.

One may wonder about the degrees of freedom, as in this case there are no massless Goldstone
bosons. Initially there are 3 massless gauge fields (each, like a photon, having two independent spin
components) and three scalar fields (one degree of freedom each), thus 9 independent degrees of
freedom. After symmetry breaking the same number (as expected) comes out, but one has 1 massless
gauge field (2), 2 massive vector fields or spin 1 bosons (2 x 3) and one scalar field (1), again 9 degrees
of freedom.
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12.4 The standard model SU(2)y @ U(1)y

The symmetry ideas discussed before play an essential role in the standard model that describes
the elementary particles, the quarks (up, down, etc.), the leptons (elektrons, muons, neutrinos, etc.)
and the gauge bosons responsible for the strong, electromagnetic and weak forces. In the standard
model one starts with a very simple basic lagrangian for (massless) fermions which exhibits more
symmetry than observed in nature. By introducing gauge fields and breaking the symmetry a more
complex lagrangian is obtained, that gives a good description of the physical world. The procedure,
however, implies certain nontrivial relations between masses and mixing angles that can be tested
experimentally and sofar are in excellent agreement with experiment.

The lagrangian for the leptons consists of three families each containing an elementary fermion
(electron e~, muon p~ or tau 7 ), its corresponding neutrino (ve, v, and v;) and their antiparticles.
As they are massless, left- and righthanded particles, ¥/, = %(1 =+ 75)¢ decouple. For the neutrino
only a lefthanded particle (and righthanded antiparticle) exist. Thus

2D = ierPer +ierPer, + i VerPver, + (11, 7). (12.43)

One introduces a (weak) SU(2)w symmetry under which eg forms a singlet, while the lefthanded
particles form a doublet, i.e.

o Ve . o 1 3 +1/2
L[eL] WlthTW2aHdTW{_1/2
and
R=epr with Ty = 0 and T}, = 0.
Thus the lagrangian density is B .
20 =i TPL + i RPR, (12.44)

which has an SU(2)w symmetry under transformations ei&'f‘”, explicitly

L SO a2 (12.45)
R U@ g, (12.46)

One notes that the charges of the leptons can be obtained as Q = T3, — 1/2 for lefthanded particles
and Q = T3, — 1 for righthanded particles. This is written as

Y
Q=T+ _W, (12.47)

2
and Yy is considered as an operator that generates a U(1)y symmetry, under which the lefthanded
and righthanded particles with Yy (L) = —1 and Yy (R) = —2 transform with e??YW/2_ explicitly

L YWy iz, (12.48)
R "y -isp. (12.49)

Next the SU(2)w ® U(1)y symmetry is made into a local symmetry introducing gauge fields V_VH and
B,, in the covariant derivative D, = 0, +igW,, - Tw +ig¢’ B,Yw /2, explicitly

DL = aML—%gVT/H.fLJF%g’BHL, (12.50)
D,R = 8,R+ig B,R, (12.51)
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where Wu is a triplet of gauge bosons with Ty = 1, T3, = 1 or 0 and Yy = 0 (thus Q = T33,) and
B, is a singlet under SU(2)w (I'w = Tj, = 0) and also has Yy = 0. Putting this in leads to

2D = U 4 U2 (12.52)

LUV = iRy (O +ig B)R +i Ly (0 + 5 9By — 5 9W, - FIL
1 - - - - 1

2V = — 10 = 0, W, + g Wy, % W,)? — 1 (0B, — d,B,)>.

In order to break the symmetry to the symmetry of the physical world, the U(1)q symmetry (generated

by the charge operator), a complex Higgs field

(et ) [ 0+t
¢ = [ 0 ] = [ 0, ity) (12.53)

with Ty = 1/2 and Yy = 1 is introduced, with the following lagrangian density consisting of a
symmetry breaking piece and a coupling to the fermions,

W=t 202, (12.54)
where
p(rl) (DM¢)T(Du¢) —m?2 ¢T¢_ )\(quqﬁ)Q,
-V(¢)
2" = —G.(TéR+Re'L),
and . .
S 1
D¢ = Ou = 59Wyu- 7= 59" Bu)o. (12.55)

The Higgs potential V(¢) is choosen such that it gives rise to spontaneous symmetry breaking with
ofo = —m?/2\ = v?/2. For the classical field the choice §; = v is made, which assures with the
choice of Yy of the Higgs field assures that @) generates the remaining U(1) symmetry. Using local
gauge invariance 6; for i = 1, 2 and 3 may be eliminated (the necessary SU(2)w rotation is precisely

e‘ig(m)‘T), leading to the parametrization

1 0
oz) = —= [ ot hiz) ] (12.56)
and
g Wﬁ*iwi v+ h
D¢ = 2( V2 v+ h) (12.57)
a 1o h—=1 9w, —9 By (+h)
a2t a7 v
Up to cubic terms, this leads to the lagrangian
(h1) _ 1 2 2,0, 90 142 212
< = 5(0uh)° +mPht 4+ = (W2 + (W32
v? 3 N2
+3 (GW3—g'B.)" + ... (12.58)

= SO O ]
+W(zﬂ)2 +..., (12.59)
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where the quadratically appearing gauge fields that are furthermore eigenstates of the charge operator
are

1
+ 14 12
Wi = 7 (W, £iW;), (12.60)
gWi -9'B, s .
Z:U' = W = COS 0W W,LL — s 9W B;“" (1261)
g W3+gB,

= sin O W} + cos Ow By, (12.62)

SV

and correspond to three massive particle fields (W and Z°) and one massless field (photon 7) with

2,2
ME = 94”, (12.63)
2,2 2
g“v M,
M2 = - 12.64
z 4 cos? Oy cos? Oy’ ( )
M2 = 0. (12.65)

The weak mixing angle is related to the ratio of coupling constants, ¢’/g = tan 6y .
The coupling of the fermions to the physical gauge bosons are contained in . /1) giving

RSN iey"oue + iUy Ouve — gsin by evte A,

. _ 1 _ 1
P (51112 Ow eryler — 3 cos 20w epyFer + 3 ueyﬂye) Zy,

9 — -, —
—|——2 (Tt erL W, +ecy v W) (12.66)

%

From the coupling to the photon, we can read off
e = g sinfy = g’ cos Oy . (12.67)

The coupling of electrons or muons to their respective neutrinos, for instance in the amplitude for
the decay of the muon

Vi vy
Ve
Ve
is given by
2 .
. . g, —tGpgt+ - o
—i M = *7(V#’YPML)W(€L’Y l/e)
2
. g — _
~ i (T (L = ys)u) (@7 (1 —7°)ve) (12.68)
8 My,
G2, G5
CGF (it (e
= i UGy (12.69)
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the good old four-point interaction introduced by Fermi to explain the weak interactions, i.e. one has
the relation o ) )
e 1
== 92 = CRY) =53 (12.70)
V2 8My,  8MZ sin®Oy 20
In this way the parameters g, ¢’ and v determine a number of experimentally measurable quantities,
such as

e?/ar ~ 1/137, (12.71)
Gr = 1.1664 x 107° GeV ™2, (12.72)
sin?fy = 0.2312, (12.73)
My = 80.40 GeV, (12.74)
Mz = 91.19 GeV. (12.75)

The coupling of the Z° to fermions is given by (g/ cos Oy )y* multiplied with
T‘?V%(l—fyg,)—sinQ@WQz %CV - %CME,, (12.76)

with

Cy = T —2sin® 0w Q, (12.77)
Ca = T3 (12.78)

From this coupling it is straightforward to calculate the partial width for Z° into a fermion-antifermion
pair,

— My  ¢?
(7% — =2 CE +C?). 12.79
(20— ) = 35t o (CH+ C) (12.79)
For the electron, muon or tau, leptons with Cy = —1/2 + 2sin® Oy ~ —0.05 and Cy = —1/2 we

calculate I'(ete™) ~ 78.5 MeV (exp. I'e ~ T'), = I'; &~ 83 MeV). For each neutrino species (with Cy =
1/2 and Cy4 = 1/2 one expects I'(Dr) ~ 155 MeV. Comparing this with the total width into (invisible!)
channels, T';ppisivie = 480 MeV one sees that three families of (light) neutrinos are allowed. Actually
including corrections corresponding to higher order diagrams the agreement for the decay width into
electrons can be calculated much more accurately and the number of allowed (light) neutrinos turns
to be even closer to three.

The masses of the fermions and the coupling to the Higgs particle are contained in .Z ("?). With
the choosen vacuum expectation value for the Higgs field, one obtains

G.v G
& (h?) ——% _ (egep +egrer) — — (eger + €rer) h
NG (ézer +erer) \/5( LeRr + €rer)
= —mee— “Leeh. (12.80)

v

First, the mass of the electron comes from the spontaneous symmetry breaking but is not predicted
(it is in the coupling G.). The coupling to the Higgs particle is weak as the value for v calculated e.g.
from the My, mass is about 250 GeV, i.e. m./v is extremely small.

Finally we want to say something about the weak properties of the quarks, as appear for instance

in the decay of the neutron or the decay of the A (quark content uds),
u u

d S
W e W e
Ve Ve

n—pe v, <= d— ue U, AN—pe v, < s—ue U
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””/7’,’” +1\\':\”’ Figure 12.3: Appropriate Yy and T3, assign-
2 @ N ments of quarks, leptons, their antiparticles
LN T S . and the electroweak gauge bosons as appearing
@\\ @ . 3 in each family. The electric charge Q) is then
@ R N ‘+ W fized, Q@ = T3, + Yw /2 and constant along
/ -2 Eo) L2 (WQ specific diagonals as indicated in the figure.
@,,,,\:L\, fffff < 2 The pattern is actually intriguing, suggesting
N PN v 0=+ an underlying larger unifying symmetry group,
. C® ,,f\’\ for which SU(5) or SO(10) are actually nice
L il’:,,,@ candidates. We will not discuss this any fur-

N VL ther in this chapter.

L@ e

The quarks also turn out to fit into doublets of SU(2)y for the lefthanded species and into singlets
for the righthanded quarks. As shown in Fig. 12.3, this requires particular Yy -T}3, assignments to get
the charges right.

A complication arises for quarks (and as we will discuss in the next section in more detail also
for leptons) as it are not the 'mass’ eigenstates that appear in the weak isospin doublets but linear

combinations of them,
dl . S/ . b/ . )

where
d Vud Vus Vub d
s' = | Vea Ves Va s (12.81)
v, Via Vis Vi b ),

This mixing allows all quarks with T3, = —1/2 to decay into an up quark, but with different strength.
Comparing neutron decay and A decay one can get an estimate of the mixing parameter V. in the
socalled Cabibbo-Kobayashi-Maskawa mixing matrix. Decay of B-mesons containing b-quarks allow
estimate of V5, etc. In principle one complex phase is allowed in the most general form of the CKM
matrix, which can account for the (observed) CP violation of the weak interactions. This is only true
if the mixing matrix is at least three-dimensional, i.e. CP violation requires three generations. The
magnitudes of the entries in the CKM matrix are nicely represented using the socalled Wolfenstein
parametrization

1-1x2 A AN A(p—in)
V= -\ 1-1x2 A2 A + 0\
NMAL-p—in) —=X2A 1

with A & 0.227, A ~ 0.82 and p =~ 0.22 and 1 ~ 0.34. The imaginary part i gives rise to CP violation
in decays of K and B-mesons (containing s and b quarks, respectively).
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12.5 Family mixing in the Higgs sector and neutrino masses

The quark sector

Allowing for the most general (Dirac) mass generating term in the lagrangian one starts with
2029 = —Qr¢AaDr ~ DrAY QL — QoA Ur — UrALoT QL (12.82)

where we include now the three lefthanded quark doublets in Qr,, the three righthanded quarks with

charge +2/3 in U and the three righthanded quarks with charges —1/3 in Dp, each of these containing

the three families, e.g. Up = [ﬁ CR E] . The A, and A4 are complex matrices in the 3 x 3 family

space. The Higgs field is still limited to one complex doublet. Note that we need the conjugate Higgs
field to get a U(1)y singlet in the case of the charge +2/3 quarks, for which we need the appropriate

weak isospin doublet
o= ()= 0"
—¢~ /2 0 :

For the (squared) complex matrices we can find positive eigenvalues,

Ay AL =V, G2V and AgAL =V,G2V], (12.83)

u u

where V,, and Vj; are unitary matrices, allowing us to write
Ay =Vy G, W] and Ag=VaGaW), (12.84)

with G, and G4 being real and positive and W,, and Wy being different unitary matrices. Thus one
has

2 (029 — DV, M, WJDR — DrWy My VdTDL —ULVu M, WJUR — UpWu M, VJUL (12.85)

with M, = G,v/v/2 (diagonal matrix containing m.,, m. and m;) and My = Gqv/+/2 (diagonal matrix
containing mg, ms and my). One then reads off that starting with the family basis as defined via the
left doublets that the mass eigenstates (and states coupling to the Higgs field) involve the righthanded
states UBas = WUz and DB = W;DR and the lefthanded states URs = V,fU, and DPass =

VdT D;. Working with the mass eigenstates one simply sees that the weak current coupling to the W=+
—=mass

becomes Uy y* Dy, = U, y* VIV, D¥85 ie. the weak mass eigenstates are
Dy = DYk = V1V, DI = Vg DRSS, (12.86)

the unitary CKM-matrix introduced above in an ad hoc way.

The lepton sector (massless neutrinos)

For a lepton sector with a lagrangian density of the form

2020 — _ToA Er — ErAlolL, (12.87)

_ | N
=)
is a weak doublet containing the three families of neutrinos (Ny,) and charged leptons (Er) and Eg is

a three-family weak singlet, we find massless neutrinos. As before, one can write A, = V, G. W/ and
we find

in which

&L 020 —= M, (ELV.W/ERr — ERW.VJEL), (12.88)

with M, = G.v/ V2 the diagonal mass matrix with masses m., m, and m,. The mass fields E3**
= WIEg, EP® = VIEL. For the (massless) neutrino fields we just can redefine fields into N5 =
VI Ny, since the weak current is the only place where they show up. The W-current then becomes

—=mass

EpLy* Ny =E;, " Nm je. there is no family mixing for massless neutrinos.



The standard model 129

The lepton sector (massive Dirac neutrinos)

In principle a massive Dirac neutrino could be accounted for by a lagrangian of the type
£ 020 — _ToAEr — EgAl¢'L — Lo°A,Nr — NgAl¢ctL (12.89)

with three righthanded neutrinos added to the previous case, decoupling from all known interactions.
Again we continue as before now with matrices A, = V. G, WJ and A, =V, G, W;{, and obtain

2020 — _EV, M,WiEr — EgW. M,V E;, — NLV,, M,, Wi Ng — NgW,, M,, VINL. (12.90)

We note that there are mass fields E3?%° = WIER, ERass = VI, Nmass — VJNL and Npa% = WTJ{NR
and the weak current becomes Ep v* N = Emass yn Iy, Nmass. Working with the mass eigenstates
for the charged leptons we see that the weak eigenstates for the neutrinos are sze"‘k = VI Ny, with
the relation to the mass eigenstates for the lefthanded neutrinos given by

Nj = Nyek = iy, Nmass — f o Npass, (12.91)

with Upyng = VJ Ve known as the Pontecorvo-Maki-Nakagawa-Sakata mixing matrix.
For neutrino’s this matrix is parametrized in terms of three angles 6;; with ¢;; = cosf;; and
si; = sind;; and one angle 6,

1 0 0 C13 0 S13 em C12 S12 0
Upvmns = | 0 c23  s23 0 1 0 —s12 c12 0

0 —S823 (23 781361-5 0 C13 0 0 1

: (12.92)

a parametrization that in principle also could have been used for quarks. In this case, it is particularly
useful because 6 is essentially determined by solar neutrino oscillations requiring Am?2, ~ 8 x 107°
eV? (convention mgy > my ), while a3 then is determined by atmospheric neutrino oscillations requiring
|AmZ,| ~ 2.5x 1073 V2. The mixing is intriguingly close to the Harrison-Perkins-Scott tri-bimaximal
mixing matrix

10 0 2/3 1/3 0 2/3 1/3 0
Upps = | 0 /1/2 —y/1/2 —1/3 /2/3 0| = | =V1/6 1/3 —/1/2
0 +/1/2 1/2 0 0 1 —/1/6 /1/3 1/2

(12.93)

The lepton sector (massive Majorana fields)

An even simpler option than sterile righthanded Dirac neutrinos, is to add in Eq. 12.88 a Majorana
mass term for the (lefthanded) neutrino mass eigenstates,

1 _ R
gpmass,v _ 75 (ML NE NL + Mz NL NE) , (1294)

although this option is not attractive as it violates the electroweak symmetry. The way to circumvent
this is to introduce as in the previous section righthanded neutrinos, with for the righthanded sector
a mass term Mg,

1 . -
gpmass,v _ 75 (MR NR N}% + M;:% NI% NR) . (1295)

In order to have more than a completely decoupled sector, one must for the neutrinos as well as
charged leptons, couple the right- and lefthanded species through Dirac mass terms coming from the
coupling to the Higgs sector as in the previous section. Thus (disregarding family structure) one has
two Majorana neutrinos, one being massive. For the charged leptons there cannot exist a Majorana
mass term as this would break the U(1) electromagnetic symmetry. For the leptons, the left- and
righthanded species then just form a Dirac fermion.
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For the neutrino sector, the massless and massive Majorana neutrinos, coupled by a Dirac mass
term, are equivalent to two decoupled Majorana neutrinos (see below). If the Majorana mass Mp >
Mp one actually obtains in a natural way one Majorana neutrino with a very small mass. This is
called the see-saw mechanism (outlined below).

For these light Majorana neutrinos one has, as above, a unitary matrix relating them to the weak
eigenstates. Absorption of phases in the states is not possible for Majorana neutrinos, however, hence
the mixing matrix becomes

e/ 00
Veumns = Upuns K with K = 0 ez o |. (12.96)
0 0 1

containing three (CP-violating) phases (a1, agz and §).

The see-saw mechanism

Consider (for one family N = n) the most general Lorentz invariant mass term for two independent
Majorana spinors, T} and T, (satisfying T¢ = T and as discussed in chapter 6, T = (T1)¢ = Tgr
and T4 = T1). We use here the primes starting with the weak eigenstates. Actually, it is easy to see
that this incorporates the Dirac case by considering the lefthanded part of T} and the righthanded
part of T4 as a Dirac spinor . Thus

Y] =n§ +ng, Ty =ngp+nG, Y=np+ng. (12.97)

As the most general mass term in the lagrangian density we have

aq 1 —= * —— ¢ 1 ——_ C * ¢
pmass - — —§(MLnCLnL+MLnLnL)_§(MRanR+MRn?%nR)
1 —_ . * — 1 JEE— * ¢ . C
—§(MDn%n33+MDnLnR)—§(MDanL+MDn%nL) (12.98)
1 (n_c n_] M; Mp n
S A [MD e hE ]+ ne (12.99)

which for Mp = 0 is a pure Majorana lagrangian and for My = Mgr = 0 and real Mp represents the
Dirac case. The mass matrix can be written as

My, |Mp|e'®
M = [ Mplei® M (12.100)

taking My and Mpg real and non-negative. This choice is possible without loss of generality because
the phases can be absorbed into T/ and Y/ (real must be replaced by hermitean if one includes
families). This is a mixing problem with a symmetric (complex) mass matrix leading to two (real)
mass eigenstates. The diagonalization is analogous to what was done for the A-matrices and one finds
UMUT = My with a (unitary) matrix U, which implies U* M1 U" = U* M* UT = My and a normal’
diagonalization of the (hermitean) matrix M MT,

UMMYUT = M, (12.101)
Thus one obtains from
M2 + |Mp|? |Mp| (ML e~ + Mget™®)
MM = L. , 12.102
[ |MD| (MLe“d’nLMRe*“b) M%+|MD|2 ’ ( )
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the eigenvalues

1
M7 + M3 +2|Mp|?

M1/2 - 9

/(M3 — M) + 4| Mp|2 (M3 + M} + 2M, Mg cos(2¢))] . (12.103)

and we are left with two decoupled Majorana fields T; and Y5, related via

TlL n TlR ng
=U" L, =U L. 12.104
[ Tor ] [ "R ] [ Tor R ( )
for each of which one finds the lagrangians
1 — < | —
Z = 1 YTid Y, — 3 M;Y; Y, (12.105)

for ¢ = 1, 2 with real masses M;. For the situation M = 0 and Mg > Mp (taking Mp real) one
finds My ~ M? /Mg and My ~ Mpg.

Exercises

Exercise 12.1
Consider the case of the Weyl mode for symmetries. Prove that if the generators QQ“ generate a
symmetry, i.e. [Q% H] = 0, and |a) and |a’) belong to the same multiplet (there is a @* such that
la’"y = Q%|a)) then H|a) = E,|a) implies that Hl|a') = E,la’), i.e. a and o' are degenerate states.
Exercise 12.2
Derive for the vector and axial vector currents, Vi = E’y“fﬂ) and AF = E’y“’yg,fw

0. V" = ip[M, T,

0, A" = ’L'E{M,T}’)%’L/J.

Exercise 12.3
a) The coupling of the Z° particle to fermions is described by the vertex
g

9
—i (C‘f/ V= Ch 7“75) ;

2 cos Oy

with
Cy = T3 —2Q sin® Oy,
Ca = Ty

Write down the matrix element squared (averaged over initial spins and summed over final
spins) for the decay of the Z°. Neglect the masses of fermions and use the fact that the sum
over polarizations is

3
A* PubPv
ZEL () ):*QWWL]\‘}Q'

to calculate the width I'(Z° ff)

2
20— ff) =22 9 (cf?+cf?).

481 cos? Oy
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(b) Calculate the width to electron-positron pair, I'(Z% — eTe™), and the width to a pair of neu-
trino’s, I'(Z° — v.7.). The mass of the Z" is Mz = 91 GeV, the weak mixing angle is given by
sin® Oy = 0.231.

Exercise 12.4

Calculate the lifetime 7 = 1/I" for the top quark (t) assuming that the dominant decay mode is
t —=b4+WT.
In the standard model this coupling is described by the vertex

—ig B M
2\/5(7 YH5s) .

The masses are m; =~ 175 GeV, mp ~ 5 GeV and My ~ 80 GeV.

Exercise 12.5

Show that the coupling to the Higgs (WTW ~h, ZZh, hhh and e*e™h) are proportional to the mass
squared (bosons) or mass (fermions) of the particles. Note that you can find the answer without
explicit construction of the interaction terms in the lagrangian.

Exercise 12.6

Check that the use of the Wolfenstein parametrization in the CKM matrix indeed gives a unitary
matrix, at least up to a high (which?) order in A.

Exercise 12.7

In this exercise two limits are investigated for the two-Majorana case.

(a) Calculate for the special choice My = Mr = 0 and Mp real, the mass eigenvalues and show

that the mixing matrix is
1 1 1
=74

which enables one to rewrite the Dirac field in terms of Majorana spinors. Give the explicit
expressions that relate 1) and ¢° with T; and Ts.

(b) A more interesting situation is 0 = M < |Mp| < Mg, which leads to the socalled see-saw
mechanism. Calculate the eigenvalues My = 0 and Mr = Mx. Given that neutrino masses
are of the order of 0.05 eV, what is the mass Mx if we take for Mp the electroweak symmetry
breaking scale v (about 250 GeV).



